G REEHTK

BASIC COURSE

Grammar Analyses
Volume I

Lessons 2 - 60

March 1981

DEFENSE LANGUAGE INSTITUTE
FOREIGN LANGUAGE CENTER



PREFACE

The grammatical analyses
Greek Basic Course and are arr

in this volume were taken from the
anged in the same order as they

appear in volumes I - VIII. This book is expected to be

convenient and useful for the
any specific grammatical featu

student as an instant reference for
res.




CONTENTS
VOLUME I

Lesson 2 . ..iueinennn. @ e e e e e 1

Neuter nouns in -1, -MA, and -O.
Verb to be in all persons. —_
Personal pronoun (when used).
Agreement of subject and verb.

= o o N S 4

Verb to have in all persons.

Verbs to understand and to speak.

Masc. and fem. nouns denoting nationality.
Idiom: Both he and I.

Preposition from.

Adverb always.

Feminine nouns (inanimate) ending in -H and -A.

Plural of neuter nouns of the type introduced
in lesson 2.

Agreement of adjectives with nouns (adjectives
large, many, other, and Greek).

Verbs to open, to close, to read.

Adverb when?

LI = o 3 o

How many? (feminine and neuter only).
Agreement of adjective many with masculine
and feminine nouns.

Idiom: 1 go by car.
LessOn 6 ...ttt ittt ittt tienanaaceeeaaaaaan 11

How many? (masculine).
Zow many

Plural ending -0l of masculine nouns.

Colors (adjectives) agreeing with Masc. nouns.

Numerals one, three, and four agreeing with
masc. fem. and neuter nouns.

The three genders of the word all and its
agreement with nouns. -

LS SOM 7 ittt ittt ettt e e eeeenseososnenacesaneoenay 13

Who and which in all three genders (the no-
minative case used exclusively with masc.
nouns).

e
W8
fe



.........................................

the personal bronocun in
all persons (singular and plural}.

VOLUME 1II

......................................... 17
Idiomatic way of saying,
at two, three, etc.
How many tinmes a_day? An hour? A minute?

(Feminine and neuter articles used
exclusively),

The objective case of the feminine article
(singular and plurai).

at 1:00 o'clock,

RSSO 10 19

Numerals 200-1200 used in all thr
(counting by 100's).

Idiomatic way of s
times a year?

€e genders

aying in winter, how many

(with masculine article}.

Plural ending -E3I of masculine nouns.

Irregular masc. noun the year (masculine
singular, neuter plurail).

Lesson 11

......................................... 23

Possessive and objective ¢
nouns in -0%.

Poss. and obj. cases of

the masculine article
(only in the singular)

BESSOML2 27

Relative pronouns
declinable form)
Objective case

who, which, that (not the

of the feminine nouns and the
obj. case of the feminine article.
Objective case of masculine nouns in ~AZ.
Correct use of dllog.

FESSOM IS 29

Former first declension of Hasculine nouns and
the duality of their endings in the plurail.
Objective case, plural, of masculine nouns in

Objective case prlural of the masculine articile,

Agreement of adjectives with nouns of different
case endings.

Question: Whom do yYou want?

-0s.

iv



Lesson 14

Dates (the name of the month given in the
possessive case).

Possessive case singular and plural of the
masculine and neuter articles and of masc.
and neuter nouns in -os and -o. Accent
shift in poss. case of these masc. and
neuter nouns when accented on the 3rd
syllable from the end.

Poss. case (sing. and plural) of masculine
nouns in -os (with no accent shifts).

Lesson 15

t..'..l..i.ll'.lt.----......!........-.- 39

Idiomatic way of asking a person's age using
the possessive case.

Ordinal numbers first, second, etc. (up to

twelfth).
Contracted form of verb to go (present tense
only).
Lesson 16......

ettt 43

Objective case of the personal pronoun (long
and short forms). Use of the objective case
of the personal pronoun in connection with
asking a person's name.

Verbs to love, to count, to study,

to ask, and
to greet.

VOLUME III

Lesson 17

......................

Present tense of the verb Aéyw in both full and
contracted forms. Contracted form of the
verb nnyalvw in present tense, and simple
Imperative.

Long form of personal pronouns used after pre-
positions. Indefinite pronouns xavévaeg and
#dTL. How to add the word "half" to numerals
(one and one half, three and one half, etc).

Lesson 18

.............. f e ecaceacene st cacaa..n 50
Contracted form of the verb tpdyw in present
tense.
The long form of the personal pronoun in the
possessive case and rules for using it in
™ that case.
Idiomatic expressions uod apéoer, cod dpéoee,
HTA.



Lesson 14

L T R Y

......... - &

Dates (the name of the month given in the
possessive case).

Possessive case singular and plural of the
masculine and neuter articles and of masc.
and neuter nouns in -os and -o0. Accent
shift in poss. case of these masc. and
neuter nouns when accented on the 3rd
syllable from the end.

Poss. case (sing. and plural) of masculine
nouns in -os (with no accent shifts).

Lesson 15

0-....-...-.0.ll....-.0...-...-...0..-!- 39

Idiomatic way of asking a person's age using
the possessive case.

Ordinal numbers first, second, etc. (up to
twelfth).

Contracted form of verb to go (present tense
only).

Lesson 16.

Objective case of the personal pronoun (long
and short forms). Use of the objective case

of the personal pronoun in connection with
asking a person's name.
Verbs to love, to count,

to study, to ask, and
to greet.

VOLUME III

Lesson 17

....... .

Present tense of the verb A€éye in both full and
contracted forms. Contracted form of the
verb nwnyalve in present tense, and simple
Imperative.

Long form of personal pronouns used after pre-
positions. 1Indefinite pronouns xavéveg and
#dTL. How to add the word "hkalf" to numerals
(one and one half, three and one half, etc).

Lesson 18

........ e et aeeec et 50
Contracted form of the verb tpdyw in present
tense.
The long form of the personal pronoun in the
possessive case and rules for using it in
™ that case.
Idiomatic expressions uo® &péoev, cgod &péoee,
HTA.



Lesson 19 ... ... e e e e e e e 585

Past and future tenses of the verb eluav.
Infinitive of the same verb.

Uses of the present and simple past tenses.

General review of numerals.

Lesson 20 ........ .

Past and future tenses of the verb &yw.

Simple future and simple infinitive of the
verb 1nyalvw.

Present tense of the verb uuig conjugated
according to both variants.

Expressions €xw 6ouvleird, €xw navpd, Exw
ntoAid xpdvia vd....

Lesson 21 ...... et e eea e e e e e e .. 67

Simple past tense of standard verbs in -NQ and
-ZQ (stem ending changing to I).
Past tense endings of standard active verbs.

LeSSOn 22 ............ et ie e ct e 72
Simple past and simple future tenses of the

verb Aéyw. Simple imperative of same verb.
Expressions &undg uwou, 6unf pou, tC 9d LR

Lesson 23 ................. e et et et 74
Simple past and future tenses of the verb
Bdtw. Simple imperative of same verb.
Simple future tense of standard verbs in -vu
and simple imperative of same verbs.
Expressions orfuepa 16 npwl, ohuepa T4
HEOTNUEPL, HTA.

VOLUME 1V

Lesson 24 . ....... 0.0 .....

C ettt 77

Conjugation of the 1rregu1ar verb to see BAEIQ.
Use of the subjunctive in asking permission,
making requests, or giving orders.

Lesson 25 ............. c et r e e f e e Gt e e 80

Conjugation of the irregular verb to find
(BPIZKQ).

vi



Lesson 26 ... . 82

The irregular verb to give (AINQ).
Neuter nouns in -os (TO BAPOI, TO ETOZ).

Lesson 27 ... 85

Distinction between active and passive verbs.

(Stem changes and conjugation of standard
verbs in -ZOMAI and -QNOMAI. (verb
NTAHPQNOMAI used as a model).

Lesson 28 ... .. 90

Conjugation of irregular verbs to come EPXOMAI
and to feel (AIIBANOMAI).

Comparative and superlative degrees of adjecti-
ves using the word TIO, 0 TIO.

Idiomatic expressions on foot, by train, etc.

\0
V3]

L eSS SO 29 it it e e e e et e et e e e et e

Irregular comparative and superlative degrees
of adjectives by the addition of the suffix
-OTEPOL.

Irregular comparative and superlative degrees
of adjectives good (KAAOI), bad (KAKOEL),
big (METAAOZ), and much (HOAYZ).

Lesson 30 ...ttt ittt it ittt et oot aeaeaea. 96

Comparative and superlative degress of
adjectives in -0I, -IA, -0 (EAA®POZ).

The three genders of the irregular adjective
much (IOAYZ) and the declension.

Absolute superlative with suffix -TATOZ.

Irregular verb to stay (MENQ).

f o ¢ T 5 A 99

Irregular verbs to take (IHAIPNQ) and to wash
(DAENQ-TAENOMAT), the reflexive verbs to
shave (EYPIZOMAI) and to get ready (ETOIL-
MAZOMAI) the deponent verb to use (METAXEI-
PIZOMAI).

Contracted verbs in -&, -etg, -eT, with the
verbs to drive (OAHTQ) to be able to (MIOPQ)
and to explain (EZHTQ) used as examples.

LessSOn 32 ittt ittt e ettt et eesaesseoncannsenans 102

Irregular verbs to eat (TPQrQ) and to drink
(IINQ). Verbs to mean(ENNOQ) and to agree
(ZYM3QNQ) are conjugated like the verb OAHIQ.

Declension of adjectives in -YI, -IA, -Y and
the comparative and superlative degrees
of these adjectives.

vii



VOLUME V

LESSON 33 . i it it ie ittt ettt taaencasncenneaaa 105
Irregular verbs to go (IHTAINQ), and to undergo
(HABAING); deponent verb to need (XPEIAZOMAI).
The correct use of the present perfect tense.
Adverb to the right (AEZIA) and adjectives
right (AEZHI) and rightist (AEZIOI)

Lessomn 34, i ittt it e it ettt et tee et 109

The imperfect {(continuous past) tense of verbs.
Formation, and correct usage.
Conjugation of standard verbs in the imperfect

tense.

- o B S 3 112

Conjugation of irregular verbs to go up
(ANEBAINQ), to come down (KATEBAINQ),
to enter (MUAINQ), and to go out (BTAINQ)
in all tenses and modes (except the
conditional).

Lessom 36. ... ittt ittt ittt et cae e 114

Conjugation of both types of contracted verbs
in all tenses and modes (except the present
participle). Verbs to count {(METPQ),
to be late (APrQ), to mail (TAXYAPOMQ),
to live (zQ), and to notify (EIAONOIQ).

LeSSOM 37 i it ittt iiiiieeaneneeeeeeacaaaeaeanennes 117

Conjugation of of the irregular verb to be
found (BPIIKOMAI). Formation of the

conditional.
More contracted verbs of both classes listed.

TEAQ, AI¥Q, NEINR, (Class I) NEPNATSR,

TPATOYAQ (Class II).
Neuter nouns in -0I (AAZOZ, ETOI, MEAOZ,

MEPOZ).
Expressions a cup of coffee, a can of milk, etc.

viii



Lesson 38

Contracted verbs of Class I adding syllable -AZ
instead of sylliatle -HZ to basic stem to
form stem of simplg tenses.

Verbs to laugh (TEAQ), to be thirsty (AI¥Q),
to be hungry (TEINQ), to break (zlQ),
to spoil (XAAQ); also verbs to forget
(SEXNQ) and to pass (IEPNQ).

Present participles (active) in -ONTAT and
-QNTAZ and their use.

Commands given by the subjunctive.

Negative commands.

Lesson 39. .. ... 125

Irregular verb to become (TINOMAI).
Contracteq verbs adding syllable -AT% or HE
to basic stem to form stem of simple temnses.

Verbs to fly (IETQ), to hold (BAITQ),
to pull (TPABQ), to nudge (ZKOYNTQ),

to jump (mHAR).

Pronoun myself, yourself
etc.

Lesson 40.. ...ttt ittt e e 128

Irregular verb to g0 (®EYTQ).
Contracted verbs adding syllable -ps5 to basic

stem to form stem of simple tenses.
Verbs to last (AIAPKQ), to call (KAAQ),
to be able to (Mnoprg), to be in
pain (TONQ), to wear (40PQ),
to fit into (XQPR) to request
(TAPAKAARQ).
Feminine nouns and feminine adjectives in -0z.

VOLUME VI
Lessom 41, .. ittt it e e, 131

Irregular verbs to learn (MABAINQ),
to understand (KATAAABAINQ), to succeed

(IETYXAING), and want (6EAQ).
How to locate placeS om a map.

Lesson 42

Irregular verbs to sleep (KOIMAMAI),
to remember (BYMAMAI), to be sorry
for (AYNAMAI), and to fear (9OBAMAI).

Also, the irregular verb to promise
(YIIOZXOMAI).

ix




Lesson 43

Passive verbs in -IEMAI, -IEIAI: -IETAI (the passive
counterpart of contracted verbs in -&, &g, -a).

Passive contracted verbs adding syllable -AIT to
basic stem to form stem of simple tenses (the
counterpart of verbs adding syllable -AZ in
active voice) as in verb to be fooled (TEAIEMAI),

Also passive contracted verbs adding syllable
-E® or -EIT to basic stem (the counterpart of
those adding syllable -EZ in active voice), as
in verb to be called (KAAIEMAI) and to be worn
(®0OPIEMAI).

Reciprocal verbs.

Ordinal forms of numerals 20-100, 1000, 16000.

How to read decimals.

Lesson 44....... .

Verbs to establish and to be established (ETKA-
TAZTAINQ - ETKATAITAINOMAI), and to know (SEPQ).
Passive (past) participles im -HMENOZ.

O = o B o R 3

Passive verbs in -OYMAI, -EIIAI, -EITAI (the
passive counterpart of contracted verbs in
-5, -etg, -et).

Verbs to be notified (EIAONOIOYMAI), to be
overned (AIOIKOYMAI), to be informed
TAHPO®OPOYMAI), to be cultivated (KAAAIEPTOY-

MAI), to take care of (NEPIHOIDYMAI).

Irregular verbs to feed (TPE$R), to be fed

(TPE¢OMAI), and to bring up, to be brought
up (ANATPE®Q - ANATPEOOMAL).

Lesson 46........0.0.0.... e cesessscsces cecnonen

Neuter nouns in -ON, -ONTA, -AI, -ATA, -0C
-QTA (NMAPON, NAPEAGON, MEAAON, IPOION, KPEAT,
Q).

Irregular verbs to send and to be sent ITEANGQ -
IZTEANOMAI).

Verbs in -IEMAI adding syllable -E8@ to basic
stem.

Verbs to be bored (BAPIEMAI), to complain
(TAPANONIEMAI), to be upset~ZXTENOXQPIEMAI),
to be worn ($0PIE MAI).

Passive (past) participles in -EMENOZI.

...............................................

.......................................



Lesson 47

Lesson 48

Lesson 49

Deponent verbs to receive (AEXOMAI), to appear
(®AINOMAI), and to be glad (XAIPOMAT).
List of verbs taking a predicate nominative.

VOLUME VII

Irregular verbs KAIQ -OMAI, and NIESTQ.
Expression MOY ETNEZE.
Declension and correct use of the word.

Verb family with stem endings in -K, -ZK, -r,
-TT, -X, -XN.

..........................................

------------------------------------------

..........................................

Conjugation of typical verb AIAAIKQ - ATAATKOMAI.

The impersonal verb BPEXEI.
Principal tenses of the irregular verb.

Lesson 50. . ...ttt iennennnnnns et e e e e ctceoeennnanee

Verb family with stem endings in -I, -IT,
-B, -%, -oT.

Conjugation of typical verb ANAKAAYITQ -
ANAKAAYTIITOMAI.

Irregular verb ¢TAIQ.

Ancient vocative case ending -A of masculine
titles ending in -I as used in formal
address

Nominative case following verb ONOMAZOMATI.

Lesson 51....cuiintneenecennncenen. c s e s e aseecan

Conjugation of verb ITPE®Q - TITPE®COMAI used
as a model for derivatives ENIZTPE®Q,
KATAZITPE®Q, etc.
Augment é- added before basic verb in the
two past tenses of the active voice and
not before the prefix.
Conjugation of verbs ENIZKENTOMAI and YNOGETS.

xi



Lesson S2. ... ... i e e, 165

Conjugation of irregular verbs ITEKOMAI, KAGOMAI
and YIAPXQ.

Masculine nouns in -EZ, ~-EAEZ, -AZ, ~AAEZ, -HI-
HAEZ, -0YI, -OYAEZ (xavanés, ¢apds, pavdBng,
Ttannovg).

Y o T 169

Verbs in -EYQ -EYOMATI.
Conjugation of typical verb IANTPEYQ - IANTPEYOMATI.
Irregular verbs NTPEINIOMAI, ENITPEIQ - ENITPENOMAI,
and KAAIQ - KAAITOMAI.
Feminine nouns in -A - AAEZ, and -0Y -OYAEZ
(papd, dremod).

VOLUME VII
Lesson 54. ... .0 itiiununnaun. et e ettt 173
Verbs in -gyQ -EYOMATI forming their simple
Past in -gyzA instead of -pya.

Conjugation of typical verb @EPANEYR -

. -B8EPATIEYOMAI.

Irregular verb TEBOMAI.

Masculine nouns in -EAZ -EII (xovpéag, denavéas,
lepéag). .

01d genitive form TpamTELNS.

Lesson 55.. ...t ennnnnn.. ettt ceen 176
Verbs in -zo forming their Simple Past in -zA.
Conjugation of typical verb JEIPAZQ -

NEIPAZOMAI.
Verbs KAN@, MENQ and its derivatives TEPIMENG
and ENIMENR.
Lesson 56. ... .ttt e e, ceen 179

Verbs in -AINQ -ANA.

Conjugation of typical verb ZEITAING -
ZEITAINOMAI.

Verb QnEBAING.

Masculine nouns in -HE -EI (ovyyevisg,
elbyevig).

Adjectives in -Hr -HAE: (teunéing, reuréira,
TEUTEALNOD).



The adjective yépos - ypid - yépuno.

Lesson 57 . i e e e

Verb INITQ -~ NONITOMAI.

Verbs with vowel stem endings AKOYQ - AXOYOMATI,
IAPYQ - IAPYOMATI.

Contracted form of verb AKOYQ
in present tense.

Contracted verbs dY:IQ - ¢YZIEMATI, NHAQ, ZKOYNTQ
- ZKOYNTIEMAI, TPABQ - TPABIEMAI behaving
like verbs with velar (K, I', X, IT, etc.)
stem endings in the simple tenses.

Verbs with -P stem endings TNPOZSEPQ - ODPOZSEPOMAI,
ENAIASEPOMAI, all derivatives of verb &EPQ
Augment placed before basic verb in past tenses
of verbs having prefixes (YIESEPA: AIESEPA,

etc.)

Lesson 58....... C 8 et e ettt ettt e oo e

Verbs having only one stem in active voice
(TPEMQ, KPINQ, etc.).

Verbs in -YNQ -YNA and -YNOMAI - YNGHKA
(ATOMAKPYNQ -OMAI, AIEYOYNQ - OMAI,
AMYNOMAI, OEYNOMAI).

Verbs KPEMOMAI and KPEMQ - KPEMIEMAI.

Irregular verb AIAMAPTYPOMAI.

Lesson 59. ... ii s eeeennn. C e et s e se e s et ecee e e

Verbs with stem endings -TT or -II (KHPYTTQ
~-OMAI, TAHTTQ: IPATTQ).

Verbs -ZQ acting like verbs with velar (K, T,
X, etc,) stem endings. (AAMNAZQ, AIATAZQ,
TAPAZQ).

Verbs AYZANQ and AMAPTANS.

Feminine nouns in -THTA (IIOIOTHTA, HOEZOTHTA,
TAYTOTHTA).

Neuter nouns in -ON (MEAAON, KABHKON, etc.).

Lesson 60..... c et e rs e eennen ceercsteresevccsns ceeea

Verbs in -AINR -YNA, -AINR -AZA and -AINQ -HIA
(NHAXAINQ, XOPTAINQ, APPQITAINQ).

Verbal nouns in -IMO (NTYZIMO, NAIBIMO, etc.).

Verbal nouns in -MA (MABHMA, KPYQMA, NEIPATMA,
XAAAZMA, KAAMMA, etc.).

182

186

189

192






2 (a)

(b)

3 (a)

4 (a)

5 (a)

LESSON 2

GRAMMAR ANALYSIS
Tpapuatixs

Greek nouns belong to the masculine, feminine or
neuter gender, and this classification applies to
animate as well as to inanimate things, Gram~
matical gender can be detected by the article which
usually precedes the noun, To an experienced
observer .the ending of a noun can also (but not
always) be a clue. But since the article is the
one stable element indicating grammatical gender

it is recommended that a student learn each new noun
along with its article as one unit. This is also
the way to pronounce correctly because to the hearer
of the language the article and the noun are heard

as one word and not as two separgte units,

Neuter nouns are preceded by the article 10 and
usually end in 0, in I, or in MA.

Examples: 6 BefAlo, x8 poA6Be, 8 udonua,

The preposition ZE (in, on, to,at) combines with
the article T0 to form the combination ZI0. The
meaning of this combination is in the, on the,

to the, at ths.

Feminine nouns are preceded by the article B
usually end in A or in H, occasionally in IZ,

Exsmples: 3 wvpla, 1 yMboca, n deomorv(c.

and

Masculine nouns generally end in 0, in HE, or in
AZ, Exceptions will be taken up iater,

Examples: o wfpiog, o padnvéic, o mevépac,

The conjugation of the verb to be - e!uat - is given
below. The student should note that the Greeks use
the 2nd person singular of verbs very frequently the
guideline being that if a berson knows someone well

enough to call him by his given name he should use



(v)

(e)

the singular form of the verb in the 2nd person.
All formal conversation requires the 2nd person
of the plural. In the Greek Army an enlisted
man always addresses an officer in the plural
while an officer talks to an enlisted man in the
singular. ©No one ever talks to a child in the
2nd person of the plural, The verb to be is
conjugnted as follows:

Eresent Tense

1. etpar etpacte
2. slox elote
3., elvar elvar

Greek verdbs are generally used without the person-
al pronoun because they normally have different
endings for each person in the singular and in the
Plural and this makes the personal pronouns as
distinguishing factors unnecessary.

The personal pronoun is not omitted always, however,

It 1s used with the verd to indicate contrast or

emphasis,

Expmples: I am an enlisted man; Jou are an officer.
Who is Mr. Smith? I am Mr, Smith,

"Byé eluae ovpatiémg, boets elote dEie-
ol S Spro5 Zuls H

17 slvar o upro : *

o :G:Lo'; Mxpdouy, * - Bré elpa

6 (a) The Greek personal pronoun is as follows:

Singular Plurgl
1. &v6 -1 1. &uets -
2, &6 - you (thouw) 2, Eoels - ;:u
abtéc - he abtof - they (masc)
3. abvf - she 3. ¢§t£; - they (fem.)
avvd - it avtd - they (neut.)



‘a) There is an inversion of word order for all
interrogative sentences in Greek, When asking
a question in Greek the verd usually starts the
question and the subject closes it, A state~
ment,on the other hand, generally follows the
subject-verb-direct object sequence as an
English statement normally does. Ex.
(Jehn has a book. 'O Pyfwwng Eyer BuBAlo).

When g question word 1like who? whgt? where?
etc, starts a question then the verb is placed

immediately after i1t, again the same way as it

would be in English, ,

Exgmples: What is this? ¢ elvae ainé;
This is a book.  Alré elvar giLpacto.

Is John an .Bl\m. & vupatinde
officer? 0 Tiévwg;
John 18 an 0 Muévwng elvar
officer. & upatinde,

8 (a) With the exception of the verd to have which

is used as an auxiliary verb in the perfect
tenses (I bave seen, he hgs written, etc,) the
Greek language does not use auxiliary verbs,
Therefore, when asking questions, you should be
careful to invert your word order for all verbs,
not only for the verb 1o be and the verbs core
responding to the English suxiliary verbs.

Examples: Is John a student? Elwvar padntiic

] Pdwq;;
Does John have a v Bepalo
book? o I'iévwng;




LESSON 3

GRAMMAR ANALYSIS
I'PAMMATIKH

9 (a) FNormally all Proper nouns are preceded by the

(b)

(e)

(d)

10 (a)

article in Greek, The only notable exception

is when we call someone directly by name or title,
Then the article is omitted, If the person we
address is a man and his name ends in OL (xfpiog,
Auepinavég, etc,), the ending changes into E

and the article is omitted. Hence, xfp.e Zulo,
x0pie Mxplouv, for Mr., Smith, Mr. Brown (addres-

A ——————————

sing them directly), or plain xufpie , 8ir wvhen you
don't include their name,

411 other masculine nouns drop the final I of
their ending in the case of direct address which

happens to be called the vocative case by grammar
books,

Note:
:0 ubpLog MeAlg BUT xbpre MeAl!
'0 w6prog Haxxlc " x6piLe Nanny !
0 Diévvyg " Fibvvy !

Feminine nouns undergo no change at all in the

vocative case, They only drop the article.
NOTE:

:H xvpla McAl BUT xvpla MeA¥ !
JH wple Taxxd wpla Hagnd!
H Mapla Map(a !

Jeminine endings of nationality end in (ba,
Apepuoxavlda, "EMAnv(da, etc,

The indefinite article g, an 1is usually omitted

in Greek unless qualifying the snbject.of a sentence,

In that case we use the numeral one (Eva), Thus,
in Greekr we don't say: "I have a8 book®™, We say:
"I have book", However, if the word book is the
subject of the sentence then we Say: “"One book ison



11 (a)

the table” meaning "a book is on the table."
Please NOTE:

I have a class. "Exe pdonua,
Do you have a book? "Exete pLpAlo;
Is Mr. Smith an Elva:. "Aucpinavés 6
American? xbprog Zule;
Mrs, Melas is a ‘H xvpCa MeAX elver
Greek (woman), ‘EAAngvlsa,
I have a class in "Exw pddnua ot8 oyo-
school, Asto,

30T
A pencil is on the “Eva porbsy elvas oté
table, Tpaxéfle,
A school has an “Eva oyodzlo Exei
office, ypugelo.

A11 Greek verbs, nouns, and some other parts of
speech have a stem (which carries the basic meaning
of the word) and endings which change to indicate
changes in the basic meaning. Thus, all Greek verds
change endings from person to person and from tense
to tense to indicate these variations in the basie
meaning of the verb, The verb to have (¥yw) can
serve as a pattern for the conjugation of all active
verbs in the present tense. The verbd \aSal
introduced in this lesson, will be conjugated the
same way. To tell which part of a verd is the stem
and which is the ending the student should cross out
the ending @ from the first person singuiar of the
rresent tense of a Greek active verb., So the stem
of the verb Eyw is Exy-. The stem of the verd xera-
Aepalve 1is weverapalv-, The verb Eyy is conjugated
as follows in the present tense.



Singular Plural

1. &xw Exous
2, Exeg Exete
3. &xs xouv

(b) The verb wiAB is conjugated in a slightly dif-

(e)

ferent way because the stress falls on the last
syllable while for Txw the stress falls on the
syllable before the last, The conjugation of
the verb uiA® is given below,

Singnlar Plural
1, wAB (puadw) pLABuc
2. pLAdg pLAlite
3. ptAY (peaded) ueAllve

In Greek there is only one present tense, So
you have no choice but to use this only present
tense whether you want to say I have or I an
having, 1 spesk or I_GIJ_DQ%& Iam or

I am being, viz, § s BLAB, elpay respective-
1y,



12

(a)

(v)

[0}

(v)

LESSON 4

GRAMMAR ANALYSIS
T'PAMMATIKH

As stated in # I Creek nouns are usually preceded
by an article. Neuter nouns are vreceded by the
article TO. In the plural the article I0 changes
into TAs

Yauter nouns change from the singvular to the plural
as follows:

(1) 1f the neuter noun ends in I it adds the end-

ine A, TX. poAlBL - poAffLa spanéli-
tpanflia. ’

Jowever the student should note, that this does
not increase the number of syllables because
the 1 +then becomes a semi-vowel and causes
the endine IA to become a rising diphthong
and to be pronounced like ya.

(2) 1If the neuter noun ends in O the O changes

into A. 7ix. BupAlo - BiBAla, AeEiné —
AcEind,

(3} I1f the neuter noun ends in MA it adds the

syllazble TA.  Bx, uéénpa - padfuara,
YoGupa - yolupara

tdjectives are words which describe -~ or qualify —
nouns, In Greek adjectives appear in all three
senders and must agree with the noun they qualify.
In this arreement, it should be remembered, the
sender of the noun determines the gender of the
adjective and not the other way round,

Adjectives belong to various classes, depending
on their endings, The most common class of adjec-
tives take the ending OZ in the masculine, A or H



(c)

in the feminine and 0 in the plural., The femi-
nine endins A or H is determined by the final
syllable of the stem, If the final syllable of
the stem is a vowel, the feminine ending is 4,

If the final syllable of the stem is a consonant
the feminine ending is H. The adjective Yupllog-
Txplla - yuplZo is an exception, The mascu-
line and feminine forms are not affected by the
stem ending.

Fx, Heydrog - peyldn - ueyéro

Karég - xaAf - ua}6
" wpatog - wpala - wpatlo

The endine of the noun does not require that the
adjective should have the same kind of ending,

The rule merely means that if the noun is mascu-
line the adjective agreeing with it should be in
its masculine form, if the noun is feminine the
adjective should be in itg feminine form and if
the noun is neuter the adjective should be in its
neuter form, #ach adjective has its own set end-
ings no matter what the endings of the novns they
qualify are, NOTE:

‘0 naAbs padntic
‘0 naAbc &ZLupatinde

‘H xaAff xvpla
‘H xaAf] BLBAL09ny

T6 naré xardl - T xard maudid
76 wads BLBALo -~ T& wark BuBAlax
T6 war8 ypdupa -~ TE ward Yobuuata



4 (g)

()

(e)

15 (a)

LESSON 5

GRAMMAR ANALYSIS
TPAMMATIKH

The plural form of the feminine article H is OoI.

Feminine nouns ending in A or H' (and this is

the great majority of feminine nouns in the Modern
Spoken langnage) form their plural by changing the
A or H ending into EL, ‘

f@las:
A Eonueplta - ol denpepléec
A wpla - ol wvpleg
1) BLBALodfnn - ol BiLBALodTineg
% %épn - ol népeg
) pevéAn BiBriodfiun - ol peyfires BLBALoOFixeS

The word ) deomotvwls introduced in lesson 2 be—
comes ol .deomorvldeg in the plural.

The interrogative word x8oa; (how many?) almost
always qualifies a noun and as a result it behaves
like an adjective in that it agrees in gender ang
in number with the noun it qualifies ( case agree-
ments will be discussed in the appropriate lessom).

The word x80a; becomes x80eC; in the feminine
and n8ogov; in the masculine, Examples:

Oéoca Beprla elvar ABo BuBAla elvar
53; 53,

Iéoec xéve BAfnw $6o néveg

Brbxetre Lb; ¢5a.

O8oa porfia "Exw moAA&
XeTE; poAGfia.

H8cec néve "Exw moAEc

Ixeve; z€veg.



"o

(b) The wora many (xoAA4) also qualifies noun and
it - too - appears in the three forms xmoMAS,

xoMEc, moMol , depending on the gender of
the noun 1t qualifies.

Examples:
"Exw moAA\d gohﬁ%m.
AcaBéle xoAEc Eonueplleg.

16 (a) To say in Greek that ome goes by car, by air,
on foot, etc. the preposition (with) is used,
Literally one goes "with the car” in Greek,
meaning one goes by car.

Examples-

Invalwe p€ ©8 adroxfwnre.
Imyalve € v8 Eepoxidve ;’iw

10



17 (a)

(b)

(c)

LESSON 6

GRAMMAR ANALYSIS
I'PAMMATIKH

The plural form of the masculine article 0 is 01,
the same as the plural of the feminine article.

Masculine nouns, adjectives and rronouns ending
in QL form their plural by changing the ending
0z into 0I,

Examples:
$ udproc ot xbprot
ToTxog ol tolyot
& wardg xGproc of warol xbpiot
&onpos Tolyog ol &ompor toTyou
"EY6 elpar ’Apepixavls, 'Euetc eluaote *Apepr-
abt8s 56v elvac. xavol, adrol 5&v elvar.

Similarly

N8oot &Fiwpatinol xataraBalvouvy Enving;
Nécov toTxor elvai &ompor;

Néoot Umafiwpatinol elvar £563;

Colors are adjectives. They also have to agree
with the noun they qualify in gender and number,
The same thing happens to the word Zaoc (211) with

the exception that 3Ao. - §Aec - SAa when quali-
fying nouns are immediately followed by the article

of the noun, This is important rule to remember,
Examoles:

“Oror ol toTxor elvat xphoivos

“Ores ol néves elvar pabpec,
“Ora t& BiLBAla elvae Bnviné,

11



18 (a) Numerals are also adjectives. Fortunately in
Greek only numbers one, three, and four and
those numerals ending irn one of these numbers
indicate differences in gender., All other
numerals -up to 199~ do not change form to
indicate gender, The three genders of numer-
als one, three, and four are as follows:

Masc, Fem, Neut,
11 3vag pla Fva
TpeETS TpElg tpla
k| vécoepers téooeperg teooepa
Examples:

“Evag nbpiog. Mla wvpla. “Eva poAGpe.
Tpelg xBpilot. Tpels nuples. Tola porlific.
TEooe

g ubpiot. Téooeperc nupleg.
T!oaem porlBia.

Occasionally the noun is omitted, but when such
a thing happens the masculine word meaning
verson (&vdpwnmog) is understood. When this
happens the adjective x8cot; is uswally in
the masculine gender.

Examples:

N8oor & iapatinol elvar £55;

téoor natarapalvouv EAAnviné;

N8cor voTxot elvar npfoivor;

Néoec onuates BAbnere 855;

Noes wvuples nataraBalvouv EAAnvixE;
Néocg nbpres Exer t8 duwpftio;

12



LESSON 7

GRAMMAR ANALYSIS
I'PAMMATIKH

19 (a) The interrogative word noL8c; and its feminine snd
neuter forms moivd&; moi; mean which? or what?
if placed directly in front of a noun. They mean
who? if replacing a noun. In that case they are

immediately preceding a verd,

Examples:

Greek

Houés padntfic elvar
Aoxarbs;

Mo uédnua
biLaB&loue;

Ooié onpala elvar
!uzpn nal yar&lia;

Hovéc Eenueplsec
3::§§tetc;

BUT

Hou8c elvar &xe?;

Hotol Exouvv abre-
xlwnra;
Mot perd EAAnvuxé;

Hoi8 elvar abté
0 xaub(;

13

English

Which student is g
captain?

Which lesson are we

reading?

¥hich flag is white
and blue?

¥hat papers do you read?

¥ho is there?

¥ho have cars?

¥ho (fem,) talks Greek?
Who's this boy?



20 (a) The third person of the personal pronomn abtég -
adth - adt§ means he - she - it if it stands
n the place of a person's name, Its correct
use has been explained in #4 (b), The same
wvord abtlc - abrh - abvb preceding a noun
is the demonstrative 1his, and it is invariably
followed by the article of the noun it qualifies
and then by the noun itself, Again, there is g
agreement in gender and number between the noun

and its qualifier, Examples:
Abx8c & zoTyog elvar Abvol ol tolyor elvas
Jon

poS. ..
Abtf # wwpla elvar Abtéc ol nupleg elvae
ExAnvisa. ExAnvibdeg.

AdtS 6 Biprlo elvac Abté <& BupAla elvar

RAAD . .

(b) The words adrfg - alth - abtf§ unaccompanied

by a noun are used as follows:

Abr8g elvar ’Auepinavés. Byl elpae “Earqvag.
Abvol Eépouv EAAnving. Buetc 6év Eépopc.
Abtéc elva. ‘Envlées.  ’Eoetc «f clode;

(c) The word &xetvog - Ewelvn - éxelvo, wéaning
that, follows exactly the same pattern as abréc -

!& !!i - ¢5‘!5.

21 (a) Idioms. To say in Greek that something occurs so
many times a day, a week, an hour, etc. the idio-
matic form +fiv huépa, vhv E85opsa, <hv &pa

are used.

14



(b)

with the feet and not on foot, and so on,

Examples:

"Exoue oxorelo mévre pfpec thiv ¢Bdoubda.
“Exoue padfipata ¥E. Gpec thv Hufpa.

The correct way to say in Greek that someone
goes Dby car, train, plane, or on foot
is by using the preposition with (RS. One

travels with g car in Greek, and not b ’

15



LESSON 8

GRAMMAR ANALYSIS
T'PAMMATIKH

22 (a) The possessive (genitive) case of the personal
pronoun is as follows:

Singular
1‘ N - my 1 ']
2e - your 2.
3. his, its
her 3.

Plural

Hag -  omr
cag - your

TV =~ their

(b) The possessive case of the personal pronoun fol-
lows the word it refers to in Greek. It does not
precede it as it is done in English.

(c)

Examples:

<8 BiLBAlo pov - my book
8 xaiLdl wng - her child
3 Yvvalxa tou - his wife

& Souunths pag

our commandant

Except in the case of direct address, the noun is
always preceded by its article whenever one of
those forms of the personal pronouns is used,

Examples:

‘0 &bel ov elvar My brother is a

pam;. ' student,

‘H oluoybver& tov His family is

clvar L85, here,

‘H _Bufdiodfixn tou Their library has
XetL %o giprla, many books,

BOT

¢ eloar, ¢lre
§ov;
IoY eloat, xaib(
pov;

16

How are you, my
friend?

Where are you, my
boy?



23 (a)

(v)

(e)

24 (a)

LESSON 9

GRAMMAR ANALYSIS
TPAMMATIKH

The combination ITO ( in this, on the, to the,
at_the ) referred to in Lesson 2, #2b, becomes
ZTH or IZTHN for feminine nouns in the singular
and LTIZ for feminine nouns in the plural,

Examples:

‘0 padnthic elvar The student is in the

otfi BLBALodfixn. library,

"Exw pédnua ot pla. I have a class at one,
BUT

AvaBéloue oxlc We read in the

BiLBALodfinec, libraries,

"Exw p&dnua gzxlc tpetg, I have a class at three.

The feminine form of the numerals is used when
we tell time because they refer to the word
(hour), which is a feminine noun,

The combination ITH - LPIE s used when the
time is pinpointed as it would be in Englisgh
when making such statements, as at ope otclock,
at_three o'clock, and so on,

Whenever a preposition is used in a question it is
normally placed at the beginning of the guestion,

Zxanples:
Z€ =boeg Dpec mnyatver In how many hours does

6 tpatvo oté Zuxéyo; the train go to Chicago?
‘A8 noU elade; Where are you from?

ME <{ ypheere, pé What do you write with
por6BL & uf néva; a pencil or a pen?

17



How to tell time in Greek

To tell time in Greek first you give the hour
(in the feminine, because the word hour is a feminine
noun), Then you give the minutes preceding them by
KAI (and) if it is past the hour, or by OAPA (minus,
off) if it is before the hour. The minutes are given
in the neuter because the word minute 1is a neuter

noun, Thus, twenty five past eleven would be in
Greek Tvbzxa usf elnogr xévre (eleven and twenty five).
Ten minutee To Fhree would bo vpels maph béwa

téta

(three minue ten). The word gquarter is pYO0.

18



LESSON 10

GRAMIAR ANATYSIS
TPAMMATIKH
25 (a) The nlural of masculine nouns ending in Of has

been given in #17(b). Masculine nouns ending
in AZ form their plural by changing the AX into

EZ, The article 0I which is the common char-
acteristic of all masculine nouns in the plural,
remains constant, “xamples:

o dvrpag ol @vrpeg

b uhvag ol ufveg

¢ xepubvag ol xeipbveg

(b) In the colloquial languare all masculine nouns
other than those ending in 0L form their plural
by changing their final ending into EX (or by
adding a syllable ending in AET ),

é orparsétng ol otparidrec
8 padnric ol pasnréc

(¢) The word & Ypévog has the irregular plural
& xpbvia.

26 (a) Whenever one wants to say in Greek that he does
something on “fonday, Tuesday, etc. or in
January, February, etc., or in the spring,
Sunmer, etc., in short, whenever such time re-
lations are expressed no preposition is used,

The way to do it is to use the form TH or THN

to precede feminine nouns and to use the form Tg
or TON to precede masculine nouns., 1In the laf—
ter case the masculine noun also loses the final
L of its ending. Feuter nouns are not affected
It will be seen later that these a&re case changes
but they will be discussed at length at the ap-
propriate time),

19



27 (a)

Txamples:

Feminine Nouns

‘H 8&voiEn elvar

Inyalvw otd oyoleto

wpala Exoxh. xfv &vouZn.
‘H ‘ﬁlgéga Exel Eluat oté ypageto
24 wpeg. tfiv nuépa.
‘H_viyta elvar Inyalve ot§ onlt. pov
pueyéin thpa. [
Masculine Noung
‘0 xetgédag Exee Mévw ot8 Einbyo
penpéc uépeg. 16 _yewubva,
‘0 ®eBpouvépioc Exer "Exope oxoAelo t6
365 uépeg. defpovépLo.

‘0 _"Iavouépiog Exer
31 preg.

‘0 xpévog Exer
365 DCPC‘ .

ol ufpes elvar punpée
tév_’Iavovépio.

T6 oxoreTo pag Aelver
800 €pdopkdec T8 xpdvo.

The correct use of numerals 1, 3 and 4 has been

explained in #18(a).

The remaining numerals

(unless ending in 1, 3 and 4) up to 199 do not
change to indicate gender. From 200, howevsr,
up and including 1900, going up by hundreds,

numerals behave like pure adjectives of the same

tyre endings. They naturally take plural endinges,
“nly 1100 shows a small deviation from the pattern
because figure 100 does not indicate gender change.
NOTE that both the word XIATA (1000) and the words
200, 300, e.t.c., are each affected by gender and

case as two separate words,

20



Examples:

Mssculine Feminine Neuter
200, Awaxdoiot Avandoreg Avaxbora
&vrpecg. Yuvatxeg, BiBAla.
300, Tpianéoiot  Tpranboreg Tpianboia
&vrpes. YvvaTueg, BeBAla,
BOUT

1100. XfAtor é&xa- X{ireg Ena- Xliia Exars
6 &vtpeg. 5 yuvalneg. BLBAla,

(v) Rote counting is always in the neuter,

21



Ot &p:8uol &nb iwatd i 16 Ematév eluwoor Eva (121).)

100 &xaté 111 éxatbv Evbexa

101 énatbv Eva 112 &xatév bddexa

102 txatév b0 113 &xatév 5&na tpla
103 éxatbv tpla 114 &xatbv b€xa téooepa
104  &watbv téoocpa 115  Ewatbdv béua nfvre
105 &xatév névre 116 &uatév béna ¥Z.
106 éxatbv ¥ 117 Exatév déxa Enth
107  éxatdv &nté 118 &xatdv b&xa dxntd
108 Enatdv dnth 119 éxatév béna Evvéa
109 . &xatév Evvéa 120  éxatév elnoot

110 &watév 5éna 121 é&xatdv elnoot Eva

Dl &pLduol &nb 8 Exatd (100) & 16 ylare (1000).

100 é&xatd 800 dxtaxéoia

200 &ianboia 900 Evvianboia

300 <tpiraxdoia 1000 yxlaca

400 tevpanboia 1100 xliia Exats

500 mevtaxboia 1200 xlAia Scandora
600 Efaxdora 1900 yxfAia Evviandoria
700 éntaréoia NeToAe

22



28 (a)

(v)

(e)

(d)

LESSON 11

GRAMMAR ANALYSIS
I'PAMMATIKH

The Greek lansguage utilizes .the device of
changing endings to indicate different changes
within the basic meaning of a word. Thus, to
indicate possession, instead of using a prepo-
sition corresponding to the English preposition
of 2 Greek noun, adjective or pronoun would
change its ending, The Saxon genitive in
English (my father's car, g womants house, etc.)
is a similar device. Only in Greek, case changes
occur all the time and they occur for animate as
well for inanimate things.

The possessive -~ or genitive case -~— of th
Greek masculine article 0 is TOY. ‘

The possessive case of Greek masculine nouns
endihg in OF is formed by changing the ending

Of 1inmto 0OY, Examples:
& orparnyée - <08 otpatnyol
& &deapbs - to0 &bergob
& Badusc - o0 Paduol

The possessive case of all other masculins nouns
in the colloquial language is formed by simply
dropping the final consonant of the ending of the
basic (or nominative) case.

Examples:
3 padnrfic - 700 padnrol
& roxlag - <o¥ Aoxla
& xeipbvag - <ol yeipbva

23



(e)

29 (a)

In the learned language -« however ~- several
nouns ending in HE or AL follow the old way
of changes in the genitive case changings their

HZ into oY, fany of the nouns are the names
or titles of human beings.
Examples:

o padntic - o0 padntod

8 wadnynthc - ol wadnyntob

0 dtovxnthc - ol diotxuntol

8 Tayuarépyns - toJ Taypatépyov

& ouvraypatépms ol ouvrayuatdpyov

(the above case changes are still the preferred
usace).,

3UT
o Aoxlag - to¥ Aoxlov
é otpatibmms - 1o orpatilrov

(these case changes are not the preferred usage
in the spoken language any more).

Another case change in CGreek is that of the object-
ive -~ or accusative -~ case. The objective case
is the case of the direct object. It is the case
indicating not the doer of the action of the verb
—-— that is the mominative, the basic case of the
noun -~ but the one indicating where the action

of the verb goes. To find the direct object of a
verd one should ask the question whom? or what?
immediately after the verb,

Examples:
John knows Henry. (John knows whom?
Henry).
I like potatoes. (I like what?
Potatoes),

The cat is eating a mouse, (is eating
what? 2 mouse).

24



(b)

(c)

(a)

(e)

In Znglish the relationship between the verdb, its
subject and the direct object is indicated by a
strict word order. If in the above example the
cat _is eating a mouse the word order is reversed

we get the sentence a mouse is eating the cat and
an entirely different relationship betwsen the eater
and its victim, In Greek this relationship is in-
dicated by a change in the ending of the word (which
can he a noun, an adjective or a pronoun and the
article that normally accompanies the first two).

In the objective case the magsculine article becomes

Z0 or ION, Examples:
& Aoxayse - 8 Aoxay$
d oliog - <6 ¢lo
d ufivag - 16 ufiva
& padnthe - 6 padnth
6 &dergbc - tév &dcrpé

All masculine nouns, adjectives and most Ppronouns
form their cbjective case by dropping the final z
of their nominative case, (See above examples),

The rule governing the retention or non-retention

of the N in the objective case of the masculine
article is one depending on purely phonetic reasons,
If the word following the article begins with g vowel,
or with one of the voiceless sounds X X, T (and
their derivatives ¥ and $ ) the N is retained,

It is dropped otherwise, Examples:

8 &vvpac - tév Evrpa

o &bergbc - tbv &bedgb

$ xBproc - <év xbpio

é meplxrarog - tév xeplxave

¢ =xlvanag - t8v xlvana

é tayuatépxne - tév tayuecéomm

$ xar8c otpatnybe

25



30 (a)

EUT

9lrog - 8 9lro

otpatidmg - 6 orpariben

Stotunthic - 6 StotxnTh

ueyérog nlvanag - T8 peyéro nlvana
HTA.

Zxcept for very few prepositions, whenever a word

is the object of a preposition in Modern Creek it
is in the objective case,

Txamples:

MeAetd ué 6 olro pov.
Galpvw ypbupa &nb t6v &beres wov.

26



31 (a)

(b}

(c)

LESSON 12

GRAMMAR ANALYSIS
PPAMMATIKH

The objective case of the feminine article H is
TH or THN. (Retention or non-retention of the
final N of the article TH-THN follows exactly
the same phonetic rules as those governing the

masculine article TO-TON). Examples:
Nominative Objective
N yvvalxa 22;] ygvatxa
n Gpa v Gpa
f wpla fiv wpla
N wépta tﬁv nbpta
7 tnAeépaon v tniedpaon
# BuLBALodfixn <fi BuBALodiun

Feminine nouns ending in a vowel do not undergo
any ending changes in the objective case. The
article alone indicates the case. (See above

examples),

In the plural the objective case of the feminine
article TH(N) changes into IIZ, Again, there is
no ending change in the noun between the nomina.
tive plurel and the objective plural. Only the
article indicates the case changes: Examples:

Nomingtive (plural) Objective (plural)
ol yuvatueg <ls yuvalneg

ol z:c; (g g:eg

ol wvpleg vl wvpleg

ol xéprec (¢ xbpteg

ol BiBALodfneg <{g BLBALOOueS

27



(d) The objective case of the word # beomotvig is

R beonovvlda. All feminine nationality names
if used in the old form in If (§ ' L

=& Yiss
*EaAnvlc) and not in the modern form (§) ’Ape-
wavida, §'EAAnviéa) form their objective
ga_se"ﬁfe e wor seonowtvlc. In the plural

there is no ending ¢ ge,

32 (a) The possessive case ef the numeral ENA - ENAL
is ENoz (of one, of a). Examples:

“Evg BiBAfo elvar T6 xpBua &vdg Biprlov
ks, elvar mpéoiLvo.

elvar 853,

“Bvac Aoyay8c elvar T8 mmifineo £v6g AoyeyoU
s,

(b)Y The objective case of the masculine numeral ENAZ
is ENA(N). The neuter ENA does not change
in the objective case. The feminine mumeral

MIA 1is declined like any feminine noun ending
In A, ‘

33 (a) The word mo6 (with an acute, not with a circum-
flex) is a relative pronoun meaning who, which,
that. It is not & declinable word. It always

"keeps the same shape, Examples:

‘0 ubprog mob SiLapé- The man who 1is reading

Tev othi BiLBALodfun in the library is a
elvas ofdog pov. friend of mine,

T8 BiBAlo xob ¥yw The book (which) I have
elval naré, is good.

(b) The relative pronoun cannot be ommited in Greek
as it is in English., It is not correct to say
the man I know in Greek., The correct form is

the man thav (whom) I know, & wbpiog xod Eépw,

28



34 (a)

(v)

LESSON 13

GRAMMAR ANALYSIS
TPAMMATIKH

As stated in #25(a) the plural form of all nouns

- except those ending in O -~ is formed in the
modern spoken language by changing the ending of
the singular into the ending EZ, (In some special
cases the syllable AEY 1s added to the stem but
these special cases will be taken up at the ap-
propriate time), Exgmples:

& &vrpac ol &vrpeg
6 xeupbvag ol xeiulveg
é vabrng ol valreg

As 1t has already been mentioned when the formation
of the possessive case was discussed (#28e) there
are some nouns ending in AL or HE which fellow
the old pattern of noun declensions. These nouns
take the ending AT instead of the ending EBL to
form their plural,” They are the same nouns that
form their possessive case according to the old
pattern and are primarily the names or titles of
human beings. Examples:

O padnthc ol padnral

& wadnynthc ol xadnynral
éLouxntiic ol Scountal
Taypatépyne ol Taypatépya
ovvtayuatdping ol ouvrayuxr&pyar

8 otparidnng ol orpatidrar *

8 Aoxlac ol Aoyfar *

* The modern pattern of gtpatiiveg, ol Aoylec
is the preferred version in the spoken
lansuage now,
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(c)

35

36 (a)

(b)

It is recommended that the relatively few nouns
of this type taking the ancient declension endings
be memorized, Otherwise, and when in doubt, use
the ending EZ to form the plural of mascuhne
nouns in A}: or HL because the AI plural ending
is incorrect for several nouns of this class
(&vpag, pfivag, nlvaxag, etc, ) whereas the
ending is not incorrect for nouns like & wa

ths, & padnthig, etc. It is only a colloquial usage.

The objective case of the masculine article (TON)
becomes TOYZ in the plural.

Masculine nouns in OX form their objective case
in the plural dy changing their ending into oYL,

Examples:

0b se S Obj, Case Plural
v &Zwparind tofs &Zwparixobc
6 otpartny$ tols otpatnyolc
8 olro To0g ¢lAesg

Correct Use

thuw v &Ziwpa- 1. BAéxw tols & rwpa-

Tund. Tinodc,

2. Mehetd pé <6 9().0 2. MeAetd pé volc ¢l-
Hov, Aovg pov.

3. Myvalvw otév vy~ 3. Invalve otofs uiLvn-
patoypligo. natoypbpoug.,

Masculine nouns in HZ form their objective case
in the plural by changing their ending into AZ,
There is a more modern and rather colloquial

variant in Ef but the former ending (in AZ ) is

still more widely used, Examples:
Obj. Case Sin Obj, Case Pl
t6 padnth tolg padntés (tobs padntég)
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T6v xadnyntih tols nadnmtdc (vobs xadnyntéc)
6 Siotunth tofg dLowuntés (vobs drovxntés)

Correct Use

1. BAénw 18 padnth 1. BAfmw tol¢ padnréc

2. KatahaBalvw tév xadn- 2. KataraBalvw tolc xadn-
yntfi. mrés.

3. Eépw 16 dLowunth 3. Eépw tols sLounrés.

(c) Masculine nouns in AL form their objective case in
the plural by changing their ending into EZ, A few
nouns of this class still favor the ancient case ende
ing AL but these are few and will de listed separate-
ly. © Examples:

Obj. Case Singular Obj, Case Plural
8 ufiva vob¢ ufives
v Gvrpa | tob¢ &vrpes
©8 Aoyla vobg Aoxleg*

Correct Use

1. MeAetd moAd adth 1. Meletd xoAb advobc. .
<6 pfiva, tols ufveg.

2. Aév Efpw adté tbv 2. Afv Eépw abtolc tobc
&vrpa. &vrpeg.

3. MiAD pé 8 Aoxla. 3. MuAD ué vobs Aoxleg.

* This word can also be heard as <ofic Aoylac.
Similarly the words § saulag (a cashier), & oun-
vlag (an Air Force sergeant) and a few others
can also be heard both ways.
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(d) The student's attention should again be drawn to
the fact that adjectives must agree with the noun

they qualify in gender, number, and case.

This

agreement, however, does not mean that the case
endings of the noun and of the adjective should be

identical.

It frequently happens that the nowm

ending and the adjective ending are the same, but

this is not necessarily true all the time,

The

noun takes its particular case ending and the adjec-
tive takes its own case ending according to its

class.,

However, it must be in the same gender,
number and case as the noun it qualifies,

It

should also be remembered that the noun determines
the gender, number, and case of the adjective and

not vice~versa. Examples:

1. BArémw tév &ompo 1. BAémw tolg dompouc
otpatbhva, otpathveg,

2. Zfpw T6v %aAd 2. Eépw tols marode
Aoxayé, Aoxayols,

3. ‘0 "Apepimavée 3. ol ’Apepimavol
nadnyntfig. xadnynrat,
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LESSON 14

GRAMMAR ANALYSIS
T'PAMMATIKH

37 The plural form of the possessive case of all
three articles is TQN, It is the same for all
three genders.

38(a) All nouns, adjectives, and declinable pronouns
end in ON in the possessive case of the plural.

Examples:

Poss. Case Singular Poss, Case Plural
Masc. tol uahol &deAgol Thv xaliiv &derpdv
Fem. tifig EAnvuxiic tonueploas  Tiv EAAqviudv Egnueplbev
Neut. <ol pixpol AeZixob Tdv punpdlv Actinlv

(b) Neuter nouns in I that add the syllable Oy in the
possessive case singular gdd the syllable QN in the
possessive case of the plural. In general, if an
ending is added (instead of being changed) in the
possessive case of the singular the ending QN is
also added in the possessive case of the plural,

Examples:
Singular Plural
ToU =atdiob Tiv maLdulv
Tol poAvBiol TOvV poAvBiiv
vol xaptiol Tov yapriBv

39(a) Acceni shifts in the possessive case: Masculine
nouns, adjectives and pronouns ending in OF drop
their accent.one syllable down in the possessive
case of the singular, and of the plural, if their
nominative case is accented on the third from the
last syllable, Examples:
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Singular
Nominative & wulptog
Possessive ToU wvplov
Nominative & meplmatog
Pogsessive tol mepinétov
Nominative & Umootp&tnyog
Possessive 1ol Umoorpatfiyov
Nominative & ’Iavou&piog
Possessive 100 ’Iavovaplov
(b)

Dlural

ol ubprot
Twv wplov

ot neplnatot
Thv nepinbdtwy

ol Umoatp&rnyot
thv UrooTpathiywv

The same: rule applies in connection with neuter
nouns, adjectives and pronouns ending in
accented on the 3rd from the last syllable.

and
The

accent shifts one syllable down in the possessive

case of the singular and the plural.

Singular
Nominative <8 map&dvpo
Possessive <ol mapadlpov
Nominative «§ bevrepbiento
Possessive <ol bdevreporénrov
Nominative <8 tnAéewvo
Possessive <ol tnicebvov

Examples:
Plurgl
& napkdvpa
Tiv napadbpuwv

<& devrepbiexta
v devrepokéntuv

t& tnibeuva
v TnAcebviev

(¢) Neuter nouns in MA which add the ending TOZ to
form the possessive case of the singular add the
ending TQN to form the possessive case of the

For this class of nouns the accent shifts

one syllable down in the possessive case of the

singular and two syllables down in the possessive

plural.

case of the plural.

(The basic case is usually

assumed to be the nominative case of the singular).
If the nominative case of the plural is taken as
the basic case for the plural, then the accent
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shifts one syllable downm, Various kinds of Pho-
netic reasons require this shift, the paramount
reason being that in the Greek accentual system
no word can be scecented beyond the 3rd from the
last syllable, Zxamples:

Singular Plurgl
Nominative <8 p&dnua ¢ padfpata
Fossessive  1of padfjuaroc Tov pednuétwy
Nominative  t6 gfvrayua & cuvréypata
Possessive 1ol ouvthypatog v ovvtayudrwy
Nominative  <§ névupa & narlpara
Possessive  toU natduavtog TV matuubtwy

(d) Masculine nouns in HEX which normally take the
ending AT in the mginat_i_ve case of the plural
(see 34B) retain their accent on the same syllsble
in the possessive case of the singular but shift
it all the way down to the last syllable in the

Possessive case of the plural, Examples: :
Singular Plural
Nominative  § vaypatépyne ol tayparépyar
Possessive o3 Tayuatépyov TdV Taypatapydv
Nominative  § guvraynarépyne ot ouvtaypetépoyar
Possessive 405 ouvtaypatépyov  t@v suvTaypatapyisv
Nominative § ovpatibene ol otpatiBrar
Possessive o otpatilry Tdv oTpatTiwtdv

(x0T otpatibrov old form)

(e) The following masculine nouns in AZ bebave exactly
as the masculine nouns in HZ referred to in (39a).
The accent does not shift-in the Possessive case of
the singular but it moves all the way down to the
last syllable in the possessive cage of the plural,
MEMORIZE THESE NOUNS
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Singular Plural

Yominative & Aoxlag ol Aoxflar (oi Aoxleg)
Possessive o0 Aoyla Tv Aoyxtdv
Nominative & &vrpag ol &vvpeg
Possessive 100 &vrtpa (ToU tiv &vrpiv
&vtpbs)
Nominative 6 pfivag ol ufjveg
Possessive tol pfiva (tol TV pnviv
unvés)

(f) The noun &"EAAnvag shifts its accent only one
syllable down in the possessive case of the plural.

NOTE :
Sinenlar Plural
Nominative 8 YEanvag ot “EAAnveg
Possessive  <tol "EAlnva t@dv ‘EAAfivev

L0 (a) When giving the name of a month in comnection with

dates it is glven in the possessive case, Since
the names of the months are all maseculine nouns
ending in Of and, furthermore, their accent falls
on the 3rd from the last syllable, there is an ac-
cent shift one syllable down in the possessive case
as would normally happen for all corresponding
masculine nouns in OZ,

Note the following examples:

Nominative case : Pogsessive case

$ 'Iavovdpiog <oV ’Iavovaplov

é deBpovéprog <ol defpovaplov

b ZentéuBprog to¥ Zentepgplov

HENCE

January 1 nplren *Iavovaplov
Pebruary 3 tpels PeBpovaplov
September 14 benatéooepers Cexveupplov
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(v)

(e)

To state that some event or occurence happens on
a certain date the name of the month is used in
the possessive case but 1t must be preceded by
the word ZTIE, COnly if it happens on the first
of the month the objective case of the feminine
article (TH or THN) is used to precede the

name of the month, Ezgmoles:
English Greek

New Year's is on the 1. ‘H mpwtoxpovié elvar
1st of January, tfv npérn ’Iavovaplov.
My birthday is on the 2. T& yevESALE pov elvar
10th of June. otls déxa 'Iouvlov,
The Greek national 3. ‘H &aanverf Esvens
holiday 1s on the 25th éoprﬁ elvar otlc elno-
of March, ou. xévte Eaptlou,

The American national 4. “H &pepinavind Eovuxh
holiday is on the 4th viopth elvar otlc téo-
of July. oeperg *TovAlov.

To state that some event happens on a certain day,
or on a certain month (without giving the exact
date) the objective case of the name of the week
or of the month are used with their article but

without a preposition, Examples:

English Greek
My birthday is in T& vevEsALé pov elvar
January, tév_’Iavovépic.
BOUT

My birthday is on the T& yevéorié pov elvar

3rd of January. gxls zpelc ’Icvoucg(ov.
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Christmas is in December
BUT

Christmas is on the 25th
of December,

We have no classes on
Sunday.
We go to school in winter.

T& Xpiotobyevva elvar tév

dexéuppio.

T& Xpuotobyevva elvar gzig
eluoor _névre AexeuBplov.

Aév Exope oxorelo thv Ku—
ptaxfl.
IInyalvoue oxoleto T8 yes-

ubva,
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41,

LESSON 15

GRAMMAR ANALYSIS

'PAMMATIKH

To ask a person how o0ld he is the expressions IIOZQN
ETQN EIZeE or IIOZQ(N) XPONQ(N) EIZTE are used,
Since these questions have their noun and its quali-
fier in the possessive case of the vlural the posses-
sive is called for in giving the answer, Hence,
declinable numerals should be used in their posses—
sive case when giving one's arse, or the age of any-

thing animate or inanimate,

Examples:
English

Q. How old are you?

A. I am 24 years old,

Q. How old is your
child?

A. He is three years
old.

Q. EHow old is your
brother?

A, He is 21 years old.

Q. Eow o0ld is the
baby?

A. He is three months
old.

Q. How o0ld is this
building?

A. It is 200 years

old,

39

Greek

Néowv &tdv elode;
Elpar efxoor teacépuv
ttav.

D6ow(v) xpovid(v) elore;
Elpar elnooe tecodpw(v)
xpova(v) .

éow(v) xpovid(v) elvar t6
natbl cag;
Elvar tpi&(v) xpovd(v).

Néow(v) xpovd(v) elvac
6 &derebc oac;
Elvar eTuoor &véc ypovid(v).

Oéow(v) pnvd{v) elvar T8
nwpb ;
Elvar tpidlv) pnvi(v).

Oéowv &tdv (xpoviv) elvar
adté 16 xtlpio;

Elvai diaxooluwv &xdv (yxpo-
V(.I.)V)o



L2 (a) All ordinal numbers appear in all three genders
in Greek, even the ordinal forms of numbers which
are not affected by gender in their cardinal form.
The ordinal forms of numbers 1-15 are given below:

Cardinals Ordinals

1. Zvag, pla, Eva npltog, ®mpdrm, xpiito

2. &bo éebtepog, debrepn, debrepo

3. 7pelg, tpels, tola tpltog, tplwn, tplto

4. <éooeperg, t€ooeperg, vévaptog, tevépty, vérapto
téocepa

5. névte uéuutog néputn, x€unto

6. ¥ xtog, b Exvo

7. &tk ) EBdopog, épbs;m Esbopo

8. &utd 8ydoog, dybén, 87

9. &vvéa Evatog, Evétm, E

10. &éxa bénatog, Sexdtn, 6£xato

11, Evéexa ¢vééuatog, év&cu&tn tvdbuato

12. b&bena bwbénatog, bdwbenltn, dwdbuave

13. bexatpels, bewatpels, dénavog tpltog, 6¢u&tn tplty,
denatpla dénato tplto

14, beuatéooeperg, bena— dénatoc tétaprog, dexktn Te-
téooeperg, bdenatéooepa  thptn, S€nato tévapro
15. odenanévre béxatog néuntog, denftn xéunty,
dénato néuxto

42 (b) Since both cardinal and ordinal numbers are adjec~
tives, when they are declined they undergo accent
shifts and ending changes like any other adjectives
of their class. Exgmples:

Cardinals
Nominagtive Possessive
dtanboiot Staxooley
xeveandoLol xeviancoluy
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(e)

Ordinals

dedtepog devtépov
vétaprog TetédpTov
d&natog dendtov

Ordinal numerals stressed on the 3rd from the
last syllable may appear in the feminine either
in their old form, viz. with the stress moved
one syllable down, or in their modern form, with
the stress remaining on the same syllable as it

originally was in the masculine. Examples:
Masculine FPeminine (traditional) (new form)
debrepog . bdevtépa debrepy
tétaprog tetéptn tétapty
EBdopog £Bd8un EBdoun
43, The verdb to go (myyalww) is generally used in its

contracied form in conversational Greek, The
full form is used for more formal occasions, The
contracted form of the verb to go is as follows:

Present Tense Verd IBCAING

full form contracted form
1. =nyalve 1., xfo
2. nnyalvecg 2. =g
3. =mnyvalvet 3. =&er
1. wnyalvoue 1. =nipe
2. =nyalvete 2. =@te
3. mnyalvouv 3. =xive

The words boy (&y8pi), girl (xopltor) and chila
(xxs8C) are neuter nouns in Greek, Therefore,

agreement of adjectives should take this into
account because it is nder and not
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4s.,

The word IIOIOZ; IOIA; IIOIO; standing in the
vlace of a noun is the interrogative pronoun
WHO? The same word preceding a noun becomes
the interrogative adjective WHICH?

5 les:
o is this man? Hot8c elvar adtée &
' avépwrog ;
Which student lotbc padnths Eéper yaAAi-
knows French? né;

Which day are you Ooc& pépa elote &685;
here?

Which paper do you  Hoi& &¢nueplda 5iapb-
read? gexe;

42



LESSON 16

GRAMMAR ANALYSIS
JTPAMMATIKH

46 (a) The objective case of the personal pronoun is as

follows:
Sineular Plural
1, pé me 1. pac us
2, oé you 2. odg you
him
z8v him zofc them (mase,)
3. tfiv her 3. =<l¢ "  (fem.)
w6 it T4 *  (neut.)

(b) The objective case of the prersonal pronoun precedes
the verd, except in the imperative and the present
participle, Examples:

English Sreek
T see him T8v BAfnw
We understand her Tv nataraBalvope
He is reading it TS s.aBller
Tolg E€pope
We know them Tlc Eépopc
T& Eépope
He loves her v &yand
She loves him % &yand
They see us Mac BAénovv
We see you Zag BAfxope (plural or formal)

EE BAfmouc (singular informal

(¢) To ask a person his name the idiomatic expression
IIRZ ZAZ AENE: or IQF IR AENE: are generally
used. The response to this question starts with
ME AENE and is followed by the objective case of

the verson's name without an article. In the
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(a)

(e)

same manner, the objective case of the personal pronoun
in the appropriate case is used to precede the word
when inquiring indirectly about another person's name,

Examples:

g ot (of) Aéve;
Mg tév Aéve;

g T Aéve;

Mg tolg Aéve;

M€ Aéve Tibvvn.

Tév Aéve Nétpo.

T Aéve Mapla.

Tobg Afve I'i&vvy nal
Kdota,

There is another form -- a long form — of the personal
pronoun in the objective case but this form is used only
after a prevosition or to indicate constrast or emphasis.
When used after a prevosition the initial vowel € ap-
pearing in some persons of this form of the pronoun is
usually drooved. The long form of the personal pronoun
is as follows:

Singular Plurgl
1. épéva me 1. é&udg us
2. &ofva you 2. &odc you
adtév him adtobg them (masc,)
3. abriv her 3. adtég ®  (fem,)
adté it adté& & (neut,)

As stated earlier, the long form of the objective case
of the personal pronoun is used after a preposition or
whenever contrast or emphasis are to be indicated. When
contrasting people's names the long form of the Ppronouvn
precedes the idiomatic expression ME AENE, IE AENE,

TON AENE, etc. Examples:
Enclish Greek
1. My nawe is John. 1. :EE%!E ué Afve I'ibvvy,
His name is Costas. Avtdv tbv Afve Kbota.
2. Her name is Maria. 2, gé:ﬁig) o Afve Mapla,

His name is Peter. Avtlv tév Aéve Métpo.
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47,

the longz form used after a preposition

2nglish v Greek
This is for you. 1. Adt8 elvar Y& o,
Is this book for me? 2. Elvai adté 16 guBAlo
Y& péva;
I am doing it for her. 3. T§ névw yi’adrhv,

the longz form used for contrast or emphasis

The professor knows me. 1. ‘0 nadnynthc E€per Sué-
He doesn't know you. va. Aév Eéper Lofva

(€odg).
I am asking you, not 2. Putlh &olc (lova), Bxe
him, adtv, :
He knows us, not them. 3. 'aﬁs Féper, Bxv abrobe
He loves her, not her 4. Avtfiy &yand, 3x. v
sister, dergf} tne.
He understands only S. Mévov Eufva nataixfal-
me, ’ VEL,
Greek proper nouns are declingble following the

declension pattern of nouns having the same type
endings, Greek masculine Surnames are also dee
clinable unless they have the ending OY in their
basic form. Feminine surnames usually end in OY,
H or A and are not declinable.

Bxamples:

Masculine Feminine
Nom, & Kdotag Mabpoc ) Mapla MaGpov
Poss. 1ol Kfota Mabpou Tfis Maplag Mabpov
Obj. v Kbowa Malpo ) Mapla MaSpov
Voc. Kbota MaGpo * Mapfa MaGpov

* Some masculine given names in Of do not tske the
ending ® in the vocative case but simply lose the
consonant Z, Some common names behaving this way

are: § 'ArEuoc, & LuBpyog, & Mérpog, & Zxbpog, utTA,
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BUT

Nom. & Hadlog Iewpylou n YEAAn Pewpylou
Poss. tol Madiov Iewpylov tiis "EAAng Tewpylov
Obj. <6v NabAio Iewpylov tfiv YEAAn Pewpylov
Voc, IIaUAe Iewpylou “EAAn Tewpylov
Nom, & I'i&vvng Norleng % Zogla HoAlty
Poss, <toU I'iévvn NoAlty tfic Zogplag MoAlty
Obj. <6 I'iévvn DoAlty v/ Zogpla HDoAlty
Voc. T'it&vvn IoAlxn Zogpla IoAltn

48 (a) Conjusation of verbs ending in &, -dc.-§. Most

(b)

Greek verbs are accented on the next to the last
syllable in their basic form. And the basic form
of a Greek verb is the first person singular of the
present tense of the verdb in the indicative mood.
However, there are several Greek verbs accented on
the past syllable in their basic form. A re-
presentative verb of the main class of this kind
of verbs is given below, It should be noted that
one can hear many variants in the conjusation pat-
tern of these verbs in the present tense, The
more prevalent form as of this time of writing is
given first, Variant forms are given next to the
main form in parenthesis,

Pregent Tense

Sinsular Plurgl
Variant I, Variant II Variants I,II-Vsriant ITI
l, pat@ - &w 1. putiue - (pwrobue)
2., put&s - Gg 2. pwtdte - {pwrdte)
3. pwut&@ - &eu 3. putiive -~ (puwtolv)

the verbs &xavt® (to answer), Yaipew® (to greet,

to salute), pet (to count, to measure), peletia
(to study), anid (to love) are conjugated 1ike

the verd pwTld,
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LESSON 17

GRAMMAR ANALYSIS
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49, (a) The verb Afy® (to tell, to say, ete.) has a contracted
form vhich is also the preferred form in normal everyday
conversation, The verd 1{:12 is contracted as fellews:

Verd )\éxm
full form contracted form
1. Xeyw 1. Aéw
2. AEveEL¢ 2. AEC
3. Aéyes 3. Atel
1. kéyope 1, J\t::p.e
2. Aeyete 2. AETe
3. Aéyouv 3. Aéve

(b) Notice that the 3rd person plural ef the contracted
form of this verd (Aeve) is the verb used in the

idiomatic expression 3¢ od¢ AEve (vhat's your name)?

50, (a) The particle vG Placed defore a verb in s subordinste
clause changes it into what correspeads to the iafimitive

in Eaglish, Examples:

(b) The particle va is used in such expressions as 1§ va
xavw; (vhat shall I do? or what can I do?) i va 0erw;
shall T want?) etc. To convey the ssaning of

vhat shall I do?, what shall T want? ete,

b7



51.

52, (a)

(v)

(e)

tAa - eAdTe ere the iaperative forms of the verd
€pxouatr (to come). mape - mépte are the
imperative forme of the verd maipvw (to take, to get).
The full conjugation of the verd -,E—onual will be

given in subsequent lessons,

The question word timote; (anything?) requires the
answer xati (something) if the reply is affirmative.
It requires the answer Tinote (nothing) if the reply
is negative, The word TimotTe is not declinable,

Examples:
Queetion Affirgative Apswer Negative Anaver

”

1. BAgnete Nai, PAEme xaTi. Oxi, 5& PAET®

tizote; . Timote.
pe—— . » g

2. Eepei¢ Nai, E€pw xadTi "Oxi, 6€ E€pw
TiTote; Tinote

Similarly, the question word xavévac OF xaveié
(anyone, anvbody), requires the amswer xaXo0$0¢
(someone, somebody) if the reply ie affirmative, It
requires the answer yxavévac OF xavei¢ (no ons,
none, nobody) if the reply §- negative. Xxamples:

Suestlon = Affirmstive Answer  Negative Agswer

1. Eivai Nai, xamoio¢ eivas "Oys, xgveig 6&v
xavei exet. eivas exet.
EXET;

2. BrEmete Nai, BAET® xamosov.”Oxi, 6& BAénw
xavéva; XaVEVQ.

The pronocuns xavei¢ or (xavévac) - xaptd -~ xavéva
are declined 1like the numerals Eva¢ - ula - €va

(See #32a, b) «~ The possessive case of xaveig or (xavévac)

and xgvéva 18 xavevog. The objective case of the
masculine form xaveva¢ is xavéva(v), In the neuter
form xavéva the objective case is the same as the
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(d)

nominative, The feminine fora is_declimed ,
like any feminine noun in A or Z. c_xp_.la - xglag
xapla.

The pairs TinotTe = XATH, xanoug—xave__gm
precede a noun and function as adjectives, In that
cagse the word 1inoTe means any and xa‘tl means
some: the word xamoiof means the indefintte Aora

g_gmn and xavEVa¢ means guy in interrogative
sentences and pg in negative sentences. Examples:

Sxeak - Aagiish
1. Bke‘netg TiNOTE XapTid 1. Do you m$
exet, papers there
2. '?epe're xgveva xadnyn- 2, Do you knov gay
'm omv Aenva; professor ia Athens?
3. BEpw xanoiov %alnyyth. 3, I kmow g (a certain)
professor,
4, Agv gepm xavéva b, I don't know any
xa.efwr]'m. professor,
5. Exe'te Tinote @ilov¢ 5. Do you have gay
exe;; friends there!?
6. I;Ja.zz. EXW xATH ®iAov¢ 6. Yes, I have
EXET. ' friemds there,
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52,

53. (&)

LESSON 18

GRAMMAR ANALYSIS
'PAMMATIKH

The verd tpiww (to ent) has a contracted form which

is ususlly preferred in normal every day conversation.

The contracted form of the verd q:gé)(x)_m is conju~
gated as follows:

VYerd + p&ym
full form comtracted form

1. Tphyw 1. po(y)w

2. “Tpwyreig 2. Tpic

3. Tpwyel 3. Tpwel

1., ~tplyope 1. ~Todue

2. TpyeTe 2. 1plte

3. TpWyovv 3. 7Tpdve

Rronoun has already been given in $#22(a), lesson 8,
However, there is a long fora which is used to indicate
contrast or emphasis as is the long form of the objective
case used, Whenever the long form of the possessive

case of the personal pronoun is used both the long and the
short forms .are declined as follows:

Possessive Cage of the Pargonal Propoun
long fors  short form (unaccented) short form (eccented)

1, éuéva nov po¥
2. €0eva oov ool
a@tév TOL Tol
3. avm(v) ™mc¢ THc¢
avto TOUL Tol
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(v)

(e)

(a)

(o)

1. Epdc wag wdc
2. egdc gag odg
3. qurdv Tov¢ Tovg

Whereas a distinction of gender is made in the rd
person of the singular of the possessive case of the
personal prounoun no distinction of gender is made in
any person of the plural, (See above table),

The possessive case of the personal pronoun, besides
indicating possession, is also used to indicate the
dndirect object in Modern Greek. And it should be
remembered that the indirect object is the word or
‘words ip a semtence for whom or to whom the action of
the verd is directed, In English the indirect object
is spotted by asking the gquestion to whomlor for whom?
after the verb. ZExamples:

English

1. I am telling her a 1. Tfi¢ Aéyw pid io0Topia.
story.

2. He gives po his book. 2.Moi 6ivet to BipAio Tovu.

3.::; vrites him every 3, Tol ypage:r xa0e uépa.

b, My wife buys me my 4, ‘H yovaixa pov pol

ties. ayopaZe: Tic ypapatec

Hov,

When a pronoun is used as an imdirect object it 1s
usually placed before the verd unlees the verbd is in
the imperative or presemt participle (s detailed expla~
pation will be given about this whea the imperative and
participle are imtroduced). Examples:

She tells ge the news,
He gives her a book,

The short forams of the personal proaocun =- both ia the
possessive and in the objective cases o« are al
accented if they precede the word they refer to, They
are unaccented if they follow the word they refer to.
¥hen the accented form of these pronouns is used in o
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(£)

sk, (a)

sentence (invariably preceding the word it refers to)

When the unaccented form is used it is uttered as s
o This is a basic

unlt along with the preceding word ‘
rule of Greek word linkage and should be thoroughly
practiced. The hearer hears a word with an extra sylla-
ble added to it either before or after the main word,
depending on whether the pronoun precedes it (and is
accentcgs or follows it (and is unaccented). The same
phenomenon of stromg linkage between words occurs
between the noun and its article. They are pronounced

ROUR. ‘l’o the hearsr, a word and its article sound like
one word in Greek.

Whensver two short forms of the personal pronoun are
used together to denote the direct as well as the in-
direct object the iadirect object is placed defore the
direct, They both precede the verb except in the
imperative and participle. In the following exazples
each sentence 1s first given with a mcun object first
and then the noun object is replaced by a proncus.

HOTE:

Inglish Sreek
1. He reads the newspaper 1. Mo¥ GtaBaLel Thv eqm-
to me, peptba.
He reade it to me. Mod¥ g__ ﬁta.ﬁa:z;el..
2, He tells the news to 2. Aee; 'ra. vea oto Tiavvy
John and Mary, xat o‘cg Map;a.
He tells it %o them. Toug Ta Aéer.
3. She buys him the 3. To® ayopaXes Tov
lighter. avaxtnpa,
She buys it for him. Tol zTov cwopa.zet.
I1diomatic way of saying "I like® -—— MOY APEZEI

in Greek, In Greek the standard way to say I like is
by using the id.:lona.tic expression MOY APEZEI which
?. In thie kind of
an expression the mbject is placed a.t the tail end of
the seantence and — being the subject == it determines

52



whether the verd will be in the singular or in the
plural ( APEZEI or APEZOYN). The subject is also
invariably preceded by the nominative case of the

article.
pattern clear:

English
1. 1 like this book. 1.
2. She likes coffee 2.
3. Hp likes his.watch, 3.
bk, They like school., 4,

5. We like ocur toach.r; 5.

6. I like books. 6.
7. Yo 1iks books.’ Te
8. She 1ikes magazines. 8.
9. They like Greek. 9.

10. Do you like English? 10.

11. Do you like to read? 11.

12, Do they like to eat 12.
here?

(b) In sentences like

The following examples should make the

Sresk

Mo8 apfoer adtd 1o
Btﬁl;o. .
goel o xawe;.

To0 apeoer <o PoOAOt

Tov.

Tov¢ ageoez 1o ,OXoAeTo.
Md¢ apeoel o Saoxarde
Hov. ,

Mo{ 9peooov tg B;Blla.
Ma¢ ¢pEcovv TaQ BiBAia.
Ti¢ ageoouv Ta ,Ngproding.,
Tov¢ gEoovy 1a,exxnvzxa.
2dc¢ gpeaoov Ta afyktxa,
za; apecet va'azaﬁazeye,
Tov¢ aptoer va tplve €63;

etc.. vhcn a noun precedes the expression

eoen, gof a eoen
ha expression

possessive case,

1. Mary likes coffes. 1,

2. The teacher likes 2.
books,
3. My wvife likes Athens, 3.

b, The child likes to 4.

Play.
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ol apétocs
It 13‘—1;r—.c:%a-7,

is also in the possessive case,

o8
and so on, the amuailxp1£%35

and is in the
its article which
les:

Tic Mapiac =fic apéoet

0 XaPEC.

To® acoxalou tol apeooov
Ta ﬁlalua.

THi¢ yuvgtxac pov Tii¢
ap€cet 7 Aanva.

ToG mgi1610 1ol apeoes
va nat&ﬂ.



(c) If the noun preceding the expression pol aptoel

55 . (3)

(v)

bappens to be ia the plural, to avold an awkward Greek
construction, the verd ayand can be used instead of
the expression uo aptoct Then the sentence follows
the conventional Greek word order, Examples:

Ou Ga,cxa?\o; a.xcmofiv 1aq [}lﬁkta.
Ta Mai151a a ayanolv va maiZovv.

The expression it's beconming to you J0Y IIAEI follows
the same pattern as the expression MOY APEJEI,

The subject follows the verd, it is preceded by its
article, and it determines whather the singular form
IIH'AINEI (HAEI) or the plural forma [HI'AINOYN
(TIANE) should be "used, Examples: I

» 3 . -
1. This tie is becoming 1. A‘g'l:ﬁ T vpaBata oG
to you, Taet. | .
2. The uniform is be- 2. H OTOAn Tol maei.
coming to him, "o
3. White is becoming 3. Ta aompa* <fi¢ mdve.
to mr. '

Again, vhen the subject of such an expression is a
noun and not a pronoun the noun is in the possessive
case and precedes or follows the expression 3(0Y IAEI,
MOY I'IAI:‘.I etc. Examples: —

Green is becoming to THi¢ Mapfac Tfj¢ ®ave
Maria, ta xpcowa..
Ta npccwa Tfj¢ rdve
tfi¢ Mapiac.

* The neuter form of colors is used in the plural to state
that a certain color is becoming to someone,
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56.

57.

58.

59.

LESSON 19

GRAMMAR ANALYSIS
'PAMMATIKH

The past tense of the verb to be (el ipas ) is conju~
gated as follows:

1.
2,
3.

1.
2.
3.

Greek English
oy 1. I vas
oouv 2. you were
ntayv - 3. hs, shs, it wvas

")UGOTG (ppao'ta.v) 1, we were
cacte (Noactav) 2. You were
ntav (fitave) 3. they were

The future tense of the wverd to 1o be is conjugated as

follows:
Greek Eaglish
1. 6a e:p,a; 1. Iwvillhe
2. 69 e_goa; 2. You will be
3. 6a eivas 3. bhe, she, it will be
1. 6a elpacte l. we will be
2. 6a ¢ Lo'te 2, Yyou will be
3. 6a eivas 3. they will be

The infinitive of the verd to be ic conjugated like the
future except that the particle va. ingtead of ths
particle 6a precedes the verd,

(a) Not all Greek tenses correspond exactly with English

tenses, The Greek present tense covers a much wider
area than the ®nglish simple preseat because it in-
cludes -- in addition to factual emd haditual sction
~ - action going on in the present time (expressed)

55



by the English present progressive “snse) as well
a8 action started in past time and still going on
in the present (expressed by the English present
perfect). The following examples, illustrating this
last usage of the Greek present tense should make
its function clear. Examples:

Greek 1igh
1. TNoocov xaipd tov 1. How long have you known
geps'te, him?
2. HQoov %@ po 2. How long have you been
elote €63; here?
3. Mevoy.e o0avTod 3. VWe've been living in this
6 omiTi TOAAG house for many years,
pov IG..
4, “Exo Tpia XPOVW-“ I've been here (for) three
€68, years.

(b) The simple pgst tense of Greek verbs covers some areas
not covered by the simple past tense in English, Very
frequently the past tense is used in Greek the way the
present perfect is used in English if the time wvhen
the action occurred in the past is indefinite,

Bxamples:
English Gresk

1. I have never been a 1. AEv Auovv MoTe
teacher, SaoxaioC.

2. Have you ever been an 2, “Hoaote XoTEé aZiw-
officer? BaTI%oC ;

3. My relatives have always 3, O‘: OUYYEVETC pov
been good people, fTav RavTa xaiol

avopwnol.

60. WHAT'S THE DATE TODAY? One can ask for the date im
Greek in two ways: ”One way !.s by using the expression
Mooe¢ tol unvog Exoue ofuepa; The other way is
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by, using the expression ti nuepounvia Eyoue
ognuepa; Whether we use m#um—az-&-om
to ask for_the date our response is the sams., W say:

ONuepa eivas and then the date follows in the same

-pattern as explained in detail #30(a). Examples:

Sreek Eaglish
1. Ilooce¢ 108 unvéc 1. what's the date today?
€youe onuepa; It is ey 3.

Znpepa Exope 3
(TpetT¢) Maiov.

’

2. Mooeg tof unvdg 2, Vhat's the date tomerrow?
EYORE avpto;

Avpto ’é)ég e téo- Tomorrow the date is

geEpeig Ampiatov, April &,
3. Ti n‘gegoy_n\'fa 'éxo-— 3. What's the date teday?
JLE onpepg; meega It is July 1.
Fxoune mpwtn (1N
IovAiov,.
S e 20

61, (a) The correct use of numerals wp to and

1900 has been explained in lessom 10 ($27a)., When
dealing with numerals from 1900 em the follewing
rules should be observed:

1. Proa 1900 on to 1999 the number is read iz the
usual way, vis. the mumeral 1000 (xiAiot -e¢ -q)
as well as thcm-oralmmtoagnouthﬁn
noun it qualifies in gender gnd case,

2. Trom 2,000 on up to but not including 1,000,000
the feminine form is used for the digit indicating
the thousands. All the other digits follow their
owa fora as previcusly explained,
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3.

5.

Vhen ve reach the 1,000,000 mark everything 1is
in the neuter becauses the word exaTtoupvpio
standing for one million is a meuter noun.
Numerals 1, 3, &4, or 200, 300, etc. referring
to the wvord "million® are in the mesuter gender,

It should be remembered that all aumerals
affected by gender —~- whether uwsed only in the
neuter form or only in the feminine fora or in
all three forms — are declinable. This means
that they will indicate case changes by changing
their ending accordingly.

The following tables summmrizing the rules
governing the correct use of numerals should
clarify the students! questioas:

Nivaxa¢ aptOudv amd 1900 ¢ T& 2,000,000 xTA.

1900 xiAria ;:vvza.xéola. . ok
1901 xiXiia gvviaxooia eva g
1902 xiAta gvviaxoosa &vo S
1903 xiAia gvviaxoosa TEig Ei
1931 Yihia evviaxooia Tplavia g
eva £
1945 xiiia gvviaxdoia oapavra e .
1[§:V'l:e R ’ .« . .og
1962 xi\ta evviaxooia eENvia f’.’.ﬁ
bvo 4
1994 xi\ia evviaxdota evevivia &e
’tgooepg' 4 [ 4 I iy
1999 yiAia evviaxooia evevivra 2
EVVEQ ~
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2000 600 _XtA1aBeg
3000 TpEIC X1Atabe¢
4000 'reooepezg xthaﬁec L
5000 mévre X1Atabeg -3
21,000 etxocuua ,X1Arabeg E,’»&&
34,000 Tpiavta ¢eooepe;c X3Aiabec "
93,000 gvevhvta TpeT¢ X1A1abeg 243
100,000 gxafco x;?ua.éec g §.-;
101,000 exatov pla xi1Ai1dseg £
113,000 -exatdv 6exa'cpstc XtA1abec ENn
200,000 GIQXOULc.g xthaﬁeg oS8
300,000 tpraxdgrec xiAi1dbeg gekb
400,000 'r:e'tpaxoctec x;haﬁec oy B
500,000 ftevtaxdoiee yi1A1dbec 5%:
600,000 §gax00|eg xtltabec )
700,000 gntaxoonsg x;lnaﬁeg d
800,000 pxraxootec xalaaﬁeg
900,000 evviaxdoiec xi1hi1ade¢
=
1,000,000 eva §KaTopprlO £ <
2,000,000 600 exa‘top.pogm. a8
3,000,000 Tpia EXaTouRLPIa e
4,000,000 Téocoepa exaTtoupdpia B
----- 4

1,000,000,000
2,000,000,500

sva G;PenaTouuupso
600 6 icexatoupbpia
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(v)

(c)

It should be remembered that in rote comnting declin-
able numerals are given in their neuter iorm, Wwhen
giving chronology (the ysar when a certain event
occurred) the correct way is to read the year as
though one is doing rote counting,

The expression mooec To¥ unvde Exour ofjpepa
Or TOCEC 10U UTWel £1Val ONLEDG Kﬁ%]#r&'
the date today) Bas the word frouu unvo¢ in the
poseessive case, It therefore rquITrcs that the name
of the month in the answer be also given in the pos-
sessive case, For the first of the month the ordinal
g_urc_'q (Ist) is used. For the other dayes of the month
the plain numerale are used, Those numerals affected
by gender are in the feminine form. Examples:

English Gresk
1. May 21, 1962 1. Eixoot p.la. Mcuoo xlha

evviaxdota egnv'ra. 600,

2, September 1, 1939 2.  Tpdwn Zemtepfpiov ¥iria

EVVlGXOGlG TplaVTQ EVVEQ,

3. July &, 1776 3. Teéooepeig Iouhou Xiria
ENTAXOC 1 a eBGoy:nv'ra €&,

4, March 25, 1821 4. Eixoot mévte Maptiov xilia

OXTGXOOla EIKOOI SVQ.

5. December 6, 1941 5 TEEL dexepfpioy xiiia
EVViaxdoia oapavia Eva.

6. July 14, 1789 6. Adexatfooepeic Iouhou
xtl:a ETTANOO LA oyﬁovra
evvéa.
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circles are alvays
affected by gender
when they appear in
the unite snd hond-
reds columne.

lﬁs Fumbers eacloeed in

a triangle gre always
in the feminine,
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Not affected by gend.| o olo| ~| ~ NN b.56_2890.00

AIT but 100 affected A ] ] -] P ) O yo| el o
Mhn.to 0d|by| gender o~

101
103
104
111
113
114
120
121
131
222
333
AN
555
666
7
888
999
1000
2000
3000
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LESSON 20

GRAMMAR ANALYSIS
FPAMMATIKH

62. ~ The past tense of the verd to have ("Ex, @) is

conjugated as follows:

Greek
1. eixe 1.
2. eixec 2,
3. eixe 3.
1. eixape 1.
2. ejxate 2.
3. e€ixav 3.

I had
you had
he had

wve had

you had
they had

&

63. The past tense of the expressioa ucB apéces --
apéoovv, ete. is pob apeoe “%y__

64. (a) The future tense of the verd tve is formed
by preceding the short Tora 5; g vord (naw -- %§ .

etc) by the particle 9§,

therefore, conjugated as follows:

Greek
1. e(:l I&m 1.
2. 6a nd¢ 2.
3. 90 I&n 3.
1. 0a mdue 1.
2. 8a nadTe 2,
3. 6a mdve 3.

I will go.
he will go

we will go
you will go

(v) The ipfinitive of the verd tvew (to go) is
conjugated like the future gth the sxception that
the particle yg is used instesd of the particle
More on this mode of the verd later,
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eXw Sixio,and
Xpovia va Taw XANOU mean to be busy, fo waste

65. (a) Tne expressions éxw SovAeid, y&ve waipd,

eyw moAra (Eva, 6Vo Tpia)

time, %o be right, end I !
plece for xany (one, two, three, etc.) ysars
Their usage has been illustrated in

the dialogues and the exercises.

respeciively.

The word O ETI1OXETTNG is declined like the word

O _O0TPATIWENG.

The verbs‘pt)\t'ﬁ, Zntd, etc. is conjugated according
to twvo wvariants either one of which is correct,
first one ig the older form,

more modera wariant,

older form

1. wiAd
2. piAete
3.‘ p.t)ne'l'

1. prrolpe

2. piAetTe
3. pidrolv

Verd

endings

-8
-€1¢
-eT

-olue
-E1TE
- o0V

66
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LESSON 21

GRAMMAR ANALYSIS
F'PAMMATIKH

67 (a) How to form the past tense of Greek verbs: All

(»)

(e)

standard Greek verbs (and by standgrd we mean
verbs accented on the syllgble before the last

in the first person singular of the present tense
of the active voics) taks the same past tense
endings as those of the verb £yw in the past
tense. (The verb ciya, the past tense form of
£X®, bas been given in $62, lessor 20)., The past
tense of the verb EXC gnd the past tense endings

are as followse:

The Simple Past Tense

Yord Sten gnd Endings Indings
1. eixa EIX - @ -a
2. eixec EIX - g¢ - &C
3. eixe EIX = ¢ -
1. eixape EIX - ape - ape
2. ejxarte EIX - ate - ate
3. eixav EIX - av - av

All Greek verds consist of twe parts, ZThs siem,
vhich carries the bdasic msaning of the verd, and
the endings, vhich carry the additional meaning of
person, number, and time, i.e. vhether g cersaia
action took place in the past, is taking place ia
the present, or is going to takes place in the future,

Yor reasons of conveniencs ws are going to designate
2 stems to each Greek verd, Ve shall call the stem
of the verdb, as appearing in the present tense, he
stem of the present., We shall call the slightly

different form of the stem as appeariag ia the simple

past tense the gieq of the simple pagt,
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(d) The stem of the simple past of most standard Greek
verdbs whose present tense stemends ina Z oran ¥
is formed by substituting a Z for the Z or ¥ of
the present tense stem ending, Examples:

Yerd Eresent Tenge Stem Simple Pgast Stem
Ending Ending
1. GlaB&;m 6i1apaZ 8i1apal
2. onovbaZw onovbaZ onovdal
3. vonuazgco voixtaZ voixsaZz
4, a.yo pa.z_’,m ayopa.Z a‘{opaz
S. wany tZw xamnv 1z xanvid
6. apxl?;w apx1Z apx 13
7. PPOVTIZW ppovTiZ epovTiZ
8. xkeww XAEIN XAELZ
9. cpea.vw oOaN ¢6alZ
10. TEAELOVOD TEAE LN TEAEIWS

() In the simple past all regular Greek verbs are
stressed on the third gyllsble frop the end. This
shift in the stressed syllable is such an important
feature of the Greek past tense that in two-syllabls
verbs the augment ¢ is placed at the begimaing of
the wverd to provido the neocessary third syllabls,

Zxaupleg:
Verd 51apaZw
Present Simple Past Ending
1. btapazw 1, Gmﬁaaa -a
2. Gtapazetc 2. 61apaceg -8¢
3. Gmﬁa.?;et 3. Siapace -g

1. 5sa(3a§ope 1. bsaﬁaoa.p.e -ape
2. bmpuze'ce 2. Glaﬁcwa'ce -ate
3. 6r1aBaZovv 3., 6iapacav -av

Yerd KAELVEW

1. xxewm 1. :éxxewa
2. xlewe:c 2. gxkewec
3. wAetves 3. EXAEtOE
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- (2)

(e)

68(a)

(l r'
1. xAevope 1. xAetoape
2. xle;ve'te 2. xAeiocarte
3. xAeivouv 3. ExAcsoay

In some verbs like the verd VOINIGZw the stressed
syllable in the past temse is the first syllable
NOI., In cases like this, where superficially the
4th syllable from the end seems to be stressed, the
student should realise that the syllable KIA of the
verd vom’;% © is one syllsble, The vowel I
serving s the purpose of showing an alteratien
in the quality of the comsonant, ia this instant the
consonant I (it imdicates that X 1s Palatalised, §,¢,,
the blade of ths tomgus touches the palate),

All verbs listed im 67(d) are ted like the
verd Gnaggs' ® or 1ike the verd xAcive in their
simple past tense,

FPeminine Nouns im ]2, There is a large class of
feminine nouns accented on the third syllable from
the last and ending in 12 which are freguenily
spelled with an H ending iasteal of an 12 eading,
by modern writers. Either spelliag is cerrect., The
plural fora of these nouns differs from that of the
ordinary femimine nouns eading in H (11ks the werd

TN aSeAp?), The declension pattern of femimize
noun ia IZ (and their variant iz H) is given below,

Note that both variants form their plurgl ths sems

vay,
Singulgr
Traditiongl form Modern form
Bom. 1 Epfrmoig n_&pgrmon
Poss. fjc gpuThoew ¢ gpdtnong
0. ~tnv epartnov TV eprtnomn
J
Plural
(Same for beth forms)
Sem, ot 'pmvo' e8¢
Pess, <&y ZQGmuw
onJ. Ti¢ eputhoei¢
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(b) All feminine nouns in H accented ~n the thira
syllable from the end fall within this category.
4All such nouns have amunterpart in J2.

Exanple-' layosgn, 1'1 egpu.a.vcm, I 'mlj:opacm,
n egatpeon, T _doxXnomn, 1 avean, ete.

(e) Feminine nouns in H accented on the syllable before
the last may or may not belong in this class., The
relatively few nouns of this group, most of thenm
two=syllables nouns, will be listed with both the
H and IZ ending so the student can claseify them
accordingly. The following two :yllable feninine
nouns in _H‘ 'belong in this class: IL"“QI’ l otaomn,
n XeEn, N 6€on. New ones will be lishd as they
appear in subseguent lessons, The word

will be declined below to serve as the de on
pattern of nouns of this class,
Singular
Trpditional pattern Modera pattern
Nom, n Tagi¢ | | N TaEn
Poss. ~fi¢ taZew 'rgc TaEng
Oobdj. v 'rag Y Thv 1Tazn

Plurgl
(Same for both forms)

Nom, ol Tagetc
Poss, v 'l:a.ge(w
Obj. <i¢ TaEer¢

(4) Street sigas and other official sigms in Gresce
are likely to follow the traditiomal, rather than
the modern variant of these vords, Hence the
words 3TAXZIZ, AKPOIIOAIZ , ete. on street signs.

(e) The declension pattern of nomns of this class shows
the following stress shifts: (1) Houns comsisting
of only two syllables in their basic cass (the
noninative) retain the stress on the sams syllsbls
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in all cases of the singular and of the plural,
The addition of an extra syllable im the possessive

case of the singular (traditiomal form) and of the
plural (both forms) does not alter the position of
(See example in 68¢c),

the stressed syllable,
However, (2) nouns consisting of mere than two

syllables —— and their stress imevitably falls en

the third syllable from the emd in their dasic case

~—— undergo the following stress changes:
shift their stress on syllable down in the posses—
sive pattern) and also in all cases of the plural,

Again, the addition of an extra syllable in the

They

possessive case of the plurgl does not alter the
stressed sylladble,

Nonm,
Poss,
obJ.

A v
Tact

n_ragi¢
(two syllables)

N T8E¢
¢ Tagewg
™mv Tagv

A I d
ot Takeg

Poss, 1lv taZewv

ObJ.

Ti¢ TaZer¢

'

4

[ |
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€

(more than two syllables)

>

n
Tijic
™y

3
ot

't&iv;

TiC

gootmoi¢
Fputnoeng
epTnov

gputhoes¢
ewv
EpWINCELg

]



69 (a)

(v)

(c)

LESSON 22

GRAMMAR ANALYSIS
'PAMMATIKH

The past tense form of the irregular verd AErg is
EIIA; 1t is conjugated as follows:

1 ei_‘na 1. I told
2, EiTEC 2, you told
3. eixme 2, he told
1. eimape 1. we told
2, elmare 2. you told
3. einav 3. they to'd

The future tense form of the verd AETR is A IIQ,
It is conjugated as follows: '

1, 9(!. p {0 1, I'11 tell

24 Ga. nfi¢ 2, You will tell
3. 6a 7ff 3. he will tell
1. ea noUpe  l. we will tell
2. ea. nfjte 2, you will tell

3. 64 mobv 3. they will tell
The infinitive and / or the subjumtive form of the

verd to tell -« or of any other Greek verd -~ are
identical, They are conjugated exactly like the
future with the exception that the particle va
instead of the pe.rticle ea, precede the verb, Note:

Greek

to tell

[ ]

<
Q
-]
(o]
(]
<
™

W W
[ Y
< <<
QQQ

, A3
7

<
Qe
3
qQ
™

N
<
R
=
o
(=]

72



(d) The imperative form of the verb AErR is [IEZ for

the singular (the informal way of address) and [IJITE
for the plural and the formal way of address (& de-
tailed discussion of the imperative will be given in
subsequent lessons), Please note that the promoun
followe the verd in the imperative, Examples:

1. [é¢ pov T@ véa, 1. Tell me the news, Costa,
Kwota,. . .

2, IHjte pov ta vea, 2. Tell me the news, Mr,
xUpLe MeAd, | Melas.

3. I'hj'te pov Ta vea, 3, Tell me the news,
xVplot, gentlemen,
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70 (a)

(v)

(e)

LESSON 23

FRAVMAR ANALYSIS
T'PAMMATIKH

The simple past tense of the verb BAZR (to put,
to place, to set) is EBAAA, It is conjugated as
follows:

Simple Past
1. ':t-éﬁaka 1. I put
2. 55‘17\3€ 2, you put
3. ERaxe 3. he put
1. Baiape 1. we put
2. ,a7\a'te , 2. Yyou put
3. €Baiav (Barave) 3. they put

The simple future tenmse of the verb BAZQ 1s8A
BAAR, It is conjugrted as follows:

Simple Future
1. 64 parw 1, I'11 put
2. 6a Baing 2. you will put
3. 8a Bain 3. hte will put
1. 6{1 ﬁc:ﬂmu.e 1. we will put
2 eg. Bgle'ce 2. Yyou will put
3. 6a Baiovv 3. they will put

(8a paiovve)

The imperative forms of the verb BAZQ are BAAE
for the singular (the informal way of address or
of commend) and BAATE for the plural and the
formal, Examples:

Greek English
1. PBake Tpanéys, 1. Set the table, Maria.
Maptia.
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72

2. Taite ’UG. 'rr'rpmxta 2. Gentlemen, put your
oag oTo 'cpa'nez;t, caps on tha table.
x0pLol.

3. Kupte liavg, @-&K- 3. Mr, Panas, put your paper
TE ew.et 'rnv eQN~ there,
peplﬁa lofo X

The simple future tense of any active verb -- regular

or irregular (exceptions are rare) — is formed by at-
taching the endings of the present temse to the stem

of the simple past. It should be remembered however

that the vowel £ which is often used as an augment to
provide an extra syllable for the stress to move up inm
the past tense is not & part of the stem. gﬂeviet #674
‘l'hus. the simple future tense of the verbs aexlgm, oia-
Ba&m, AAELVQ, vmxlaz;co, ayopa?’m TANIPOVW, ete.
yhose simple stems are agx;z, 51 aBal xAerZ, voixiaZ,
qxopa.Z‘.J n?\nemz etc. wonld he. ea au;gm QQ—LQM
8a xieiow, 6a_ Voinlaow, a_ayopasw, 8d TATIOWO W,

etc. The simple future tanse of two typical regular verds
is conjugated as follows:

Verbs: IiAHPRNQ ATABRAZQ
Stem of Present: IIAHP2N AIAEBAZ
Stem of S, Past: [IAHPQZ ATABAZ

Simple Tuture Tease

1. eg TANPEo®
2. 0g nlnomng
3. B8a mMAnpiom

ea. 6 taﬁaom

ea G;QEcz.cmg
ea &i1apaon

1. 8a nlnowomp,e
2. ea nlnpmce'te
3. 9a mAnpacovv(e)

ea 6 taﬁaomp.e
ea o) naﬁace'l:e
ea 6rafacovv(e)

W WM

The infinitive and[ or the subjunctive form of ,aay verd

is formed like the future with the particle va., instead
of the particle ©Oaq preceding the verdb, Examples:

vo. 7r)\n'.>onm
va. e} ta"aom
vé maw
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The simple imperative (command form)/ of all regular vsrbs
-~ and of many irregular ones, too -- is formed by adding
the endings € and tg to the simple stem of the verd, The
ending € givec the singular and informal wvay of command;
the ending T& gives the plural and/or the formal way of
command, lzanplel.

Yerd Simple Stem lmperative

of Verd Singular Plyrai
61afazgw §1apac- 61apaoe 5iapaote
Axnpwvw TATPWO~ nlnpmoe fAnpllote
HAE tvw KAEIO- xAetToe wAE To;re
VoIx1az yoixiao- yoixiage  yotxidote
ayopazm ayopao- ayopace ayopacte
BaZw pan - faie BaAte
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(v)

(e)

(e)

LESSON 24

GRAMMAR ANALYSIS
PPAMMATIKH

The past tense of the verb BAEIIR ‘to see) is EIAA,

It is conjugated as follows:

English Greek

1. 1 saw 1. e,;,ba

2. you saw 2. e;éec

3. he saw 3. eide

1. we saw 1. eaﬁap.e

2, Yyou sav - 2. &eibate

3. they savw 3. &i1bav .

The simple fyt ens the verb B is

(or 6a uGES. It is oconjugated as follows:
English Greek

1. I'11 see 1. 64 63

2, you'll see 2. 6& 67¢

3. he'll see 3. e6a &7

1. we'll see 1. oa &olue

2, you'll see 2. 6a &fjte

3. they*ll sgee 3. 6a 6odv

The infinitive and/or the subjunctive form of ths verb
EAENSX 1s conjugated like the future with the particle
va instead of the particle ea preceding the verdb,

The imperative form of the verdb BAENQ is AEZ fn

the singular (the informal way of address) and AHTE
in the plural and the formal way of address.
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75 (a) The subjunctive form of the verd is the form used

when we want to ask permission, or to make a request.
In such cases the subjunctive form of the verd 1s
used as the main verd in an interrogative sentence,
The response oan be given either in the subjunctive
form of the verdb or in the imperative, The follow-
ing Inglish questions and answers, and their Greek
equivalent, should make this point clear,

Eaglish Greek
l. May I smoke? You 1. N& xamvicw; N& xamvi-
_ may. oete (OR-xamvicted.

2. Shall we read 2. N& 6iafbowpe avtd
this book?! Yss, o BifAto; Na 7o
you shall. 51aBacete (R-51apacte

T0).

9, May I buy this 3, N& &yop&om’aﬁ'gé,'cé
book? Yes, you BiPAio; Na go ayo-
nay . pacete. ( OR=-ayopaoTe

TO)s

4, Shall we close 4, N& xrefgwue & Tapa-
the windows? Yes, Bupa; Na T& xAieicete
do, (OR=- xAeToTtEe 7Ta@) .

5, May we watch TV? 5. Na bSolue TnAedpaon;
Yes, you may, Na &67fte (ORB=&fjtels

6. Shall Ibuy this 6, N& ayopdow adTd,Td
suit? Do. xooipl; N& 16 ayo-

pacete. (OB-ayopaote
Tok
7. May I see your 7. Na 83 Tol¢ Radpoi¢

grades? You may,

78

cac; Na tol¢ 6fjte (OR=

&1jte Toug).



(v)

(c)

8. Shall we clean 8. NG xa@apiocwpe THY |
the classroom? Tagn; Na Tnv xaGapioete
Yes, do, ( OR-xabapiote Tnv)

It should be noted that when a personal pronoun
ie used with the imperative form of the verd as a
direct or an indirect object (or both) it follows
the verb and is unaccented. Examples:

tell me 1t§c pov (xnffte pov)

ses him Geg tov (&fite Tov)

read her - §tapace wn¢ (6iaPacte Tn¢)
buy it ayopace To (ayopacte To)

. When personal pronouns are used both as a direct and

an indirect object with the imperative form of the
verb, it is customary for the indirect object to
precede the direct. They both follow the verd,
however, Exeamplés:

read it to me 61aBdote pov To

tell it to them ;tﬁ'te"cooc To
buy them for her AYOpAoCTE TNC TaQ
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(v)

{c)

(a)

LESSON 25

GRAMMAR ANALYSIS
PPAMEATIRH

The past tense of the verb PPIZKR (to find)
is RPHKA, It is conjugated #e follows:

Greek English
1. Bpina 1. I found
2. Bpfineg 2. You found
3. PRpfne 3. he found
1. Bp.nx ape l. we found
2. Pphnate 2, yon found
3. Bpfinav 3. they found

The future tense of the verb FBPIZKR is ©A BPR.

The infinitive and / or subjunctive Torm i{s NA BPQ,
They are conjugated 1ike the corresponding forms
of the verb AErR (64 78 - vd 7nd) viz. 88 fod -

va EE!Q etc. See #74 b.

The imperative forms of the verbd BPIZKQ ere .@.LC -

EQ“’L’E.

The verb I'PIJKQ takes a direct object or a direct
and an indirect object together., The word follows the
patterns described in detail in #53 f and in #75 e.
Examples:

Greek English

1. Mol Bpfixe omiti.l. He found me e house.
2. @4 cag Bpé") 'EO 2. I'11 find you the book

Bi1RAlo TobL 6f- you wont,
AETE .
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S,

Bpfite pou,pid
EAATVIXT] EQNUE~
piba, od¢ mapa-
®aAB.

Bpé¢ pov Ta

10 1yapa pov, Kiorta.

Xaoate T& xAe1bi1a

I 4 ~ I d
ca¢; ©a od¢ Ta

Bpd.

81

3.

L.

5.

Find me & Greek
newspaper, please,

Find me my cige-
rettes, Costa,

Did you lose your
keys? I'1l find
them for you.



77 (a)

(v)

(c)

(a)

LESSON 26

GRAMMAR ANALYSIS

TPAMMATIKH

The past tense of the wverbd

AINR is EAQIA, It

is conjugzated as follows:

W N WD
.

Greek

”»n
ebwoa
”

gém £C
edwoe

saoape
SwoaTte
0

ebwoav

1.

2.
3.
1.

2.
3.

The simple future tense of

English

I gave
you gave
he gave

we gave

you gave
they gave

the verb AINR is ©OA

A2,

The infinitive and/or subjunctive form of the verb

Greek

ea ngsw
8a 5Gong¢
Ba Swomn

0a bdowue
Gg 59)05'1:8
68a Hwoovv

It is conjugated as follows:

Engzlish
111 give
you f1ll give
he 11 give
ve 'l give
you '11 give

they '1l1 give

(M2 is NA AVER

future. See #72 and #74 (e¢).

It is conjuszated like the

The simole imperative form of the verdb AINRQ is

in the singular and AQJTE in the plural.

ACZL
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(o)

(r)

78 (=)

The verb AINQ 1s usually accompanied by an indirect
as well as a 8 a direct object.

1. Hozoc gol t6woe avTd TO PoAOL

Examples:

0 nawepac pov pol To Ebuwoe.

2. 94 7ol sbow Td BiBAiQ pou dmdye.

3. 9a vfic Sbowue THY Egnuepida e.

4. 84 1obd¢ bloouv T& MEprobing Tove.

In the imperative both the direct and indireet object

pronouns follow -the verb.

Examples:

1. ABote pou To LiPAio.
2. ABote wn¢ Tév avanthpa.

3. A0ce Ttov THV E¢nuepida.

ﬁeuter nouns in 0J.

meaning weight and year respectively) will be given

below, Please note:

Nom. & obJ.
Possessive

Nom, & Obj.
Possessive

Singnlar

10 Bapog

They are unaccented.

Allote pov 7To.

Allote Tn¢g Tov.

Allce oL TV,

There 1s & large class of

neuter nouns ending in 02 (like the word TO BAPOZ)
with a declension pattern all their own,
should be particulerly careful not to confuse these
nouns with masculine nouns in 02,
should be his clue,

The student

The article 10 - TA
The decleunsion pattern of two
typical nouns of this class ( TO 3APO3Z, TO ETOZ,

10 FTOQ

100 Bapove Told FToug

Plural

Ta papn

TV Bapdv

83

Ta etn
Thv ETdv

Endings

~-0C
-0Vv¢

- Qv



(b) It should be remembered that the neuter form of
adjectives should be used when noung of the above
class are qualifisd by adjectives, Examples:

TO peydro Bapoc T veoly) Eroc
Ta peyaia fapn TG VEa &1N

NOTE: The word poAds can be written with or without
dizcritical marks /** / over the vowsel ;. Examples:

PoAOL, poAdY.
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LESSON 27

GRA’MAR ANALYSIS

TPAVMATIN .

79 (a) Active an? passive verbs. An active verb is one in

(v)

(c)

which the subject is the doer of the action indica-
ted by the verb. Greek active verbs generally end
in %, Examples:

raiZw, §1afdZw, yolow, peietd

A passive verd is one in which the subject is not
the doer, but tae recipient of the action indicated
by the verb. The doer of the action, or the agent,
as it 1s generally called Yy grammarians, is not
the subject of a passive verb. This agent is pre-
ceded by the word by in English, It is preceded

by the preposition AII0 in Greek, Gresek passive
verbs generally end In-QMAI, ~-GYMAI or -IEMAI,
Examples:

RANpivouat, LTMoeToduas, uetpifpat.

To change a verb in a sentence from the active voice
to the passive voice the sentence has to undergo
severul changes. Pirst., The subject of the active
verb becomes the agent of the passive verb, Since
in Greek the agent is preceded ty the preposition
ané it changes from the nominative case into the
objective case (the object of 2 preposition), On
the s2ther hand, the object of the active verb be-
comes the subject of the passive verb, So, hasre

we have the reverse change, The object noun or pro-
noun changes from the objective case into the nomi-
pative case. The following examples should illustra-
te these changes:
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English Greek

Active. The bank pays I TpGrega  TAMPRVEL
my brother. Tov a8 eAgo ucu.
5
i Passive, My brother is e aﬁs)\cpog Lov ‘nknpu)-
i poid by the veTal anc ThnyV 'tpavregz.
| banko

Active. Thc doctors exam=- o1 Yta'tpof E&fe'tééouv
ine the patient. = 7TCV QPOWOTO.

Passive. The patient is C‘ aoowo'cog eEeraZs'\:at
examined by the G.’ITO TOVC Yta'tpovg.
* doctors,

80 (a) Greek passive verbs have & conjugation pattern all
their own, They are not formed by the auxiliary
to be and the past participle of the verd, as is
the case in English., The conjugation pattern of
the verb IIAHPRNOMAI (to be paid) which will serve
here as a typical Greek verb in the vassive voice
is given below,

Verd IIAHPRNCMAI

English

: Present Tense indinzs Equivalents

i 1. ‘JI)\T]pwVOp.al -opat 1. I am paid
2. n?\npwv Ecat -goat 2. Yyou are paid
3. TAnpGveTat -gtat 3. he is paid

: 1. wAnpwv OpacTE -opaotel. we are paild

| 2. 'm\npwv €oTeE -goTe*x 2. you are paid

! 3. TAN pwv ovTal -ovtat 3. they are paid

i * An ending variant in - £06€ may frequently be encous
tered. Cne may hear TATPWVECBE = instsad of “7\”903‘
VEGTE, e&era};eo@e instead of ere'ta?;em:e,
and so on.
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(v)

English
Simple Past Endings Equivalents

1. mAnpdenxa -nxa 1. I was paid

2. nknpc'oenxec; -TXEC 2, you were paid

3. .TANpwenME -TXE 3. he was paid

1. mAnpweixape ~fnape 1. we were paid

2e AN PWeN®ATE -TMate 2, you were paid

3. TAnpwdnxav . -Tnav 3. they were paid

English

Simple Future Endings Zauivalents

1. 64 TAnpwed -8 1. I will be paia

2. 8a TANpwefi¢ -fi¢ 2, you will be paid

3. 8a 7mAnpwed -7 3. he will be paid

1. 6& mnpwdoBue  -obpe 1. we will be paid

2. 6a mAnpwdiite -fjte 2, you will be paid

3. 6a mAnpwsodv -olv 3. they will be paid

‘As in the active voice, varbs in the passive voice

have two stems, The stem of the present tense, which
is the same as the stem of the present tense of active
verbs, (it can be found by crossing out the endings -gQ
or -OMAI from the present tense of a verb) and the
stem of the simple tenses, The stem of the present ine
dicates a continuous, a recurrent, or an actually
progressing action, The stem of the simple tenses
indicates a completed or an about to be completed ection.
The sten of the simple tenses indicates a completed or
an about to be completed aétion, To find the stem of
the simple tenses in the passive voice a few simple
rules should be remembered,

1. The X stea ending of verbs in -QNOMAI or -AZOMAI

changes into & o, (In the active voice the K
stem endiag changes into a 3 ), Examples:
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81 (a) |

Yerd Sten Epding
Present TANPhvopa t TATPWN
Se.Fest  manpbena TANPLE
S, Future 84 mANPwES TATPWE

2. The Z stem ending of verbs in - IZOMAI or
of most verdes in -AZOMAI changes into IT or
into the older variant @), In the active the

Z stem ending changes into a 3, ZIExamples:
Yord Stem Ending
Prosent éEetdZopas dEetaz
8. Past - {drevtdotnna | ¢ gs-:ﬁz’r
8. Xuture 834 dzetaotd | dEetalT

There are several Greek verds which -- though not
striotly in the passive voloe — are oconjuzated like
Greek passive verbs, Many of these verbs are re-
{lexive, a term meaning that the action they perform
is for the benefit of the doer. The dosr does it for
himself or to himself, Most verbes of this class are
aotive intransitive verds in English*., The verd
ZHKRNOMAI (to rise, to get up, to stand up) is an
example in poiSnt, It is conjugated as follovws:

Verd D IIKQNOMAIL

An intransitive verd is onme that camnot take a direct
objest, Verds to rise, to laugh, to work, etc. are
active imntransitive verds in English,
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Present Tens S, Past S, Future

1. omddvopat onxdenHa 84 onuwbd
2. onxdveoai OCTUDOMKE ¢ 84 omnxwbfi¢
3. onxdveta onxdenxe 84 omw6)
1. ompwvdpaocte omwbAnape 84 onwuwboTpe
2. omdveorte onwbfinate 84 onwwdfite
3. omxbvovial onNUDeTHAV 84 onwbolv

(v) The verd EPIAZOMAI (to work) is conjugated like the
verd EEETAZOMAI. The verb AIZOANOMAI (to feel is
conjugated like the verd IHKRNOMAI in the present

tense,
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LESSON 28

GRAMMAR ANALYSIS
TPAMIATIRH

The irregular verb LEPXCMAI (to coms) is conjugated
like any other verd ending in ~-OMAI in the present
tense  (See #80a),

The vast tense of the verd RPIOMAI is HPRA., It
is conjugated as follows:

1. hHpdax 1. Tpfape
2. fhpoec 2. nptate
3. Nple 3. nolav

The futurc tense of the verbd u:DPXOMAI 1is 0OA LPORKR.
It is conjugzated as follows:

1. 64 Epduwrx 1. 6a EpGoupe
2. 0a epON¢ 2. €a epbete
3. ©6a eptn 3. 0a epbovv

The subjunctive and / or infinitive form of the verbd
LPXOMAI  1s conjugrted like the future tense with
the particle y( preceding the varb instead of the
partiole 64, =

In the future and the infinitive (or subjunctive)
forms of the verb LP{CMAL (04 ¥plw, va Fplw),
the particle 0& or vq 1is usually fraed with the
initial vowel of the verb to produce the following
combination:

Future
1. Oapdd®d 1. fapboduc
2. 6aphn¢ 2. Oaphiit=s
3. Oapif 3. Oupfrodv

The variant %))\()a will Also %e cncountered.
The variant 64 €AB8w will &lsc be encountored.
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(f)

83 (a)

(v)

84 (a)

(v)

Infinitive or Subjunctive

1. vapdd 1. vapOolue
2. vapbi¢ 2. vapBfjte
3. vapon 3. vapBoiv

The imperative forms of the verb EPXOMAI 18 EAA
in the singular and EAATE 1in the plural and formal
(See #51).

The past tense of the verdb AIZAANOMAI (to fesl)

is AIZ2ANAPHKA, It is conjugated like the past tense
of the verd [IANHPRNOMAI with the difference that the
stem ending of the verd is NO instead of ©® (contrast
AIZOAN®- with [IAHPR®-).

The future and infinitive (or subjunctive) forms of the
verb AIZOANOMAI is OA AIZOANER, NA AIZQANGSK,
Agaln, the endings (- &, ~-fij¢, -, etc.) are attached
to the stem AIZBAN?~ 6 the same as the past tense
endings attach themselves to the same stem,

Comarative degree of adjectives, There are two ways

to express the comparative degree of adjectives in
Greek, One way is by placing the word III0 (more)
before the adjective. Examples:

(:)pg.i'gg beautiful v
1o wpaTog mors beautiful
YmAdE | tall

1o yMmAog taller

XaAo¢ . A good

10 xalo¢ better

To state that something is bdigger, or taller, or
Doorer than something else, the preposition ATIO
is used in Greek, Since it is a Preposition, the
noun, adjective, or pronoun following it should be
in tho objentive case, Examples:
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English Greek

1. Georze is taller 1. L Tadoveg aiver 716 il

than John. akc TG L 1AVYiie
. 5

2, Your dog is more 2. L o,wkcg gcu €l JC1 TS
beautiful than my dog, (-;-ul'-; arc_te "YL?O__L*CL.

'3. ¥inter is colder 3. ¢ Vel ngag €1val 718
than spring. %x000¢ QT o ThV_QVolEn.

4, My brother 1is 4, ‘¢ aorxcpog gpouv eivar T1é
taller than I, ymAaée and (Eufva.

The paramount rule of adjectives agreeing with the nouns
they qualify in gender, number and case should not be
forgotten whon using the comparative degree of adjectives.
Examples:

1. I know the taller 1. ~epco 'tov mo \m)\o and
of the two dbrothers, 'coug 500 aéelmoug.

N
.

Spring has warmer 2. "i avou‘-"n exen mo 2;5-
days than winter. otEe¢ p.epeg and 1o ,(Etp.wva.

The superlative degree of adjectives is expressed by
preceding the word [II0.-used in the comparative degree
-~ by the approoriate article, ZExamples:

l. George is the rich- 1, C I"l:oovog eival O Tid

est man in Athens, TAOUT 1 OC avﬁ‘-pmog gTnyv
AOT‘}VO..

2. New York has the 2. 11 Ngg ° Yo pxn Exer 1a
tallest buildings T10 WMAQ xTiota CTHY
ia America, ApepIuM.

3. The hottest days of 3, (i 7.:¢ _,gc'csg ueos,, Tct
the year are in YOOVGL Elvat Tev  Io-
July. v Ao,
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LESSON 29

GRAMMAR ANALYSIS
'PAMMATIKH

Comparative and superlative degrees of adjectives formed
by the addition of endings, The comparative and superla-
tive degrees of adjectives cen be formed not only by
Preceding the adjective by the word III0, They can alse

be formed by attaching the endings -OTEPOZ, -OTEPH,
~0TEPC to the stem of the adjective, Examples:

Pogsitive Comparative Superlative |

1. c:npaf- o¢ wpa- OTEPOC {) c:opat- Stepoc
weal- a @pat- Stepn M @pai- dtepn
wpafl- o wpat- oTepo TO Wpai=- oTEpPO

2. pixp~ &¢ kixp=- &TepoC © Linp- oTEPOC
pixp- A BiXp- OTEPN  T) pixp- drepn
LiXp- & HIXp- OTEPO  TO pinp~ STepo

3. gupip- o¢ éxpzﬁ- oTEpOC {> @rp1p- oTepoc
gxpifa 1) gePIB- otepn 7 awpif~ Srepn
axpif- o axpsf- otepo 7O axpip- otepo

It must be moted that the superlative degree has the
identical endings as the comparative degree but the aj-
Jective is preceded by the appropriate article, (see
Preceding examples),

The endings - OTEPOCZ, ~CTEPH, -CTEPO become ~&TEPOZ,

-YTEPH, - RQTEPQ (a matter of spelliag, not of promua-
ciation) when the last vowel of the stem happens to be g

or O. Examples:

» p [ 3
1. vé- oc ve- dtepog Q ve- @tepog
vé- a ve- Gtepn N ve- drepn
vVE- o VE- OTepo TO Ve- @tepo
2. oo~ &¢ coo- '::'repog {3 0oP~ @Tepo¢
oo~ 7 cog- Gtepn T cop- éf'v:epn
cop- 0 00p- GTEoo TO 0oe- Qrepo
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Irregular comparative and superlative degrees. The follow-

ing adjectives form their comparative and superlative
degrees irregularly as follows:

Dositive = Comparative =  Superlative
1. xaxcg xakuTepog é xaluteoog
xaxn xaxurepn n xakcrrpn
®aA0 xakurepo 1o xalvtepo
2. naxd¢ .. XEe1pdTepoc o XEtpOTEPOL
xax)) (xax1a) X €100TEQN N XE10OTEPN
Xaxo X €1 00TEPO TO XE100TEDO
3. ToAD TEPLITOTEPOS é MEPLITOTEPOS
TOAAT TENLICOTEPT n repnooorepn
TOAD nepuooorepo TO nep;oootepo
4, peyakog peYakvwepo; é ueyalotepog
peyakn peyakurepn 7 ueYalvT;pn
peyako uEYaKUTCpo TO psyaKUTcpo

When using the superlative degree of adjectives the noun

or phrase coming after the adjective is either nsed with-
out the prepositien AIIO-in which casze it is in the
possessive case « or it is used with ths prenosition AIlO
folloved by, &s appropriate, OAou¢ 'roog, oXec 'ng,
oAa Ta. Quite frequently the preposition IE in all its
possible combinations with the article is used imstezd of
the preposition AIIO, especially if a singular =noun forms
the second part of the comparison, Examples:

English Greek

1. ‘o mtloc gov euvat o
eKUﬂvoteoog naentng
to0 oyoAectiov pace.
-He
2. ¢ otkog pou e;vat o
eFUnvo*eoog uaentng CTO
OYOAEZTO pac.

My friend is the most
intelligent student
in our school.
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3. :O ¢idog pov, eival o i

EEVTIVOTEPOC ANO OAOUE ToOC

pabnrtac Tol oxoAretov pac.
(010 oxoAeto pac),

1. Eigve, o xarbrepoc &vepwroc
to8 woopov.

”n
5 - lj- ]
. You are the (best) 2. Elo1te o XAAVTEPOL &vepmoc
kindest person in OTOV %O0pOo.
the world. ”He

. 3. Eigte,o xaA0Tepo¢ an’ Ghov
'coug avepwnovg oTov XOOUO,
i .TOU xoouov),

89. The comparative degree of adverbs is formed 1ike the compa-
rative degrae of adjectives, with the difference that adverds
of quantity take the meuter singular form (-0TEPO, -2TEPD)
of the adjective while adverds of manner take the nsuter

plural form (-OTEPA, -QTEPA), Irregular adverbs have
the corresponding irregular forms in the appropriate adjective.

Examples:
Adjective Adverb

1. MIAD xarbtepa eaamvi- 1. MiAB naidtepa thoa.
xa ano ofc.

2. “Exw TEPIOTOTE ec, 2. Meret® meproodtepo axd
wpe¢ padnua amo 7o To I'tavvy,
Fiavvn,

3. "Exw Goxnuo wpvord- 3, Elpai xpoapévo¢ Goxnpa.
YMia.

4. TMpa x§&¢ Xe1p0TEpO 4, Inyaive xeipdtepa otd

: BaBuo amo mpoxoéc, npaénuata pov,

5. At’J"t{) To nodhhato xo- S, Adtd 1 nobNAaTo x00Ti-
OTiZet AiydTepa Soh- Ze1 AiyoTepo,

Aapia and T6 airo,
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90 (a) Adjectives in 0z, -IA,-0,A few adjectives in -Cz,

91

* Several other adjectives in “X0¢, =-yYno¢, -X0¢, -vO¢ follow
the same pattern, but do not constitute a basic vocabulary

to bq included in this bool:,

(b)

form their feminine In -TA rather than in _j.
The most important adjectives of this class are:

ékawgég éla¢p}& EAappd
Eaveoc¢ EZaveia(&aveh) Eaved
yAuxog Yluxga YAUXO
xaxogf xaxia naxo

paiaxog paiaxsa paiand
PpEOHOC PpEOK LA PpEoAO
PTWYOC PTWX 1 & PTWYO

With the exception of the irregular adjective HAOEC ~—=

which has already been explained —— all other adjectives
of this class form their comparative and superlative de-

grees the regular way, Examples:

L4 .’ ? » 13 )
§Aappdg §AappoTEpPOC o §la¢p&repoc
ghagpia EAaQPOTEPT) 7 elappoTepn
eAagpd ehagpdTepo TO EAaQpoTEpPO
@pEcHOC PPEOAOTEPOC O QPEOKOTEPOC
ppéoxia PPEOHOTE PN T PPECKROTEQT
PPEONO $PEOAOTEPO TO PPECKOTEPO

The irregular adjective [IOAYS - TIOAAH - TIOAY
is declined as follows in the masculine and neunter
gender: (The feminine form IIOAAH 1is declined 1like

the regular feminine noun ﬁ &557\(9{)).

Singular
Maaculine Neuter
'Nom. ("» 7[07\13C TO MOAD
POSS.
Obj. TOV TOAD TO TOAD
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(b)

93

Plural

L
Xlom. ol ToXhol T& ToAMG
Poss., TV TOAARY TV TOoAXTv
Obj l. rd ' d I'd
. TCcUu¢ ToAAOUC Ta4 TMOoAAQ

Most adjectives car take the ending -TATCGZ, -TATH, -TATO
to indlcate that they possess the quality expressed by

the adjective to a very high degree, No comparison is
indicated., In English the word very preceding the ad-
jective serves the same purpose., Examples:

Englich Greel

1. He has a very beautiful 1. ".Exe; tva &)pazc')'ca'to
house, . GRILTE,

2, These tomatoes are very 2. Afg'rsg o; v'toucfceg
fresh, etvat cppeoxo'ta.'reg.

3. Mrs, Smith is very in- 3. H xupla Zuis eivat
telligent. eF UMY o'ca'm.

Adverdbs take the énding ~-TATA to express the same idea.
Examples:

1., He speaks very well, 1. X128 Eopa; otata.
2. He answers very intel- 2. Anavtd %gunv&ta'ta.
ligently.

3. George eats very lightly. 3. ‘O’T'u"ép-rog ’tp(:)!-:l eAa-
GCOTATA.

The irresular verb MENS changes its basic stem MEN
into MEIN- in all simple tenses. It is conjusated as
follows:

Present Simple Past Simple Future
1. péve 1. Epciva 1. €5 peive
2. pEVELC 2. Epeiveg 2. Ga pe-vng
3. peven 3. turive 3. 6a petvn
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1. pévoue -ovpe 1. peivape
2. pEvVeTE
04
3. pevovuv

1. 6a psfvmge ~OLUPLE
2. pervate 2, fa peLvete
3. gpgivav 3. 6a peivouy

Simple Imperative

petve pEIVETE

Tha verb METAXEIPIZOMAI --(to use)-- is conjugated like
the verb EPIAZCMAI. Its main tenses are: HETaxELpt Lo

Rat -- petaxetplotnxa -- 6& (v&) LETAXELPIOTS.

The verb METAXEIPIZOMAI takes a direct object,
Examples:‘

MeTaxeirpiZopar moAd o AeEind pou. |
O x. A.... 6¢ petayxeipioTnxe THY Téva Tou onpepa.
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The irregular verb IIAIPNR (to get, to take) becomss
ITHPA in the simple past and @A AP, NA [APR 1in
the simple future and simple subjunctive respectively,
It is conjugated as follows:

Simple Future
. Prasent Simple Past (or S. Subjunctive)
1. n&ip@'@ nflpa ec:z(y,c:r.) Tapw
2. MajpvELC. nfipec 0&(va) mapne¢
3. fHaipvies nfipe .8alva) mapn
1. nafpvope-ovpe whpape 8a(va) népmpe-ou;xg
2. maipverte :%pa'cs 0atva) mipete
3. Taipvouy nfpay 6a(va) mapovv

The imperative form of the verb IIAIPNR (IIAPE - IIAPTE)
has already been given in #51). :

The stem IIAEN- of the irregular verd [IAENR (to wash
somithing or someone) changes into IIAYN- in the simple
tenses, Therefors, the verb IIAENQ is conjugated as
follows;

Simple Future

Present Simple Past ‘or—s-, Subjunctive)

1. TAévw EmAvva ea(vd) midvo

2. mM\éveic EmAvve 0a(va) madvne

3. mAéver Emavve 6alva) madvn

L. mAgvoue-ovpe mAdvape 8a(va) mAdvope-ovue
2. mAéverte TAOVaTe 8alva) m\dvere

3. mAévouy EmMAvvay 8a(va) aradvouv

The imperative form of the verb IAENRQ 1s mAdve - 7Af-
VETE,
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It should be remembered that when using the verd IIAENQ
you usually have to use a direct object with it,

The intransitive counterpart of the verd LIAENQ is
TIAENOMAI (to wash), It is, in effect, a reflexive
verb becauses it shows that the subject performs the
action on himself, or for himself., The stem [IAEN. of
this verb changes into I'AY®~ in all the simple tenses
of the reflexive voice, The verb IIAEMOMAI is conju-
gated as follows:

Reflexive Voice

Simple Future

Present Simple Past (or S. Subjunctive)
1. 'JIM::VOth 11)\{')971710. Oé(vé) TAVED
2. TAgveoal TAVOTEC 6a(va) mAvefic
3. MAEVETQL TAVOTIHE aa(va) MALET
1. TAgvopacte TALO)xane 8a(va), Taveolpe
2. mAgveote TAVETHaTE eg(vg) TAvETiTE
3. MAEvovTat TALVONX AV fal{va) mAveolv

Simple Imperative

TADC 0V nAcefjte

The regular verbs HYPIZCMAI (to shave) ETOIMAZCMAI
{to get ready) and NTYNOMAI (to dress) are two more
examples of Greek reflexive verbds, Their counterparts
in the active voice (FYPIZZ and NTYNZ have to be
accompanied by a direct object and mean to shave (some-
one else) and to dress (someone else),

The verbs EYPIZCMAI and ETCIMAZCMAIT (to get ready,
to prepare oneself, are conjugated like the regular vefb
METAXEIPIZOMAI, Their principal tenses are: Zupi-
zopai - Evpilotnxa - 2a (va) Fupiowd, etospaZo-
nat - £ToludoTixa - 24 £161nactd
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The Simple Imperative of TYPIZOMAI and ETCIL IAnZCMAT

are:
’ -~
§UQIO’OU - gUQlO’TT}’L‘E

ETOLIACOOU = ETOINCOTNTE

The verb NTYNOMAI 1is conjugated 1like I[INHPRNCMAT,
Its principal tenses are:

vtovouat ~  videnxa - -84 (vE) vTuod

vl ey

The Simple Imperative of NTYNOMAI is-

[ 4 a~r
VTULO oL - yTULeTTE

Some verbs .in -{ accented on the last syllable are con-
Jugated in a slightly different way in the present tense
from those studied so far, Since these verbs are in the
minority, they will be so designated when they appear ia
a new lesson, A typical verd of this class is the verb

umopd (to be able to, ecan, may). It is conjugated as

follows: ’

1, p'ltop(7)~- A N 1. umnopofpe - ofpe
2. HTOPETEC - &T¢ 2. umopeiTe ~ efte
3. pumopetl - €1 3. umopolv - oly

The verbs o5myd (to drive) and EENyd (to explain)
are conjugated like the verd umopad.
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The simple past tense of the verb TPRI'Q (to eat) is
ESATA, It is conjugated as follows:

1. §<oaya 1. cpc:r.ya.p.a
2. toayeg 2. g¢ayate
3. Eeoaye 3. ‘eqayav

The simple future of the verd TPRI'S is GA AR, It
is conjugated as follows:

1. e{; Paw 1., Gt:z odue
2. 6a ¢dc 2. 6a olte
3. 6a ¢an 3. 6a gdve

The infinitive amd/or simple subjumctive ef the verd
TPRI'R 1is NA $AR, It is comjugated exactly like the
sizple future with the exception that the particle &
iastead of the particle gf precedss the verbd,

The simple imperative of the verd TPQrg is pae - odte

The simple past tense of the verdb IIINQ (to drink) is

HIIIA. It is conjugated as follows:
1. #ma 1. fmiape
2. nmieg 2. nriate
3. TNmie 3. Tnxiav

The simple future temse of the verd ITINQ is GA nig,
It is conjugated as follows:

1. 82 md 1. 6a mioBue
2. 68a Tifi¢ 2. 6a mifite
5a wiolv

3. 6a mif 3.

The infinitive and/or simple subjunctive of the verb
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Fitiew is 700 D0 i, It is conjugeted like the smple
future with the exceation that the particle v instead
of the particle 25 precedes the verb,

The simple imperative of the verb IIINQ is T1&¢ - TiT=-
TE, .

The adjectives FAPYS - BAPIA - T'APY (heavy, grave),
DAYl - [TAXTIA - ..n.\& (fat thick) and all other agd-
Jectives ending in -uc, -ta -G are declined es
follows:

Mesculine Feminine Neuter

13 I d
1. ¢ fapbe T faotd 6 faod
2. tob CGVIOU e fenidc TOU “agloﬁ
3, 1o(v) Rapv ™ facid & Bapv

(% [ 3
1. ot Rapioi ol Bapiécg Ta fapia
2. T&v BapiLdv va Baotmv TGM Baptwv
3. Tobg Faptoie Tic fapirecg Ta fapia

It should be noted that adjectives of this class indi-
cate dimensions,

The comparative and superlative degrees of adjectives

in -L-(_,_:ta -U take the ending -YTEPCZ, ~YTEPH,
-YTEP® (instead of ~CTPCE <, ='TEZPH, -7TEPO),

Thus the above adjectives would be: Y‘AP;;‘;‘ CZ, UAPi-
TEPH, FPAPYTEPC and [AXYTE®' L, < CALYTEPH ) [ AXYI’;_PC
in their comparative degree. Their superlative degree

would be preceded by the appropriate article in the usuwel

w.

The adjectives far"o' =-1a, -U (deep, profound,
pwaxots -14d, -0 (long), lrzfnv, 12, - (wide),
"(105"’ -1a, -0 (broad) ete, form their degrees
of comparison the same way. Their declension pattera
is 21s0 the same as the abceve. :
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The verbs

cvvo®d (to mean), and cupmwvd (to agree)

are conjugated llke the verb pmoo®m in the present tense
(See #99 a)

Normally, to change & verb into the negative we place be-
fore 1t the particle AE(N), However, if the verb is in
the subjunctive (or the infinitive form) and in the parti-
ciple the particle MII(N) 1s pleced before the verb,

Examples:
English

1, I did not eat early. 1.
2. He did not drink 2.

from this wine,

BUT

3. The doctor told me 3.

not to eat today,
k., The officer told his 4,

men not to drink this
water,

104

Greek

4 ” ' d
S8V foaya,vepic |
Agy NALE a QUTO TO
XPAC L .

4

va uf ¢aw onuepa,

0 aZiwuatixoc eime
GTOUC avTpeg Jou va
(v) mioBv avtd 75

vepo.,

¢ [ ~ 7
9 Yiatpoc pol eime
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The simple past tense of the verb [IHI'AINR 4s IIHTA,
It 1s conjugated as fellows:

1. 7fiva 1. T7iyape
2. mfiyeg 2. Tnyate
3. miye 3. nfivav

The simple future and the iafinitive or subjunctive
forms of the verdb IIHTAINR are QA IIAQ -- NA 1ag
respectively, They are conjugated like the contractes
form of the verb in the present tenss (See #3) and are
preceded by the appropriate particle, They are conjuga=
ted as followsa:

1. 6a (v3) mnée 1. 6a (va) mape
2. 6a (va) ndg 2. 6a (va) mdte
3. 6a (va) man 3. 6a (v&) rdve

The imperative forms of the verb ITHTAIND is TIHTAINE -
IHTAINETE, Twdve - médrte.

The present perfect tense of the verb IIHTAINR is EXQ
[IAEI, It should be noted that im the perfect tensas,
vhether present or past, orly the avxiliary verd EXQ
is conjugated. The form IIAET remains dachanged.,

» ld »” L d
1. exo Tae} 1. gxoue maet
2. EXENC TaE} 2. ¢exete Qe
3. exes maes 3. &exouv mael

The present perfect tense of any verb in the active
voice is formed by attaching the emding -EI to the

stem of the verb in the simple future (See above example),
The verd EXQ, acting as an auxiliary, precedes this
particular form of the verb and is the only member of the
pair that is conjugated.
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In Modern Greek the simple pest can be used instead of

the present psrfect,

However, if the speaker prefers to

use the present perfect, he should use it iu referring
to an action that occurred omcs or repeatedly at am un-
specified time in the past,

When the time 18 specified,

thar the simple past tense should be used, Examples:

1.

2,

3.

1.

2.

The irregular verdb [JARAINR

English

I have never been 1.
to New York,

I have been to New 2
York many times,

¥We haven't seen 3.
him,

BUT

I went to New York 3
last year,

We saw them twice 2.
last week,

Greek

» ” L d ” &
Agv EXW TMAEl TWOTE OTM
Nea Yopxmn,

"Eyw mae; TOAAEC QopEe
otn Nea Yopum.

Atv 1OV Exope Bef.

Ifiya oth Néa ' Yopun
TEQT L.

Tob¢ eibape 5uQ gopé¢
Tnv_Tmepacupevn eRGouada.

(to undergo, to suffer,

to have something bad happem to someons) becomss E[AGA

in the simple past,

It 1s conjugated as follows:

I d
nabape
Tasate
2”
eEnadav

The simple future tense of the verb [IAGAINR is ©A [A-
The infinitive and / er simple subjunctive is NA

These forms of the verdb are coajugated as fel-

lews, with the proper particls precediag the proper tenss,

1. :e:wraea 1.
2. ;?;'JTCLGEQ 2e
3. Eemaee 3.
0L,

Ilase,

i. 6a (vd) maew 1.
2. o8 (va) maene 2.
3. 6a (va) méen 3.
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(c) The adverbs 5eZ1d and Qpi10Tepd mean o the right,
or on the right hand side and to the left and or the
left hand side respectively, They are the stamdard
forms used im giving directions, Examples:

Greek English
1. T&' at’;;{:oxf\'m'ca 1, Cars in Greece keep to the
oV EA\aba mn- right,

yaivouv 5eZ1d.

2. To payaZj mod 2, The shop you're leckismg for

682\&‘.1:8 gtvat, is mext to the bank amd te
TAQt oTHV TpameZa the left.
apLoTEPQ. .

3. AeEia! 3. Right face!
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The simple imperative of the verd NARAINR is ngoe -
naeete.

Tho present perfect tense e¢f the verk [JARAING is gxm
Tabes.

The verb XPEIAZOMAI (to meed) is comjugated like the
r.gvulav- verd ETOIMAZOMAI Its principal tenses are:

Xpet&Zopar - XpELGoTXG ~ 8& (V&) xpetasTd.
It ic gemerally folleved by & direct object, the way the

verb METAXEIPIZOMAI is. Example: xpetaZopar Tod
BiBAio povu,

The sdjectives GeZfic, 6e&id, Sezi =md &pmfcepo
aploTepn, agw'tego. The adjsctive 5ernc, 1Q, 1
right. right handed) has a variant 55§;o§ 58%1&
§€§so whieh is frcquently used ag & Rour and means the

same thing as 5eg-qg ete, in the learmed, stylized, form
of Modern Greok. Hovevor. in both moderk and learmed

Greek 5cf1d¢c, S5eZ1é 5e 10 also meam & rightist, a
member of & rightist o les:

greek Eaglish
1. I"pa(pw pe To Se- 1., I write with my right hand.
g_ wov xépte
2. .0 6eEN¢ 6pouo¢ 2. The right-hand roed goes
Raet exel, there,
BUT

1. ‘o L A, e‘{va; l, Mr, A, is 2 rightist,
8eZiog.

The adjectiye apioTepds, aptoteph, & '%;cm:egé bas
the f'oniniu n;runt apICTEPA, e case of
6eEvo¢, SeZra, GegQ?QEF?gR apioTEpG means

the politiot.l left, The masculine neuter forms meax

beth Jeft amd 1l lert-handed as well as a leftist, a a _member
of the Elitiul left,.
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LESSON 34

GRAMMAR ANALYSIS
'PAMMATIKH

The Contimuous Past or Imperfect tense is a tense de-
scribing that a certain action has oeccurred repeatedly
in past time, The idea of the repetition of the oeccur-
rence ~ or of ite extension over a period of time --
is the paramount thing, If the ides of the completion
of the action is the importamt issue then the simple
past 1s used,

The con tien of the Contimuous Past erfect) tense
of active verbs ie very easy to learn bdecause the Con~
tinuous Past tense of standard active verbs (not the
contracted ones) is formed by attaching the endings of
the past tense to the stem of the present, As in the
case of the simple past tense, the stress moves up one
syllable, Where there is no syllable to accommodate
this shift, the augment € 1s placed before the verbd,
dccording to this rule, you should be able to conju-
gate any active verb you have had se far in the Centi-
Ruous Past tense, ~~-= In fact, you should be able to
conjugate any verb = known or unknowa —— ia that tense
because all verbs form their Contiruous Past tense out
of the same stem as that of their present tense. The
conjugation of two regular and two irregular verbs in the
imperfect tense will be given belew to illustrate this
polat, Verbe IIAHPQNE, XANR, [HTAING, and TPQI'Q
with stems [IAHP®QN-, XAN-, HHI"AIN-, and TPQI-
respectively will be used ag exarples,

1. m\Hpwva Exava Thyaiva Etpuya
2. M\ppwvec  Exavee TOYaivee  Etpuyeg
3. TANpuve gxave TNyaitve ETpwye

1. mAnpbvape XGvape Tyaivape Tpdyaue
2. mAppdvate ydvate Tyaivate Tplyate
3. TA\Npwvay  Exavav Tyaivay  ETpwyay

Since the use of the comtimuous pust ia Eaglish aad ia

Greek does met always follow the same primciples, a few
practical rules would make the correct use of this tense
eagsler, The first thing the studeat should remember 1is
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(o)

(£)

that the term imperfect, used interchangeably with the
term Contimuous Past tense, is very descriptive be~
cause i1t tells that this tense by itself is incomplete,
it cannot complete the mearing of the sentence. Another
verd (given or implied) is needed —- in addition to the
one in the Continnous Past = to complets the sentences,
Also, most frequently, & qualifying phrase such as when
1 was youngz, when I went to school, when we lived im
New York, etc, is also imcluded in the sentence., The
fellowing examples should clarify this point,

Greek English
1. :'O'rav Npovv oTflv le When I was in Atleme I paid
AdTiva mAfHpwva 3000 drachmes a moath reat,

3000 &paxuéc TH
unva voixt,.

2. Otav 'éxava T , %« When I missed my bus I walked.
AewpopeTo pov TN~  (went on foot),
yaitva pe Ta modia,

3. u?’ta\g E.évaue O'C'f) 3. ¥hen we lived in New York we
Nea Yopm;} Tnyal- often went to the theater,
Vaue ouvxva oTo
@tatpo.

4. T} pa Tplyate U, What time did you eat (used
TEQPT L ; to eat?

In English the idea of repeated action in past time is
usuvally given by the simple past, In Greek it is given
by the continuous past, If the phrase I used teo, placed
before the English verb, makes sense in the Engligh sen~
tence, then the Greek Contimueus Past should be used in
the corresponding Greek sentence,

Verbs indicating feelings or emotions have & tendency
to be used in the Contimuous Past tense more frequente
ly, the idea being that the emotion cevered a great
stretch of time, It wasn't a momentary thing,

The Contimucus Past temnse is also used te imdicate actien

going on and interrupted by another action that eccurred
ia past time, Im this particular use of the Continucus

110



Past tense there is complete correspondence between
the Greek and the English uses. Examples:

Greek

1. CTQV nxalva

01o gXOAETO g1~
da 16 ¢iro pov,

2. Thv wpa nou
adoape axou-
caue Ta véa otd
paﬁto¢mvo.
3. Ti Atyate Stav
oag e1da;

111

English

l., While Zoing te school I saw
my friend,

2, While we were writing we
heard the news over the
radle,

3. What were you saying when

I saw you?



111 (a)

(v)

LESSON 35

GRAMMAR ANALYSIS
I'PAMMATIKH

The verbs ANEBAINQ, KATEBAINR, MIIAINS, RTAINR,

The above verbe meaning to go wp, to come down. to enter,
and to go out respeciively, are all derivatives of the
same basic verd and follew the same (irregular) conjuga-
tion patterx,

The conjugation of the verd ANEBAINQ serving as a
pattern for the verdb KATEBAINS, and’ of the verb MIIAI-
NS2, serving es a pattera for the verd B[AINR are giv-

L bolow.
Present tense
1. gveﬁatvw 1. unauvm
2. gveﬁatveuc 2. unauvetc
3. avefaivel 3. umnaivel
4, gveﬁatvoue 4, uﬁa;VOpe
S. gveBalveTe S. pna;ve¢e
6. avepaivouvy 6, unaivouy

Comtimuous Future and Centinueus Subjunctive Infinitive

1. ea (va) 9veBa|vm ea (va) pﬂalvw
2. 8a (va) aveBaivne 0& (v unaivng

NTA.
Continueus Past (Imperfect
1. gveﬁatva 1, Epmnaiva
2 gveﬁa;vec 2. gpmaive
3. avéBaive 3. Eumaive

4.,9veBatvaue 4. umaivape
5. gveBaivate 5. praivate
6. avéBatvav 6, Eumaivay
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(e)

Contimuous Imperative

1 gveBawe (v gveﬁatvng) unaive (va mtawnc)
2. avePfaivete (v avePaivete) pnaivete (va pnalvete)

Simple Past Simple Future
1, gveﬁnxa umia 1. e aveﬁ& ea und
2. gveﬁnxeg unfined 2. veﬁﬁc ea unfi¢
3. avepmnxe RnTine 3. e aveﬁﬁ ea prfi
4. gveﬁnxape RIAXALE 4. 6 gvepoBue 6a umobue
5. gveﬁnyawe UTTXATE 5. veﬁﬁms ea unfite
6. avéepnxayv prfnav 6. e aveﬁoﬁv 8a unolv
Simple Subjunctive / Iafimitive
o ’
v aveR® va pnd
B HTA. "
Present and Past Perfect
Exo (eixa) &vepd Exw (eixa) pnf
HTAe %TA,
Simple Imperative
1, év‘éﬁa 1., pné¢ (Euma)
2. avepfite 2. umfite

The primciple temses of the verbs xatefaivw and g ngw(h
the order fellowed in the conjugatien of the verbs gveBeive
end mtaww) are as follows:

xatefaivew-xatéfaiva-6a(va) xatepaivo- na'ceﬁawe
xatepatvete

Byaive-€pyalva-8awa) Byaive-Byalve-Byaivete

xatéBnua-08(vé) wotepdExw(eixa) watepfi- waTéfa
xa'r,eﬁ 'TE
Byfixa-8a(vd) Byl Exw(eixa) ByA- Byéc (€Bya)-Byfite
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LESSON 36

GRAMMAR ANALYSIS

I'PAMMATIKH

Active contracted verbs, As explained in #11b and also in
#66, active verbs accented on the last syilable in their
basic form (indicative mood, present tease, first persen
singular) fellow a conjugation pattern somewhat different
frem that of the other active verbs, These differemces
appear in some endings of the present temse and, primarily,
in the other tenses,

There are two classes of contracted verbs accented om the
last syllable, These emding ia -8, -d¢, -&, -olue,
-dte, -o0v  (like the verb puetp®) and those ending ia
-3, -et¢, -et, -ofue, -eT1e, -olv (like the verd
apy®). The first group is by far the more numerous of the
two., It should be noted that many verbs of the second
group have the tendency to be comjugated like the first
group and one can hear them either way. To facilitate
things for the students we will list this last group eof
verbs as & third group,

The conjugation of two typical contracted verbs, ome from
each group, is given belew,

Present Tenss

Class I Class Il
1. petpd (peTpaw) 1. épy&
2. ueTpdc N 2. gpyeic¢
3. petpd (petpact) 3. apyet
1. petpolpe (petpdue) 1. épyoﬁpe
2. upetpdrte 2. gpveite |
3. petpolv (petplve) 3. apyolv (apyolve)

Centimuous Past (Imperfect Z

1. uetpoloa 1. ;tp‘{oﬁoa.
2, petpoloeg 2. gpyoloe¢
3. petpoloe 3. apyoloe
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W WM

WH WP
[ ] L ]

¢ o

W WP

Wk W=

neTpovoaye
peTpoboaTe
uetpoloav

épyoéoaue
gpyouoate
apyoloav

Contimuous Future and Comtimuous Infinitive / Subjunctive

6a(va) petpd (petpaw)
8a(va) petpdc
8a(va) petpd (pexpan)

0a(va) petpolre (petpdne)
6a(va) petpdte
8a(va) petpolv (petpdve)

Continuous Imperative

pétpa - petpdte

Simple Past

péTenoa
uétpnoec
pLETENoE

peTplioaue
LETPNOGTE
pétpnoav

Oé(vé) gpy&
8alva) gpync
eal(va) apyf

94(va) apYOUp€
8alva) gpynTe
galva) apyolv

v& apyfic - va Gpyfite

apynca
apynoeg
apynoe

’ L

gpynoape
apynoate
apyrioav

Simple Future and Simple Imfimitive / Subjunctive

6a(va) petpiow
8a(va) peTpnong
ea(va) uetpnon

6G¢{va) petpfowpe (petphoovpe)

6a(va) uetpfioete
8alva) petpnoovv

I Ve » »
6a(va) gpylow
0a(va) gpynone
8a(va) apynon

6a(va) épyﬁomue(-ovue)
6a(va) goynoete
8a(va) apynoovy

Present and Past Perfect

exw (e;xg) peTpnce;
sxetg (gixee) weTENOEN
Exer (eiye) petpnoet

Exoue (elxape) petpioel
EXETG (elxate) pETPNOEL
- Exovv (enxav) perpnoet
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exm(e;xa) apynq
exelg (g;xeg apynce;
Exer (eixe) apyncet

exoue (etxaue) apynoe;
exope(eiyape) gpyqoel
exovv (eixav) apynoes



(d)

(o)

(£)

(g)

(k)

Simple Imperative

pétproe - petpfioTe Goynoe - apyfioTe

All contracted verbs, whether belonging to the first grouwp
or to the second group, ferm their comtinueus past {imper-
fect) by adding the endings -o¥oa, -ofoe¢, -oboe, -obd-
ocope, -ovocate, -ofoav to the stem of the verb, There
are no exceptions te this rule,

All simple tenses are formsd by the additien of the syllable
-No to the stem of the verdb befors the regular endings of
the simple tenses (simple past, simple future, simple im-
pe'rativc.‘perf.ctutenscs) are a’.ddeii. Exampl:es: uétpnoa
ea LETENOW 5=~ apynoa, 6g apyNow, ~= PETPTOE, peTPl-
OTE —-= EXW APYNOEL == ELXA LETPNTEL, ete,

Some verbs of the first group add the syllable —-00 instead
of the syllable To to the stem of thsir simple %enses,
Some verbs of the secomd group add the syllable - E0 to

their atem, These will be taken up as exceptiens im sub-
sequent lessoms,

The verbs Tayuvdpoud, e’téo‘ltot&'), and X3 are conjugatsd
, .4

like the verd apy®. The verdb {3 is spelled

in the secocnd and third persers of the prsseat teanse re-

spectively,

Some of the comtracted verbs which have already appsared
in previous lessoms, and in this one, are listed belew in
their apprepriate grouping.

Class 1 Class Il Class III*
éycn& évncux& poned
anavt® apyd eENYD
REAETH 6}oind Nt
peTp® g160m018 wpatd
Eexivd EVvo® RiAd
Evnv® Z0 odny&
pwtTd ocvpewv®
oTapat® Taxvdpoud
xaitpeTd VTN PpeTA

PwrToypapd

*Verbs of this class are cenjugated either way.
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LESSON 37

GHRAMMAR ANALYSIS
I'PAMMATIKH

The passive and / reflexive form of the verb BPIZKQ is
EPIZKOMAI, As a passive verb it means "to be found"”,

As a reflexive verb it means "to be located", or simply,
"tc be". In the lat‘sr case (as a reflexive verb) it is
a linking verb like the verb EIMAI. Consequently, the
noun or pronoun follewing thie verdb is in the nominative

case, Examples:

:O Kdotac Bpioxetal LovVo¢ Tou oThy 'éeﬁva.
H Mapta Bpioxetar povn ¢ otTnv  Afdnva.

It should be noted that in the continuous tenses this verd
usually means "to be located, to be®, 1In the simple tenses
it usually means "to be found®, The student should be care-
ful to differentiate the two meanings of this verbd by whether
the verd is used in a continuous tense or in a simple tense,
(The present tense is considered as & continuous tense),

The comjugatien of the verb BPIZKOMAI is as follews:

Gentinnous Tenses

Present Continuous Past Continuous Future and
(imperfect) Contimueus Infinitive/
Subjunctive
1. Bpioxopal Bproxouovy 0a(va) Boioxwuas
2. Ppioxecal Bpronooouvv 8a(va) Bpioxeoat
3. RploxeTai Rproxotav 8alva) Bpioxetat
1. Bpioxdpacte Bpioxduaste 8a(va) Bproxbuaote
2. PBploxeote  PBproxdoacTe 8a(va) Bpioxeore
3. BpioxovTtasr PBpioxovTayv 8al(va) Bploxwvtal

Continuous Imperative

L4 ' d & L4
va fptoxecal -- va BploxecTte
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114,

Simple Tenses

Simple Future and
lg;initivez or

Subjunctive

Simple Past

1. Bpédmxa 0a(va)
2. Bpaenueg 6a(va)
3. Bpéomue alva)
1. Bpedhxape 0a(vd)
2. Bpeenxaxe ea(va)
3. Bptenmuavy  8&(vd)

Simple Imperative

Present & Pasgt
Perfect

Rpe6d sxu(e;xg) Bpeed}
BoeeTi¢ Exet¢(etxeg) ppedn
Rpe6T HTA.

Bpedolpue

Lpedfite

Rpecolv

Bpécov =-- BpebdFte

HOW TO FORM THE CONDITIONAL ( AYNHTIKH) IN GREEK, To ferm
Conditional or "IF sentences" in Greek when the comditien
is set either in the present or in the past (and implies,
therefore, that the action was never realized, both the *IF
clause" and the "other clause" have their verbs in the im-

perfect,
fect tense of the verd by

N,

The "IF clause" is formed by preceding the imper-
The "other clause® is formed

by preceding the imperfect tense of the sther verb by eA.

Examples:

English
I would eat if I

vere EE.P_EEI .

I weuld have eaten

if I had been hungsry,

3. The student weuld
learn if he studied.

1.

2.

4, The student would have

learned if he hzd
Bt'udi‘do

5. Would you come to the

picric if you knew the
pecple.

118

Greek

ETpwya av Teivoloa.

20 ”»”
ETPWVE AV XEIVOTOa.

REOMTNC 84 padaive
peretofioe.

padnthc 8a udbaive

“';‘-3.,?.

pLEAETO

epxooaote oThv exﬁpo-
av yvopiZate TolC
epmnooc,



115 (a)

(v)

6., Would you have come B4 €pyd Ay &
y 6. Ya EpXo0aoTE OTNV EXSpo~

to the pleunic if you un av yvopiZate Tob -
had known the peeple? epﬁmouz; Pie ¢

Contracted verbe yeAd, 51yl and Tei1vdl encountered in
this lesson belong te class I (the 3, -d¢, =3 class),
Contracted verbs mepmatll and TPayoubd Dbeleong to class
I11 (they can be heard both ways, either with the By~dc,
-4 endings or with the ~-@,-eT¢,~eT  endings), Mere
on the verbs yeAB, 5i1V® and meivd in the next lessoa,

Expressions such ae & pair of socks, a cup of coffee, 2 heap
of sand, 2 group of men, etc., have both noune in the same
case in Graek, If the expression as a whols is the subject
of the seatence both nouns are in the nominative case, If
the expression as a whole is the direct object er the object
of & proposition _beth nouns gre in the objective case, The
expression Tt £i8o¢ xaptia, PifAia, etc, follows the

same rule, Examples:

English
l. A can of ceffee costs 1. "Eva Tevelégﬁxmpég_
85¢. HOOTIZEL 856,
2. John bought a can ef 2. :O Fl&vvng’&w':pc'we
ceffen, EVAV TEVEXE UAQE,
3. There's a heap ef 3. “Eva¢ cwpde Guuo ﬁpf-
sand in my yard, oxetTat OTNV QLAT] POV,

L, The children are play- 4, T& ngL61a TaiZovv txa-
ing on a2 heap of sand. VO 0 EVa OWPO Giuio.

5. What kind of a persen 5. 'g‘i e%% 'c'zvepmmg_ tivat
is George? o TMdpyoc;

6. What kind of friends do ¢, T{ el50c @ilove Bxescs
yeou have?

7. A pair of secks costs 7. "Eva Zevydpt xéitoe
15 drachmas, xavet 15 Opaxpéc.
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(C) The neuter mouns TO AASOZ (forest, woods), TO MEPOZ

(place, lecation), TO MEACZ (member) are decline like
the nouns TO ET0Z, TC BAPOZ, etc. (#78a),
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LESSON 38

GRAMMAR ANALYSIS
"PAMMATIKH

116 (a) Some contracted verbs belonging to class I (the -3, -de,
-3 class) add the syllable -ac instead of the eyllable -ng
to the stem to form their simple tenses (see #112f). The
most important verbs of this class are:

yeAd to laugh, to deceive

S1yd to be thirsty

TELVH to be hungry

ond (omaZw) to break

XaAD to spoil, to destroy,

to get out of order

* 20

Eexvd to forget

nepvyd to pass

(v) The principal tenses of the above verbs ars:

Present S, Past S, Future[ S, Imperative

Infinitive
YeAB  yéraca 6a(va) yerdow véhaoe - yeAdote
51y8  Siyaca 6a(va) 61vagw Giyace - Siyaote
netvd meivaca  63(va) TELVATW TNEIVAOE ~ TEIVaOTE
onl €gnaca 6a(va) omage  omasce - omagre
XaAd xaiaca 6a(va) xalaow xdrace - yar@ote
* & &2
Eexv® gé‘xaoa eé(w:z) gexéom EExaoe - Eexaote
nepv® népasa 6a(va) mepow wEpase - =wepaoTe

(¢) The contimuoms imperative of the verdb yeAl 1s yéra -yerdte
and of the verdb mepvd is nmEpva - mepvate.

(d) The continuous tensss of the verbs of this subgroup are eoa-
Jugated exactly according to the pattern of ths coatracted
verbs of class I (uetpd, pchetd, ete.). The simple ten-
ses, with verd yeA& used as pattera, are conjugated as
follows:
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Simple Tenses

’ S le Future and
S, Infinitivez S, Subji.

Simple Past

yélaoa
Yglaoec
YEAao €

Ye?\c:zoap,e
yglaca’rs
velaoav

W W
[ ] .

(0]
Qs
~
<
Q
L

ealva)
eé.(vc:z)
eg.(vg)
sa(va)

Present and Past Perfect

1. Exw yelaogt
2. E€XE1¢ vyelaoel
HTA,

S la erative

Yeléom
YeAaong
YEAQOT

YEAGOWLE ~OLLE

YeAQoETE
YEAQO OLYV

7 »
1. elxa yYehaoet
2. €IX€¢ yehaoel
KTA.

véhaoe = yeldoTe

(e) The verbs recyyd and Tepvd drop the v of thelr basic
stem to form %Ee stem of the simple tenses,
gation pattern in the simple tenses is exactly the same as
for all the other verbs of this class emmerated in #116s.

117 (a) The active participle of Greek verbs (what corresponds to
the English present participle, the =ing form of the verd)
is formed by adding the endings -ONTAZ or SNTAZ to the
basic stem of the verb, Standard verbs (those accented on
the next to the last syllable in the present tense) take
the ending -ovTa¢. OContracted verdbs (those accented on
the last syllable in the present temses) taks the ending

Examples:

Present Tense

YPap®
nai Cg)
TANPWV ®

eTpd
$ex§s
peretld

122

Present Participle

Their conju~

Ypagovrag
nal ?,'gv'mc

TANPWV ovTal

peTpivTal
YeEAWVTAC
pexeTavrtag



(b) The active participle (or present participle equivalent in
English verbs) can never be used as 2 noun in Greek, It
usually has an adverbial implication translating in English
into such ’phrales as "by doing", "while doing", etc.

Examples:
Greek English
1. Ma6aives xavei¢ MoAA& 1. One learns & lot by read-
8iaBaZovzag. ing.
2. Hnyafvov'c% o'tﬁ'ﬁol')- 2, ¥hile going to work I saw
AeLa pov e1ba 1o @ido my friend in the street,

pov oto Spouo.

3. Hep&oagev’rﬁv ‘;]p.épa. 3. Ve spent our day outdoors
pa¢ oTo VNaidpo Repmna~- walking and singing,
TWTA¢ xat Tpayovdwv-

Tag.

118 (&) To give commands in Greek the imperative form of the verb is

used, However, & command oan also be given by the subjunctive
form of the verd when it is used as 2 main verd and not as a
subordinate one, Examples:

Greek English
1. A1apdote a0Td TO yphu~- 1. Bead this letter.
pa. @
N& 51afdoete avTd T
YPaLua.
2. Hepdote an’td ypageto 2. Stop bWy my office.
Hpov, oR

» [ 2 0
Na zmepacgete an 10 ypa-
PELIO pov,
3. MeAétnoe andye, Kéota. 3, Study tonight, Costas.
OR

»
NG ueletfiong anodye,
Kaova.
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(b) Commands given in the negative, that is telling pecple not

to do something, are given in Greek only by the subjunctive
form of the verb with the word MH(N) entering between the
particle NA of the subjunctive and the verdb, Very fre-
quently the particle NA is dropped altogether in negative
commands. Thus, the above examples are given in the ne-
gative as follows:

Greek English

1. (N&) u)) 61gPGoeTe 1, Don't read this letter.
aLTO TO YPAUEA.

2. (N&) pfﬁ’o'raua'rﬁoe- 2. Don't stop By my office,
TE AN TO ypagpeto
Lov,

3. (N@ pf pereTAome 3. Don't study tonight, Costas.
anoye, KwoTa,.
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LESSON 39

GRAMMAR ANALYSIS
F'PAMMATIKII

Cont inucus Tenses

119 (a) The irregular verb I"INCMAI (to become, to be done, to
occur, to happea) is conjugated as follows:

Cont, Past Cont, Future-Cort, Inf.[Sde.

Present
1. yivopal Y1VouoLy 6alva)
2. yivecar  yivooouvv salva)
3. yivezat Y1V OTaV ealva)
1. yivouaoTe yivouaoTe 6a(va)
2. yiveote Y1vooaoTe aalva)
3. yivovta yivovTav 8a(va)
Continnous Imperative
va yivecar = va yiveote
Simple Tenses
Simple Future-S, Inf
Simple Past Subjunctive
1. tyiva 6a(va) yive
2. ev;veg eg(vg) Yivng
3. Eyive 6alva) yivn
1. yivape 8a(va) yivape
2. yivate 6a(va) yivete
3. eyivav 8alva) yivouvv

Simple srative
'd [ 4
Yive - +yiveTe

Participle

Yivougvee, =1, ~o

125

yivepal
viveoat
vivetal

Y1VOouaoTe
viveoTe
yivevtal

Present & Past
Perfect

exm—exxg thet
axatg-euxeg ytve;
N TA.



(v)

(e)

120 (a)

It shonld be noted that the continuous tenses of this
verb are conjugated with the endings of the passive voice:
the S8imple tenses are conjugated with the endings of the
active voice. In both cases there is only one stem TIN.

The verb I'INOMAI is also used &s the passive countere
part of the verd KAN® which does not have a passive
voice, Thus, to change the sentence John did the Job
fast into the job was done fast we will say in Greek:

C Travvne exave Tn Sovretd yofiyopa and B Sov-

AC Eyive yphyooa, respectively, Other examples:

"H Mapia Exave wxand eyl TO woul % z
AL vapt = 1o wwopt Evive walo.

4

Ty Za xavexe oQv peyaluoeTe;

d e
Ti. 6a yiveTe odv LEYQA@OETE;

The verbs [IET2 (to fly, to discard) and DBAITR (to hold,
to hold out) add the syllable - A= instead of the syllable
-AZ or -2 to the basic stem to form the stem of the
simple tenses, The verbs TPABR (to pull, to go ahead,

to draw) ITAR (to Jjump), ZKOYNTR (%o push), and &YyIQ
(to blow), and the sylladble -H= to form the stem of the
simple tenses. The principel parts of the above verbs
(211 of which belong to Class I,) are as follows:

Present Simple Past S, Future & S, Inf,[or Subd.

et nETaEq 0a(va) TEeTAEW

Bactd® BacTaZa ealva) faotlfw

TpaBd TpafnZa 6a(va) Tpafhzo

™o & TNoNEC 6a(va) monEw

oxoLVTH oxoVvITEa 2a(vd) oxouvvThZe
Present & Past Perfect Simple erative
Exw-elxa metdze) nE€TaEe ~ meTdETE
§Xw~eixa TpaBhEe: TEaBNEe -Tpapfizte
EXw-elxa MNONEE}L TMonEe - mnofETE
EXW—~€iXa oxouvvInNZei OXOUVINEE - OnoULVTTIETE
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121 The promoun O E£aUTOC pov (myself) is generally used
only in the objective and -~ less frequently -- in the

possessive cases,

It is always preceded by the masculine

article in the appropriate case, preferably in the sin-
gular gender and number are indicated by the short form
of the personal pronoun following the word E;aurg(');_

Examples:

1.

2,

3.

English

John loves only him-
self,

Mary loves only her-
self,

Ve did it for our-
selves,

They did it for
themselves,

1.

2.

127

Greek

1 3 V'l 4 -~ 4
9 P}avvgg ayand povo
TOV €QUTO TOUV,

t » 2 ~ L

H Mgoia ayand povo
L4 4 L4
TOV €4QUTO TNC.

T' 4 & 4
{0 navape yia Tov
€QUTO pac.

s 9 L d L4
To EXavav yia Tov
€aUTO Tou¢,



LESSON 490

GRAMMAR ANALYSIS
TPAMMATIKH

122 (a) The irregular verb PEYI'Q (to leave, to depart) changes
“toe stem PEYD into ®YI' in the simple tenses. Conse-
quently, the simple tenses of the verb LY {the con=-
tinuous tenses follow the usual pattern) are conjugated
as follows:

S, Past S, Fut./S, Subj, Present and Past Perfect
1. Equva ecj (pl:ww :e:xo)-e'txg. (p\’)\r&:}
2. EQUYEC 64 ¢UYNC EXYELC-ELXEC QUYEL
3. EQUYE ga ouym HTA.
1. cpt'Jyap,s 9{1 (pl:J’{mp.e -oupe §im7_gle Imp’erative
2. gbyate 8C guyeTe GUYE = QUYETE
3. Eeuyav Ga @LycUVY

(b) The verb $EYI'R is always followed by the preposition
AII0 (its meaning corresponds exactly with that of the
verbs to depart, to go away) when the place you go away
from 1s stated, Examples:

English Greek

1. The plane left 1. '{'5 aeponAivo Eovye &rd TH
Athens at omne ABfva ot p.f Ca
o' clock.

2, Ve went away from 2, @@Yaue &1(6 é)'cs'i' 000 Ypnyo—
there as fast as pWTEPA UROPOUCAUE.
we could,

3. Many Greeks left 3, Ilolhol "?kknveg Eovyav and
their homeland, nv matpida Tov,

123 (a) A few contracted verbs belonging to class II and class
III (the -8, -eT¢, -l class and the -w, ~-ci¢, -cf
class changing over to the -w, -d¢, -& class) add the
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(v)

124 (a)

syllable ~.gg 1instead of the syllable -mo to form the stem
of their simple tenses. The most important verbs of this
group ~- and their principal tenses —- are given below:

Present S, Past

S1apu® & ;aox eca

HAAD xo)\eoa

prop® [,unopeca

pop®d popeTa

Tovd TOVESQ

Y wpd X®peoa
S, Future ~ S, Subj, Present and Past

. W
6a(va) diapuéow Exw-elxa 6iapxioey
oalva) xaxaow : exw—e;xa xa)\eoet
8al(va) p,’tOE)SOw exm—e,wa LT OpPECE L
8a(va) gopéow EXW~EiXaQ popETEl
8a(va) movéow Exw-elxa Tovéoel
ealva) ywpéow Exuwmeixa xwptoet
Sy Imperative

xAAECE = xa?\eo're, TOVECE - 'Jtoveo"re, :pooeoe-wopeo'ce
(The other verbs do not occur in this mood)

All derivatives of the verb KAAR (like ITAPAKAAR,
NIPOZKAAR), are conjugated the same way, The deriva-
tives of the old verbs TteAd (to perform, to execute) and
3 are also conjugated like the verb ygA&. The most
Important derivatives o;t‘ these two verbs &re gnoteAd
(%o compose, to form), exte\d (to earry out, to exe-

cute), Qoat (to subiract) and S1aip® (to divide),
The verd X‘*’E’E (to fit into) follows the same pattern,

Feminine noune in -0Z. Some Greek feminine nouns and
adjectives end in -02, an ending generally associated with
masculine nouns, Grammatical gender is indicated by the
feminine article only, and agreement follows the usual rule
of the noun governing the gender of the adjectives and pro-
nouns qualifying it, Some important nouns and adjectives

of this class are the following:
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L

T apuod sand

f} gﬁ%g street, highway

1 daxTuAoypdgog typist (fem.)

n glcoéog entrance

N €E€obo¢ exit

7 ﬁeploéog period

T 1[8911’0)\04 patrol

7 'Hpooéoc progress

'E) T)'ItE:lpog continent

B H'ftetpog) Epirus, a Greek distriet
7 xepcunoog peninsula

n He?\o'novvncrog Peloponesus

n Meoo«remg the Mediterranean

N Alyuntoc Eeypt

7 Bope;og North (adj.), Northern
n NoTioc¢ South (adj.), Southern

(b) The feminine ending of Greek adjectives tends tu de either

(e)

-A or -H, Some old adjectives that used to take the
ending -0Z in the feminine are ending in -A now, BO-
peto¢ and NOTio¢ (North and South) are the most Impor-

tant examples of this ,Broup,

When used as ordinary adjec-

tives, they become [B0Opeia and vOTia in the wsual vay in

the feminine,

However, when they are used as a geographical

Place-nsme like South America, The North Sea, the feminine

These names being proper nouns,

pattern has not changed,
Note the differencs:

have remained unchanged.

South America

& Southern distriect
The FNorth Sea

& Northern country
Northern Greece

rd 14 L
NoTiog Ap.eplxn
vox;a ﬁeptoxn
Bopetog @akaoca
Bopeta x@pa
nge;oc EAAGE
4 or 4
1 Bopeta EAAGSa

c Jedeiadase

FYeninine nouns ending in -(0Z are very frequently the
names of Greek d:lutrictl, towns, iah.nds. ote. To cite

a fevw oxmplea. ‘H Kopiveog, n PoSog, n Hatpog,
n Huxog, n Hm:tpog, eta.
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126

(v)

LESSON 41

GRAMMAR ANALYSIS

Sy e TS
_'~.J.“. ‘:7:_- Kot

The irreguler verd :'A7aINz  (to learn) drops the
syllable -AIMN from its stem to form the stem of its
simple tenses. Therefore, the stem of the simple
tenses is ‘A7, The simple teases of this important
verdb are as follows:

S. Past Se Future~S. Subj, Present & Past Perfect
1. Zrale CAlva) udte gxw-e";);g uGlel
2. fratec 0alvd) pétrg TXELC=-ElYEC pblen
3. Foate 24(vd) uhon HTA,

1. ndoone 2a(va) uddune~ctue

2. natate  24(vg) neCeTe Simple Imperative
3. Tootav Salva) pdlfouv pate - phéete
The verbs [ TAAAFBAING (to understand_). AABAINR

(to receive, to take), I.i\"AINR (to undergo, to suf-
fer, to have something happen to one), IBT FLAINR

(to succeed, to meet by chance), end TYLATNG (%o
meet by chance, to happen by chance) are conjugated exact-
ly like the verd 'Li"AINZR,

The irregular verdb ~=AQ adds the gyllable ~HZ to its
basic stem to form the stem of its simple tenses. Its
imperfect (continuous past) tense also presents an irre.
gularity as it takes the vowel 7~ instead of the vowel
€~ as an augment. The imperfect and 211 simple temsas
of the verdb (i are given below:

Jmperfect Simple Future and
(Cont, Fast) Simple Past S, Subjunctive

1. f}eeka 9Ernoa e?;:n(vc:z) OeAfow

2. mCereg CeArioeg Salvg) Seigong

3. NBere Dednoe galva) Serron

1. 28hape Oerhoape 6a(va) Gerfoape

2. 2&hate Sernoate calvc) SeAnjoete

3. N2ehav OeAroav 6alva) Cernoouy
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127 (a)

(v)

(e)

Present and Past Perfect simple Imperative

2 '3‘ ~ o~ 2N~ Y T e
rx()) ‘)(/g- 76/\” [ "c_i\?‘()u - -'.r.!\:AFLA*'L(.
s ~y ’

Exeig=clyeg Cehnoct

To locate a place on the map, or to define the bound-
aries of a place when the points of the compass are
mentioned (on the North, on the South, etc.), the
corresvonding Greek expressions are as follows:

L3

on the North 106

QG r« ~dv
>
on the South % 00g vitov
- * ’
on the East T O '*‘_:'m.’r,\
on the West TOOC nt::m.g

Thus to say that Greece is bound by Bulgaria on the
North, by the Aegean Sea on_the Iast, the lediterra-
nean on_ the South and the Ionian Sez on the West you
say:

<, v.
ii

u’\
o)
-
Y
™
A
8]
8
o}
(X ]

»
<

>,

» (v = - -, .’
“nNivy .-~OUI\,";'G._CIU. Sl X
Cepoiy
’ . - -
AEGERTS 5% (1 Tea T NN
, E ] o

THOD weetclG

ARAYCE

V\ (')\

e .. L4 "
T ESeTC e (GAGST R
TOCE YOIGY

- '_‘
GV S aIrGe
I d . =
u .

The above expressions are used by the Armed Porces
and by learned publications to indicate the direction
a moving body is headed £ or. In col}.oquial Greekx the
adverbial forms Ropeia, VéTia, qvatchixd and
8vTind are used,
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PPAMMATIKH

128 (a) The verbs @YMAMAI (to remember}, KCIMAMAI (to sleep,
to be aslesp), AYIIAMAl (to be sorry for, to grieve) and
$CRAMAI (to fear, to be afraid of) are conjugated the
same way, The verb OYMAMAI (or its varient ©@ YMOYMAI)
which will be used here as the model for all four verbs,
is conjugated as follows:

Continnous Tenses

Cont, Fut., &
Present Imperfect COnt; Subs.ZInf.
1. fvudpatr -ofuar  Hupdpovv (a) 8a(va) svpdpas
2. Bvupdoas bvpocovv (a) alva) eupdsai
3. buvudrai gvpoTav
1. 6vpobpacte 6vpopacte 64(va) Oupodpacte
2. BupaoTte Supooacte 6alva) dupdote
3. dvuclvral vpoviav  Ba(va) eupodvrar
-ofvtav
Continuous Imperative
va Aovpdoat - va dupdote
Simple Tenses
S, Past S. Future & S, Subj.
1. Boufbnxe eé(vé) ovuned
2. Boundnxeg 6a(va) euunéfic
3. euunsnxe 6a(va) evuned
1. Quunénxnaue 8a(va) ovunoodue
2. evunefxate 8a(va) evunefite
3. euvunonxav eéa(va) evunsodv
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(v)

(e)

129 (a)

Present & Past Perfect Simple Imperative

§xm—e'i~xg 6uunet fdvpnoov - Bouunefite
EXEIC~EIYEC BLPNGT]
HTA.

The three verbs €uvpdpai, Avndpaland goRduas, though
passive in appearance, are active in meaning, and can
take a direct object if the sentence calls for one, Nore
mally, passive verbs cannot take & direct object., Verbds
like the above, which are passive in appearance but ac~
tive in meaning, are called deponent verbs.

The verb xoipfpal (to sleep, to be asleep) is also &
deporent verb, but it does not take a direct cbject,

Examples:

English Greek
1, The student remembers 1. ‘9 p.a'?n'cﬁg Svpdtal o
his lesson, padnua Tov,.
2, I an sorry for the 2. Avrdpar tovg &ppéo'couc.
sick,
3. The child is afraid 3. T¢ maidi goBdtar To
of the dog. OXVAO,
BUT
4, Do you sleep well? 4, Kotp.t'w'l:e waia;

The verb YIIOZXOMAI (to promise), is another deponent
verb, It changes its stem YI['OZX into YIIOZXED® 4n the
simple tenses, The principal parte of this verb are:

Present S, Past
Voo oA UT ooy £6MMa
S, Fut, & S. Subj, & Infin, Present & Past Perfect
9a(va) VTooXELD xw~ eixa Umooye67
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The verd YIIOZXOMAI takes an indirect object. 1Its
direct object is very frequently an infinitive.
Examples:

English Greek

1, I promised him to go. 1, Tol {)nocxéenxa va maw,

2, Don't promise me any- 2, Mf} wo® 61160)(809&: TiTOTE.
thingo
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130 (a) Passive verbs in —Tiy -1idal, -I.TAI, etc., Con-
tracted verbs of class I (tao%e en‘linv‘ either in -3,
-ag, ~d) and of class III (those ending either in -,
-4z, =G or in -3, -eTg, -eT) form their passive
voice by adding the endings -1 sinly =TEZAL, -ILTAI,
etc., to their basic stem. Exceptions are rare. The con-
Jugation of the verb PRTIEMAI (to be asked), immediately
following this paragraph, should serve as a model for this
class of verbs,

Verb DPOTIVMA

Continuous Tenses

Cont, Future & Cont,

Present Imperfect Infinitive / Subjunctive
1. owTiépad pwtiopovv(a) 6a(va) pwtiépal
2. PWTLECQL owfc;oocuv(a) eg(vg) pwTiEcal
3. pwilETaL pwtiéTav(e) ealval) pwtiétal
1. pwtioluaoTe pwtidpaote 0a(va) pwriobpaocte
2. PWTLEDTE PWTI0TACTE 8alva) pwtiécTe
3. cutiolbvtatl pwtiofvtav 8alva) pwtiolvtas

(pwtiovTovoav)

Continuons Imperative

d U d d »
Va prTiEcal - V& 0TI ECTE
Simple_Tenses

S, Put, &S, Inf./

Simple Pasgt Subjunctive Present & Past
1. pothenxa 6&(v&) pwtned Exw - elxa owtmed

2. pon'gemcsg ea(va) puTNofi¢
3. puthénxe  6a(vad) pwtnsf
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(v)

» d L4 -~
1. pwtnBioxape 2alva) pwintolue
2. owTn THaTe Aalva) pwtinfite
/ ! r ,- : ~
3. owtndnuav APalva) onwtnSely

Simple Imperative

owThoov - opwtnefite

The passive counterpart of nearly all contracted verbs of
classes I and III should be conjugated like the above example,
It should be kept in mind, however, that verbs taking the
syllable -AZ to form their simple tenses in the active voice
take the syllable ~.AJT to form the simple tenses of their
passive voice. Those taking the syllable ~E5 to form the
simple tenses of their active voice take the syllable - 5T
or -EO to form the simple tenses of their passive voice,
Examples:

Present Tense Simple Past
Active Passive Active Pasgive
YEAD yeM Epal véhaoa YeAGoTTXG
Eexvd gexv1§pal ggxaoa ECX?OTUKQ
(Zedmepv® (Zedmepvigpar (Ze)mépasa (£e)Tepaotrina
xaAAB xah i Epat xgAeoa xar€otnna
PoO®d PonIENLAL Popeca pcpeEdXQ
ToV® TIOV I EQAL* TOovVEDQ TOVEOTNA
Simple Future

Active Passive

PG yeAdow 00 yehaotd

ba gexaow 0a Fexaotd

6a mePaow 8a TepaoTh

©a xaigow 9a waieotd

62 opootow ©a popedd

€a ToVvEoW 97 Toved®

* The verb 7oviépai means to have am affection for in
contrast to movd which means to be in pain, to ache.
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(c)

(d)

131 (a)

Ths present tense of many passive verbs, in addition to
the basic present tense meaning, frequently implies the
l1dea that something can be done, This is particularly
true in the third person. Examples:

Enzlish Greek
1. This word cannot 1. A0TH 1) AEZn 6€ Aévetal
be said in Greek. e\)mvxxa.
2. This song cannot 2. avtd 'to Tpayouét &€v Toa-
be sung easily. VOUF)le’E’ll eUxoAQ.

3. Mother love cannot 3., H aycm'."n, Th¢ p,'r]’cépag &€
be measured with ‘LETOLETAL p.?: xp’?xpa‘.’ta.
money.

Passive or reflexive verd frequently indicate the idea of
reciprocity in the plural, In English the expressions
each other or one another are used to convey this idea,
Examples:

English Greek
1. John and Mary C P;avvng %1 1 Mapla
are in love (with ayansobvrai.

each other).

2. I found them kissing.  Tol¢ Ppfixa v& o1 ricBval,

The ordinal forms of numerals 20 - 100 {going up by ten)
and of 1000 are as follows:

Sumeral Ordinal Form

I L4 » L 4
20 EIUOC L EIXCOTOG, =T, =O
3G 'cotav'ra "a:maxoo'cog, -7, =o
40 capuv*ra Teoﬁapu.con'tog, -Tiy =0
50 'JTEVT-V’CO. JLEVTT‘){.OOTOQ, -7, =0
60 “?—‘mzfca "‘C_T]XOO"T.'OC, -n, -6
70 efbopfvia RS opnueoTOC, -f, -0
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]

. L4 - ” — ’, ’ »,
30 ¢ydovta gYooMx®ooTCE, =7, =G
Ld » L4
S0 Evevnvia gvevnxogtog, -1, =0
4 » 4
1c¢e EXATO EXaTuoTOC, =%, =0
' d L4 L4 I d
1000 XtAta XVAtocTog, -1, =0

(b) oOrdinals like 218%, 3uth, etc., are given the same way as
the corresponding ordinals in English, with the exception

(c)

that these numerals have to agree

in gender, number and case

with the noun they qualify. Examples: .

English Greek
) » ~ »

Twenty first sn}oo'cég,'npmgg, £11CcoTh
TPWTT, EIXOCTO TPi¥Eo

thirty fourth . TPLaxeoTdg TéTapToc, ToLa-
XOOTY] TETAOTY;, TOIAXOOTE
TETAOTO

fifty second Tre:v'rpxoo'rc')g Sebztepce, TEVIT-
%x00Th Gevtépa, TEVINHOGTO
Sevtepo

The important ordinal numerals for
are 10th, 100th and 1000th because
when dealing with decimal numbers.,
system of weights and measures and
ordinals are in constant use,
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the student to remember
they are constantly used
Greece uses the decimal
for this reason these
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ey svgae s ey
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132 (a2) The verb “TILVTASTAING (to install, to establish some-
one or something) drops the ending —AIN of the stem and
replaces it by the ending ~ii2 to form the stem of the
simple tenses of the active voice. Examples:

{ . ’ i ’, »
SYHATAOTALYY — - Ev¥ATECTTOC -~ - £ 2/%aTacTIom

{b) The passive or reflexive counterpart of the verb Ery A~
T TeTHR 1s MPIATANTAINCMAI (to settle, to estab-
lish oneself, to be settled). The verb I T ITAI-
NCHAT exchanges the ending -/i.IN of the stem by the
ending -, to form the stem of the cimple tenses of the
passive voice, The simple tenses of this verb are conju—
gated as follows:

S. Future and/Infinitive

S. Past - Subjunctive

’ [N I » 7 -~

EYHATEOTASIUA, ealva) gvchQOTUﬂw
L4 -

rvy Taoxapﬂyﬁr falva) gynazzotanfc
' d ' d

EvXaTACTENTYE 2alva) evwatacrabfi

(')\

2 r\' P 2N 2 -~
FYHATETTACTNaE fclval) egvnataotarctpe

§YHOTAOTAONHATE na(va) Ev¥ataotatfte
» rd
evvataaTa“*xqv falva) zvxazaozal oy

WO = W
]

Present & Past Perfect

’” 5 2 ~
1. Sxo~-zixa eyxatactaslf
NTA.

S, Imperative
» 2 -~
EYHATACTACOV - EvvaTacTaNfiTe

Participle

14 » b4
EYNATACTTLEVOC (eynateotpévoc)
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133 (a) The participle of passive or reflexive verbs usually ends in

(b)

=XNCD,

It corresponds roughly with the past participle

of Bnglish verbs with the difference that in Greek it doesn't

represent action going on but rather a

being resulting
ly. Examples:

English

1. The coffee has been
paid for,

2. The dishes are (have

been) washed, -

3. The potatoes are
(have been) peeled.

L3 . P
1. © wanec ¢

2. ¢

.t »
C1 Tazasec €

td
ClCsvec,

condition or state of
from some action that had cccurred previous-

Greek

¥ - P
VG JANDMILC—-
R e o T Wi

<
)
-

' d
TAUVUEVQ,

7
1

vatr ¥atge-

The participle of passive verbs usually ends in -5N(¢Z if
the past temse of the passive verb ends in -%iXa, It ends
in ~ZMENCE  if the past tense of the passive verb ends in
-ZTHKA or its variant -~71K4A,  Exeamples:
Present Tense S, Past Particivie
1. Tanpiwepar nAN DO E 1 AnpwR Ve
2a Fkévgpal ﬁ)ﬁ@ﬁxu ﬁhugévog
3. cvotrveual cue T CUoTTpEVeC
4, PETRLERat PeETONTNKG WETONREV O
5. avarieual avan Y inyg CYOMNILEV L
. L , t , t P
0. eTotuaopal ETCILCO TN STCLUACILEV O
7. xaﬂantzouat xafasicTnna Xa2aotonevoc
8. LETay 1ot Zonat HETTIELOLCTNXNA  WETAXCICIOUEVOC
e, youvpaZopal xovpacInva HOUPAGILEV OC
10, axou(y)opal axcCoTrxa a3 OUs 1AV O¢

(¢) The participle of passive or reflexive verbs behaves like

134 (a)

an adjective,
noun it quelifies,

The verb % I1P2 has the same stem
simple and the continuous, tenses.,
rather than the augment £~

—
DL
Kl 2+

141

It agrees in gender, number and case with the
(See examples in #133 a).

for both the ,
It takes the augment -,
in the past temse (but not iIn



the first and second persons of the plural where there
are enough syllables for the accent to move up), The
principal parts of the verb ~ELDP2 are: Fépoo ’r'f?oa
and a7 %’~mo, The past tense (both imperfect and simple)
of the verb z’90(4) is conjugated as follows:

1. »repa Zéoaye
2 ’;"mef £epate
3. Nfepe nEepav
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135 (a)

(v)

136 (a)

LESSON 145

GRAMMAR ANALYSIS

TPAVTIATIRE

Passive verbs im -03'AT, -TIZAI, -3SITAI,  The pase
sive or reflexive volce counlerpart of contracted verbs
of class IT (the -3, -eT¢, -€l class of verbs which
show no tendency to move over to class I) end in - EIMAI,
-Z212.47, =811, The verb TArcovoooBpat (to be in-
formed) is a typical example of this class of verb, Its
conjugation pattern follows that of standard verbs in
-12Al, -ILZAT, =-IUTAI except in the present and

the imperfect tenses. These two tenses are conjugated

as follows:

Present Imperfect

1. mArceoooolual
2. TANoceopeToal
3. TAngowopsTTAl

TAnpopopodpovy (a)
TATncocpovoovy (a)
FAnpopopolviav

*

TAnpogopobuaste (oTav)
- TATPCOOPOVCACTE
. TAnpogepolviav

1. TAnocpopodpacTe
2. TAnocepopeioTe
3. TAnnorcpolvTal

Wi .WNH

The verbs acwpolpar (to be considered), SioixoTpal
(to be governed), xairiepyobpai (to be cultivated),
gi1doTorofuatl (to be notified) and TeptTotolpal

(to take care of, to entertain), are among the most com-
monly encountered verbs of this class,

The irregular verb TPLBL - TPUPMAI geans to feed and
to be fed, The stem TPii$-~ of this verd changes into
@PLY~ 1n the simple tenses of the active voice and into
TPi&- in the simple tenses of the passive voice. The
continuous tenses of TP EDL - L20NMAT follow the
usual conjugatior pattern for their respective tenses and
voice. The simple tenses are conjugated as follows:
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(b)

Simple Past Simple Future / Subj, Inf.

active Pagsive Active Passive
;e ~ 2o ~ ’ ~
1. Eepewa Tolore PLOwE) CrENE C2viY Tpard
: R~ ‘ r , . ’ ’ ~
2. Fhpevec wrdrsmeg Calvid NeEtie ta(va) Taeeiig
; b DI ’ , - e L i ~
3. £Gpete  Tpdorae Calval 2ptin fGivd) tacsT
e ’ ~?2 2N r 2o ~% s 2N o d
1, "revane Toaotwaue  Sofvi) focvone folval Toanclne
h ’ B » » ~_ i ~r e’ e
2. Opérate Toaoimate Salve) “retere "L(vad) ToaeiTe
’ ‘e ~* I . . R A R -~
3. E0pevav Tplenxav  2C(VvE) foflouy SA(vE) Toecaly
Present and Past Perfect
Active Passive
2 5 e £ Kl ~
Eves, gixa Cpeiey EXW, €lxC Troanf
TN . HTAe
Simple Imperative
£ A~ l L N -~ » ~
Oeete = "pevTe va Tnaelig - va Ttracfite
Participle
Active (Continucus Passive (Simple)
4 ~ P
TOEQPCVTQL ToEpuEv e, -n, -0

An important derivative of the verb TPE33 is the verb ANi-
™53 {(to bring someone up, to raise). It is a very popu-
lar word in Greece where one's upbringing and manners are
carefully scrutinized. The verb ..V . TPuZ3-0MAI is con-
Jugated exactly like the verd P32 - TOIICMA - It should
be noted that in the past tense the augment e-gf the verd
€6peya knocks out the vowel g of the prefix ava. Thus,
the verb in the past tenge (active) begomes avelpetq, ave-

2 ,

"‘r\ ¢
Noeveg, aveleele -- cvatpeiauc, avaspeviate, avescerav,
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LESSON 46

GRAMMAR ANATYSIS

ewyray

TY A ptre
TP."A" wededoddwel

NEUTER NOUNS IN ~ON,=-CUI0Z--  =/3 -/ TCZ, and in
—%s, -01CZ

137 (a) Neuter nouns in ~CV, —CNI(Z 4 few neuter nouns ending

(v)

(e)

in -GN, whose stress often falls on the last syllable,
add the syllable -7CZ to form the Possessive case of the
singular and the syllables -TA, =T2N to form the nomina-
tive and possessive cmses of the plural respectively, The
most important nouns of this class are T TOCTOV (product)
TO mapdv (the oreseant), & TGPEXOGY (%ac rast), &
pEArov (the future), 16 By (being), ete. Examples:

Singular . Plural
- ' d on P 'd o P
i. ¢ mpoiov T Lpociovia
~ on ~ e o
2. 1ol %poicvioc TGV T RoLCVToy

Neuter nouns ending in -.3. AT, are primarily two, wpiac
(meat), and Tfpac (monster), These nouns also take ths
same endings as the ncuns given above with the difference
that the stem drops its ending -7 before the syllables

-TCd, -TA, -%2N are added. Examples:

Singular Plural
» ’

1. <0 xpéac Ta xpéata

2. 10T unéateoc TRV nOELTWY

The noun TO ¢@¢ (light) is declined as follows:

Singular Plural
1. 716 ¢fic N T o(TY;Ca
2. 1cT @uwtoc T ewrtwy

138 (a) The irregular verb ITHANZ - ZT.ANCLAT (to send, to be

sent), changes its stem ITiIAN- into 2T 2Th~ In the
simple tenses of the active voice and into ™. A~_ or
2T4N~ in the simple tenses of the passive voice,
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(v)

139 (a)

The simple tenses of this verb are conjugated as follows:

Simple Past

Active Passive
1. EGTSIKQ orak&nxa
2. E£OTELASC , otak“”(ag

2 -
3. €5Telhe OTAAOTHE
1. OTlePue owax@*xage (cmahnxaua)
2. OTellaTe aA“nxu¢e (O*QKTXQTE)
3. CGTSLKav otarenxav (oTéArixav)

Simple Future and S. Infinitive / Subjunctive

. 8& oTeilw Gé otaAdd (oTaAd)
. 98¢ oTelAng 0¢ 0TaAOTiC (omak1g)
¢ OTELAT 6a otaief] (oTaifi

¢

I d I'd
e oteliovue (ovye)
»
~o oTsiLNeEwE
'd
iTELAOULY

ctaifelire (oTaholue)
cTuABTte (otarfitel
owaABolv (oTaloly)

W) Wty =
*
(]
0

L ]

O

A DD
=] Joi fai)

Present and Past Perfect.

1. Zxw-eiya otcinres Exw-eixa otari (otaref
Simple Imperative
oteThe - cTeThte oTaAocy - GTarfite (orersfitel
Participles
Active (Continuous) Passive (Simple)

L4 »
gTEAVOVTAL CTAAUEVOC, =T, -0

‘9

The continucus tenses of this verb are conjugated ian the
regular manner,

Yerbs in -1 :itial -TC.MIA, A few passive verbs in - IZHAI
instead of adding the syllable -!!® to their stem to form
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tne stem of their simple tenses add the syllabe -0,

Among the most commonly encountered verbs of this class
are:

~ z 3 2~ ~n? 2l
1. funizuar (Cupéenxa - &4 rapeed)
-G L , Ul ! ;

= to get tired
of, to get bored

. , L& N . -~
2. apancvieual (ﬂapavovevnxa - 0Q 7160GTOVEAR) -
to complain

2 ~ ~? ~o
3. otevoywel éual (oTevoywpédina - ng& CTEVCYWREDD) -
X + [y N
to be worried, to be upset

’ Z i ~m~
4. oopirepar (gpeodomua - 64 eeocfid)= to be worn

(b) The participles of the verbs listed above end in-—EMENOZ.

kxamples:

»
Taparoviepal -  wagazovepdvoc
L d
OTEVOXWPLEUGL =  oTzvoywpeusvoc
poptipal -  vopeutvog
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140

GRAMMAR ANALYSIS

PAMMIATIKI

The irregular verb XAIPCMAI (%o be glad, to be hanpy,
to enjoy) changes 1ts stem from XAIP- to XAP- in the simple

tenses,

It should be noted that this is a deponent verbdb; it

i1s conjugated like a passive verb but it is active in meaning

and on occasions it takes a direct object.
The principal tenses of this verb are

case it means to_enjoy.

as follows:

Continuous
Present
-
- Xalpopat
. Xaipeoal
XaipeTat

*

L4
X a1 popacTe
. Xatoeote
. XxatpovTtai

WM W
]

Continuous Future and
Contin, Imperative / Subj.

' d ' d

- VQ xaipwpas

. Va xaipeoat
HTA.

\S ]

Simple tenses

Simple Past

xaemma
X @onneg
Xapmne

xapfixape
xaphmate
xapnxav

WM ke W
[ ]

148

In the latter

Imperfect

X1 POy
Xt pOO ovV
Xa1poTav

Xa1pOuacTe
Xa1pooacTe
xatpovtav

Continuous Imperative

,
va

0
oa
fa

0
8g
ea

I 4
XGipEoat - va xaipeote

Simple Future

(va) xap®
(va) xapfi¢
(va? xapf

(va) yapoBue
(va) xapfite
(va) xapoiv



141 (a)

(v)

(e)

Present & Past Perfect Simple Imperztive

Exw - €Tx9 xapf va xapfic -  v& yapfite
EXElC = elxec xapt

The deponent verb AEXOMAI (to accept, to receive, to ad-
mit, to let In) changes its stem AEX- into AEXT- (or its
variant AEX®-) in the simple tenses, Since this verb
follows the rsgular conjugation pattern of passive verbs
only its principal tenses will be listed below in the first
person. They are:

Bexouar - Sexduovy - Séxtnxa - 9&(vE) Sextd - Eyw

L4

(eixa) Sextf - 6egov, bexthite

The continuous future and the conditional, patterned after
the present and the imperfect tenses respectively, are not
listed separately,

Since the verb AEXOMAI means to receive someone ..or someth?
it 1s impossible to use it in the sense of to be.received,
This is true of all Greek deponent verbs. To give the pas-
sive counterpart of such verbs we elither have to resort to
& phrase -~ in this particular case I'INOMAI AEKTOZ (to
become received) -- or simply the active meaning of the
verb is retained and such changes as are necessary are made
to the sentence to indicate the desired meaning, Examples:

English : Greek
l. The President received 1. ‘o IIpoedpoc SEXTIHE TOV
Mr, Politis, x0pio HoAity.

2. Mr. Politis was recelved 2. ‘g x0pi19¢ Toritne Zyive
by the President. 6extoc and tov Hpded po.

1. We enjoyed our children. 71, Xaphxape T@ ®ai614 BaC.

2. The good weather was en~ 2, “Opo; Xappeay Tév wald

JOyed by 2ll, (All N xaspo,
Jjoyed the good weather).

149



142 (a)

(b)

The deponent verb $AINOMAI (to seem, to appesr, to be
visible) changes its stem PAIN- ipto PAN- in the simple
tenses. The verb PAINOMAI is conjugated as follows:

Continuous Tenses

Cont, Future
Present Imperfect & Infinitive Subjunctive
1. ¢aivouat PaLYOROLY eé(vé) paivepal
2. ¢alveoal ®aivocovy 8a(va) eaivecal
3. palvetal paivoTav ealva) ogatvetal
1. @aivOpaoTe @aAIVOLAOTE 8a(va) oaivopaste
2. paiveoTe @a1vo0oacTe 8a(va) oaiveote
3. palvovtal eailvovTav sa(va) gaivwvtal

Continuous Imperative

va oaivecar - vd paiveote

Simple Tenses

Simple Past Simple Future Present & Past Perfect

1. gavnxa 8a pavd Exw~-cixa oavi

2. Qavnxec 0a oavfic Exerc-eixec qavii
3. eavmxe 84 gavf WTA.

1. pavfxape 64 gavodpe

2. opavixate ea gavfite

3. eavrxav 06 pavolv

Simple Imperative

pavov - gavijte

The verb gaivcpal like the verbs a;o&&vop.cl, Bpioxo-
wat, yivopai, eipat, pévw - (and a few others) re-
quires that the noun or pronoun followinz it should be in
the nominative case. This happens because any one of the
above verbs simply tells something about the subject.
Therefore the noun or pronoun that follows these verbs
should be in the case of the subject. In grammar books
this is kmown as the predicate nominative., Examples:
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te)

John feels weals,

llary feels weak,
John was left alone,

Fy mother was left
alone,

My brother becane
a doctor,

My sisters became
teachers,

This man was left
poor.

We were pleased (we
remained pleased
from) with your work.

1.

t I 2 » »
O Tiravvne alcBavetar ado-
vatoc.

t ’ 2 ’ ? V d

H Mapia aioCavetat aduvvartr.
‘0 Tiévvne ppéemee povoc.

H untépa pov fpéomxe podvn.

‘0 aBerpde pov EyiVe yiatpoc.
t », Ll bd
01 &ésxweg pov eyivav Saoxa-

AECa

2 - L 4
AVTOC 0 avOpwmog Bpeive @Ta-
X0C.

Meivape EéxaplGTnuéVOI RS
™ SovAeia ocac.

The verb AIZEZANOMAI may teke a direct object instead of a

predicate nominative,

In that case the direct object is in

the objective case, as usuval, Exumple:

Atocavenxa tév wpdo Gépa. (I felt the cold air).

® % % ¥ %X X % X

NOTE:
The verb KAIX-KAIOMAI which was introduced in this
lesson will be discussed at length in lesson 48,
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LESSON 48

GRANMAR ANALYSIS
I'PAMMATIKH

143 (a) The irrigular verd KAIQ-KAIOMAI (to burm, to be burmed)

changes its stem KAI- into KAV. in the simple tenses of
the active voice and into KA- ia the simple teamses of the
pasesive voice. Furthermore, the verdb KAIRQ is normelly
contracted in the present temse the way the verd AEQ is
(see #92), The complete conjugation of the verd KAIG-

KAIOMAT is given below:

nt Tonses
Present Tense Imperfect
Active Passive Active Imperfect
1. xale xai(y)opas Exai(y)e xat (y)duoov
2. waf¢ IGI(Y)QGCI QXG.!(Y)CC xm(f)ooow
3. nater wai(y)eras txai(yde  xai(y)dtay

1. xelue wxai(y)opeote xai (y)a.u.c xas(y) o opaoTe
2. xafte xai(y)eots xai(y)ate xas (y)ooaote
3. xalve xai(ylovtas exas{pdav xeaily)ovray

1. va xaie | va xai(y)auas
2. va xaft¢ va xai(y)eoas

ATA. ATA.

Contiguous Imperative
xalT(y) e-xaiyete va naiyecas --va xalyovres
Simple Teysep

Sisple Past So¥ut, a3, Inf,[Subj,

Active Paseive Active Passive

1. Exaya xdnxe 8a(va) xdye 8&(va) xal
2. exavec xanxec 8a(va) xa¥me 8&(va) xafic
3. Exaye xanxe ealva) xaym ealva) xeff

1. xayaue xefjxape 0&(v3d) x&yupe 8a(va) xaolpe

2. xavate ngfixate 0&(va) xg¥ete 0a(va) xafite
3. Exavay xamav  B8&(va) wdyovy 6a(vE) xaoby
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M)

144 (a)

(v)

(o)

Present & Past Perfect

Active Passive
Exo-eixa xéyes Exo-elixa xaff

S ® rative
Active Passive
naye-nayce xayov-xaffre

garg:lg‘ iples

Agtive (Contimuoug) Passive (Simple)
xat (y)ovtag : xapévo¢, -1, -0

The verd KAAIQ (to ory) is conjugated exastly like the verd
KAIS im the active voice.

The ismtramsitive verd [IE3TR (to fall, %o d&rop) changes its
stem IIEST- into [IEZ- ia the simple temses ef the active
voice, The primcipal teases of this verd are txeoa,
0& xécw in the present, simple past, amd siiplm
tenses respectively, The simple imperative of this verd is
xéoe - Xéote All other tenses are oonjugated socording

to the regular conjugation pattera of active verbs,

Since the verd [IESTR is an intransitive verk (it does mot
take 2 direct object), it lacks & passive voioce counterpars,
Vhenever the English verd go_ggfmg is used ia a sen-
tence, the Greek verd ptxvop,cu t0 be throwa, to de d&rop-
ped) is generally used, All other meaniags of the verd $o

as for example, $o be dismissed, are traaslated
Yy other Greek verds,

The verd [IBETR often takes an indirect objest ia the third
person, Ia that oase, the seateacs strusture fanm the
pattern of the expressions po¥ aptoes, pol x&es, obe.
It should be remembered that ia this mo of sentends struo~
ture the moun followiag the verd is its subject, amd 1t
should be iz the momimative case. The literal traaslatioa
of the expression X&T: pof ETxece is something csme off
of me, semethiang fell frop me. Study the folloviag examples:
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145

(a)

1. You dropped your pea. 1, Z¥¢ (0o8) Exese 1 xéve

oas.
2. Be lost his bair, 2. ToG E€xecav t& pairi& Tov.
3. She drew the first 3. txeoe o x a
aumber, :22. plrec apLe=

The verd PIXNS - PIXNOMAI vill Pe discussed in detail ian
lessor 49, The verd AEINQ will be discussed ia lessom 50,

The word 45 x8y Iis declined like the word b x
In the possessive oase of the chnlar the mont‘mpl dowa
to the last syllable (<to¥ xavtdc).
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146 (a)

[

(A)[\)!-l W

LESSON 49

GRAMMAR ANALYSIS
F'PAMMATIKH

Verbs with stem endings in -K, -I', and -X, All regular Greek
verbs whose stems end in -K, -3K, ~I', =IT, =X and-XNchange
these stem endings into -% in the simple tenses of the activs
-voice and into -XT, or -X8, in the simple tenses of the pas-

sive voics.

The verd ATAAZKR - AIAASKOMAI(to teach, to be

taunght), which wiil serve as a model for this class of verbs, is
conjugated as follows:

- Continuous Tenses

Present rfect

Active Passive Active Passive
61630%w 8 1Eaoxopat 8i8aoxa 6 18 aoxdpouvy
thgoxetc G;Gg.oxeoat ageaoxec Gtéaoxgoovv
Si16aoxnes 616aonetal Si1&aoxe 8i1&aoxotay
616aoxope  &16goxdpacte 8 18aoxape 618aoxdpacte
étﬁgoxe're bwg.oxeo'ce Ggﬁaoxa.'te blbgoxooao'te
61&aoxovy 8i18aoxovrtal 8i18aocxayv 818aoxovtay

Contimuous Future and
Cont, InﬂnitivoZSnbsEctin
8a (va) 818douw 8¢ (va) 616doxwpal
8a (va) 6i8aoune ea (va) &65i8aoxeoat
AT, ATAe
Participle (active) Contimuous Imperative

518aoxovrtac

. Gibgoxe - 6166gxe‘re'
va 6i18aoxeocai - va 8i15aoneote
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(v)

(e)

(a)

Simple Tenses

Simple Past Simple Future amd
Simple Infinitive/Subjunctive
Active Passive Active Passive
8i6ata 518ayTnxa 8a(va) 616akw ealve) 516axtd
Gtaagec 6t6ax'mxec 8a(va) thagnc ealva) 61&axtiic
818ake 818ayTnxe ea(va) 618afn ealva) &18ayth

Gtéagape 6t6ax'tf]xa.p.e 8a(va) Gsaag(q:.e 83(va) 6i8axtobue
616akate 81baxThxaTe ea(va) 816acete 6a(va) 6ibaxtiite
8i6aZav & s&ax'mxav ea(va) 6i18akouv 6a(va) §i8aytobv

Present and Past Perfect

exm, etxg aubaget exw, stxg 518aytf
Exetg, eixec 516aket exeirc, eixe¢ Sibayth
ATA. 2T,

S 1 erative

6i6ake - Bi18akEte 818aEov - Sibaxtiite

Participle ssive

616aypévo¢, -n, -o

The transitive verd PIXNQ and its passive counterpart PIXNOMAI
(to throw oneself at, or into) is conjugated exactly like the verd
ATAAZKSR ~ AIAAZKOMAI,

Among the verdbs of this class that have already been included im
the vocabularies of preceding lessons are the verbs BHXQ, BPEXEI,
[NIPOCZEXQ and TPEXRQ, They are conjugated according to the above
pattern,

In addition to the impersonal verb BPEXEI there is a verd BPEXSR
which means %o dampen, to wet, The active voice of this verd fol=-
lows the standard pattern set above, The passive voice is irregu-
lar. The stem BPEX~ ochanges into BPAX- in the simple tenses

of that voice. The principal tenses of the verd BPEXOHAI ,ares
Boéxouat, Bpexopovv, Bpaxyxa, 0a(va) 5paxm Exw-eixa Bpe-
yas Bpezov-ﬁpaxﬂ'ce. Bpeyuevog, -n, -o.
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(e) The passive ‘participle of verbs of this class ende in

Examples:
Bpéyopat Bpeyuévog
615aoxopas 616aypevog
pixvopat pLlyuevog
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147 (a)

LESSON 50

GRAMMAR ANALYSIS

F'PAMMATIKH

Verbs with stem endings in -II, =B and -&.,

regular Greek verbs whose stems end in -II,

-B, -% and -9T, change their stem ending 1nto
-Y in the simple tenses of the active voice and
into -@T, or -39, in the simple tenses of the
passive v01ce. The verb ANAKAAYIITQ - ANAKAAY-
IITOMAI (to discover, to be discovered), which

will serve as a model for this class of v

is conjugated as follows:

Continuous Tenses

Present

Active

gvaualuxtw
gvaxaluxtelc
avaxaivnrtes

gvaxaloxroue
9vaxalut¢s¢t
avaxaloRTovy

Imgeffect

wN.H W)

Active

avaxalunta
gvaxaloxtec
avaxaivxte

gvaxaloatcpe
gyaxahvttarc
avaxaivntay

W ?’NH

158

Passive

9»::«101109&;
gvaxaidnteoas
avaxalvntetat

9»ax¢lox¢oummte
awaxcloxreoce
avaxaldxTovTal

Passive

gvaxalvutouovv
9vaxc101toooov
QVaRAAVNTOTAY

gvaxaluttopactc
gwaxalnxtoccatt
avaxaAtnTovIay



Continuous Future and
Cont. Imperative / Subjunctive

1. 6a(va) g'waxa.x\:m'cm ea(va) gwaxalmr'wp.m
2. 6a(va) avaxaivming ga(va) avaxalvmrteoas
XTA. ATA.

Participle (active)
avaxaivntovral

Continuous Imperative

» Ll
Qv ax&)\tpt'ce - vc:z 9V0(¢7L§1t‘t€0al -
aQVaxXaAvnTeTe vVa aQvVaxaAvnTeoTe

SIMPLE TENSES

Simple Past

Active Passive
1. g.va.xalu#a gvmxoma
2. gvaxaivyec gvaxardeTxed
3. avaxalvye avaxa.xomxe
1, q.va:xaxuwcu.e g.vnalom:gxqse
2. gvaxalota'l:e paalvmm'te
3. avaxdivyav cvualomu

Simple Future /
S. Infinitive / Subjunctive

1. 8a(va) g.vaxa.)\w(o ea(va) g.vaxc.lmﬁ
2, 6a(va) gvaxaidyne 8a(va)
3. sa(va) avaxaidym ea(va) avcxa.).vm

1. 8a(va) Swaxakowlmpe 8a(va) stvmcalmoﬁpe
2. ea(va) pa.xa.?\uq;e'ce ea(va) gvaxaivotite
3. 8a(va) avaxaidyouv 6a(va) avaxaivetoby
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(b)

(c)

(d)

143 (a)

(b)

Present and Past Perfect

Exw, 8{xg avaxaibyey Eyw, eixa?&vaxglowtﬂ
EXE1¢, €iXeC avaxalbves Exei¢, eixec avaxalvpth
XTA, XTA.

Simple Imperative

L4 ] » 2
avaxdivye - avaxaldyte  avaxaidyov - avaxalvgtite

Participle (passive)

avaxaivppévog, -1, =o

The verbs ANABR, T'PAPR - I'PASOMAI, ©OABR - ©ABOMAI,
and AEIIR are some of the regular verbs of this

class tkat have been introduced in this or in pre-
vious lessons. They are conjugated like the model
given above.

The verb ENIZTPEPR - EINIZTPEPOMAI belongs in this
class. while the active verb s conjugated the re-
gular way, the passive verb is irregular. It will
be taken up in the next lesson.

Passive (past) participles of verbs of this group
end in -MMENOZ, Examples:

ypagouat vpappévo¢, -1, -o
faBouas fapuevo¢, =-m, -o
avaBopal avaupevog, =1, =o

The verb AEIXN@ - AEIXNOMAI (to show - to show off,
to show oneself) is conjugated exactly like the
verb PIXNR - PIXNOMAI (see #146 b).

The intransitive verb ®TAIQ is conjugated exactly
like the verb KAIR in the continuous tenses (includ-
ing all the contractions). In the simple tenses in
changes the stem $TAI- into &TAIE-, Its principal
tenses are:

grain, fetai(yla, E@tgtga, 9&(26) PTaiiw
exw-eixa oraiZei--@tatfe - pratite
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Masculine nouns in -HZ denoting titles change the
ending -H2 into <A in the vocative case in for-
mal situations. Examples:

I d Ld I d Ld
xuptLe 6;sueuy1a ®UPLE OuVTaypatTapya
XUPIE Taypatapxa

NOTE concerning the verb ONOMAZOMAI. This verb,

like the verbs PAINOMAI, TINOMAI, etc, tells some-
thing about the subject. It is a linking verb. As
such, it requires the noun following it to be in
the nominative case. No article should precede
this noun. Examples:

1. My name's John 1. 'OvopdZopa:r Tidvvne
Pappas. Ilannrdcg.

2. His son's name is 2. ‘0 Y10¢ Tov 6y°u&ge-
Paul. tai Ia¥iog,

3. The people who 3. Oi'&vawno; %90 Zobv
live in England othv AyyAia ovopa-
are called English, Zovtat Ayylos,
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150 (a)

(b)

(c)

LESSON 51
GRAMMAR ANALYSIS

I'PAMMATIKH

The verb ENIZTPEPR - ENIZTPESOMAI, This verb
consists of two parts; of the basic verb ITPE-
$% - ZTPE®OMAI (to turn something - to turn
oneself, to revolve), and of the prefix EMNI,
The active verb ITPE®Q is conjugated like any
other regular verb of its class (see #147a).
The reflexive verb 2TPE®OMAI, however, changes
the stem 3TPE®- into ITPA$- in the simple ten-
ses. The principal parts of ITPE®Q are:

gtpéow, E€otpepa, Eotpeya, 8a(va) otpéyw
EXW -~ ElXa OTPpEYEL, OTPEYE - OTPEYTE

The continuous tenses of the reflexive verb
ZTPEPRMAL are conjugated the regular way. The
simple tenses of ITPE®OMAI are conjugated as
follows:

Simple Future & Present & Past
Simple Past 5. Inf./ Subj. Perfect

1. otpaonxa ea(va) otpagd Exw-eixa oTpagf
2. otpaenne¢  0alva) orpagiic
3. oTpaerxe 6a(va) ortpagf
1.
2.
3.

otpagpinape 0a(vd) oTpagobue
otpagnxate 6a(va) ortpaeiite
cteagnxay  8alva) otpagpolv

Simple Imperative Participle

otpéyov - Grpagfite oTpauuEvoc, =1, =0

The verb ENIZTPE®Q - ENIZTPEPOMAI is conjugated
like the verb ZTPE®R -~ ZTPE®OMAI, but with one
important difference. The difference in question
is that in the two past tenses of the active voice,
the augment g- is added in front of the basic verb
ZTPE®- and not in front of the prefix. The two
past tenses of ENIZTPE$R are conjugated as follows:
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(d)

(e)

(£)

151 (a)

(b)

Imperfect Simple Past

1, ¢néotpega ¢néotpeya
2. ENECTPEQPES ENEOTPEVEC
3. EMECTPEQPE ERECTPEYE
1. gmiotpépape intompépre
2. gmioTPEQATE gnioTpEYaTE
3. EnNECTPEPAV ENECTPEYAV

All Greek active verbs consisting ofa one-syl-
lable stem and a prefix behave like the verb
ENIZTPE®R in the two past tenses. 1In general,
the augment &~ is added to a one-syllable stem
to provide the third syllable necessary for the
stress to move up. However, where the ending
itself provides two syllables, the augment e

-is superfluous and is dispensed with. This is

the reason why the augment &- is not used in
the passive voice.

In cases where the prefix ends in a vowel, the
augment e- usually knocks that vowel off, Ex-
amples: '

¢ni + Eotpeva gnéotpeva
VRO + Eypaya UNEypava

The verb KATAITPE®S - KATAZTPEPOMAI is conju-
gated exactly like the verb ENIZTPEIR - EII-
ZTPESPOMAI.,

The deponent verb ZKEIITOMAI (to think, to think
of) is conjugated like the standard verb ANAKA-
AYIITOMAI, The deponent verb YIIEPAZIIIZOMAI is
conjugated like the verb METAXEIPIZOMAI, They
both take direct objects.

The verb EMNIZKEITOMAI (to visit, to call on) is

a derivative of ZKEIITOMAI and is conjugated accord-
ingly.
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152 (a) The verb YNOBETR (to suppose, to assume, to pre-
sume) consists of the basic verb @ETR (to place,
to put) and the prefix YO, The basic stem @ET-
changes into ®B3- in the simple tenses of the ,
active voice. In the past tenses the augment e-,
placed before the basic verb, knocks off the fi-
nal vowel of the prefix YII0O, The two past tenses
of the verb YIIOBETS are as follows:

Imperfect _S. Past
[ § V] L 3 o

1. yxgeeta yugeeoa
2. pnedevec pnebeoec
3. vRedeTe VnEBeoce
1. prodévape yRo6Ecape
2. probetate probecate
3. vrebetav vnebeoay

(b) The future tense of YIIO®ETS is @A YIO®EZR, The
basic verb @ETR forms many derivatives. They
will be taken up in time.
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153 (a)

(b)

(¢

LESSON 52

GRAMMAR ANALYSIS
I'PAMMATIKH

The irreguvlar deponent verb ITEKOMAI (to stand,

- to be standing) changes the stem ZTEK~ into

2TAB- in the simple tenses. The continuous ten-
ses of this verb are con jugated according to the
standard pattern. The simple tenses are con juga-
ted as follows:

S. Future &

Simple Past S. Imperative / subj.

1. otaemxa 0a(va) oraed

2. otaenueg 8a(va) otaéfic

3. otaenxe 8a(va) otaof

1. otalixape 8a(va) otadobue

2. otgéfarte 8a(va) otaefite

3. otasmav 6a(va) otadoby
Present & Past Perfect S. Imperative

Exo - eixg otaof otacov - gtabfite

eExei¢ - eixe¢ otaof

NTA.

The imperative ¢tagov - otadfjte means stop!
Stay where you are!

The verb ZTEKOMAI takes a predicate nominative.
Consequently, the noun or pronoun following it
is in the nominative case. Examples:

1. The President stands 1. ‘0 Hpdedpoc oxéxe-

alone. Ta: govol Tou,

2. Miss X was standing 2. 'H Aeoxotvic X ote-
by herself at the XOTAV Bovn TN OTH
bus stop. otaon Tol Acagpo-

ptiov,
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154 (a)

155

(b)

(c)”

The verb YIIAPXR (to exist, there is, to be)
takés its augment before the basic verb and
not before the prefix YIIO, 1In the case of
this particular verb, however, the augment
is formed by changlng the initial vowel a-
of the basic stem into n- Thus, the imper-
fect tense of YITAPXQ is YIIHPXA, The simple
past is YIHHPEA,

The verb YIIAPXQ is generally used in the con-
tinuous tenses in the sense of to exist, there
is. In the simple tenses it is the equivalent
of the verb to be. Therefore, the form YIIHP=A
means I was, I have been. The form @A YIIAPESR
means I shall be, It is suggested that the
students avoid using the simple tenses of this
verb until such time as they are truly profi-
cient in the language. The verb EIMAI is a
good substitute.

The verb YIIAPXR also takes a predicate nomi-
native like the verbs EIMAI, ZTEKOMAI, etc.
Examples:

10 xbprocg Tpobyav vnfipre Mpdedpog.
Ynfipyav, xohhot ueyglos avOpumos
eThV Aenva To 502 aiwva,.

The verb KABOMAI. The verb KASOMAI (to sit,

to be seated, to reside) is comnjugated like
any regular verb in -OMAI in the continuous
tenses. It is conjugated like am active con-
tracted verb in the simple tenses. The stem
KA®~ takes the syllable -H3 to form the stem
of the simple tenses (like the verbs METPQ
QERQPR, etc.). The conJugatlon of the 51mp1e
tenses of the verb KA®OMAI is given below.

S. Future &

Simple Past S. Infinitive / Subj.
1. xaénoa 8a(va) xa6how

2. xaeﬂoeg eg(vg) xaeponc

3. xaenoe ea(va) xaénom

1. xa®foape 8a(va) waéfjowpe

2. xgbhoate 8a(va) waéfoete

3. xaénoav 8a(va) wadénoovv
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156 (a)

(b)

Present & Past Perfect S. Imperative

” 2 i ’ Id ~
EXW ~ eixa xabnoei wabnoe(xatoe) - xa6étjote

Participle (perfect)

xadiopévo¢, -7 -o

Masculine nouns in -E3 -EAEZ, -0YZ -0YAEZ,

-A2 -AAEZ, -HZ -HAE3, Masculine nouns ending in
~EZ or in -0OY2Z follow the normal pattern of drop-
ping the ending -2 of the nominative case to form
all the other cases of the singular. They take
the endings -4AEZ, -4AQN, -AEZ attached to the ba-
sic stem, to form the corresponding cases of the
plural. The objective case of the singular is
considered the basic stem of these nouns. Typi-

cal nouns 6 xavaﬂég (couch) and 6 naﬂxoﬁg (gran-

father) are decliined as follows:

Singular
L 3

Nom. ) xavaxéc' o mammodc
Poss.  1of xavang To¥ manmod
Obj. TOV XAVaANE TOV Xanmo
Voc. AAXTNOV

Plural

[Y o L -~

Nom. oi xavans@ec ol nanuou§e<
PO%So tﬁy Xavanedwy t&y XANROLS WV
Cbj. ToU¢ xavamede¢ Tovg manmoBSec
Voc. xaxno¥bec

Masculine nouns in <HE or in -A3 adding the end-
ings -AEZ, -AQN, -AEZ to their stem to form their
plural generally denote some trade or occupation.

Typical nouns o pavapne (a vegetable vendor) and
o yapac (fisherman) are declined as follows -
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(c)

Singular

Nom. o pavapn¢ o yapag

Poss. 7of uavaﬁn To?¥ Vapd

Obj. To pavapn TOV Wapa

Voc. pavapn vapa
Ilural

Nom. ol pavaﬁnaec ot Wapaﬁec

Poss. <fv uavapnbov v Yapadav
Obj. woi¢ pavaﬁn&ec To0¢ Wapabec
Voc. p,a,vaBnﬁ (X4 \bo.pabec

The words x (coffee), Aexég (grease spot)
peveEeg (vio e , tevexée (Tinm can), xeoté
(hamburger) are declined like the nolm g o _xava-

né¢. The words naxahng (grocer), Al
(Jealous) TE ﬂe Zlazy) gapxapnhHT man)

POVPYAPTIC (bakgr ’ xagaxng (redcap, port;r) are
declined like o pavafng,

The words wana¢ (priest), pmaumdc (daddy),
ua¢ (baker ,‘xaurgg (argumenf, quarrel), are ae-
clined like o vapa¢.

The word o voli¢ (mind) follows the pattern of
naﬂxoug, It does not occur in the plural.
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157 (a)

LESSON 53

GRAMMAR ANALYSIS
F'PAMMATIKH

Verbs in -EYQ ~EYOMAI., The great majority

ol Greek verbs whose stems end in -EY change
their stem ending into -E¥ in the simple ten-
ses of the active voice and into -EYT (or its
variant -EY®) in the simple tenses of the
passive voice. Since the continuous tenses
of this class of verbs follow the normal con-
jugation pattern only the simple tenses will
be conjugated below. The verbs [IANTPEY2 (to
marry someone off) and IIANTPEYOMAI (to get
married) will serve as our models.

Simple Tenses

Simple Past

Active Passive

Tavipeya navTpedTNa
AV TpEVEC TavTpedTNNEC
RAVTPEYE navpetTNxe

navTpEyape navTpevThnaye
naAvIpeEYaTe »xavtpegtnxate
TavTpeyav FaAvVIpELTNNGY

wmr W =

S. EFuture &
S. Infinitive / Subj,

Active Passive
1. ea(vg) TavTpEYw 0a(va) mavipevrtd
2. eg(vg) TavTpEYnC egtvg) TaviIpevtiiC
3. ealva) mavrpeyn 8a(va) mavrpevt
1. 8aivaj TavVTPE yupe 6G(va) Tavrpevtobue
2. 8alval NavTpEYeTE 6a(va) mavtpevtiite
3. 6alve’) mavTpéyouvv 8al(va) mavrpevtoly
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Present and Past Perfect

»” T . »” T
EX®W - €1Xa MAVTIPEVEL EXW - €iyxa WAvVTPevLTH
KTA. ATA.

Simple Imperative

MGV TPEYE - TavTpéyte RavIpéyov - RavepevThite

Participles

navtpedovta¢ (present) mavtpepévoe, -1, -o

158 (a) The verb KAAIR - KAAI(T)MAI(to cry - to com-
plain, to'be sorry for oneself) is conjugated

exactly like the verb KAIQ - KAI(T')OMAI, Its
principal tenses are:

xka;m, exka;ya, exlaWa, ea xlan,
EXW=EiXa XAQYEL == xAQYe = aAayTE

xhai(y)opat, xharydpovy, xhabTnxa, 6a xlaut& -
XAQYyov - xAavtfite -- xhappévoe, -1, =

159 (a) The irregular deponent verb NTPEINOMAI (to be
ashamed of, to be embarrassed, to feel ill-at-
ease) changes its stem NTPHEIl= into NTPAI- in
the simple tenses. The principal tenses of
the verb NTPEIIOMAI are as follows:

vIpénouat, vrpegopouv, VTpanMa
8a(va) vrtpand, Exo - eixa v=

(b) The imperative mode of this verb is not used.
Commands are given in the subjunctive. Exam-

Eles:

Na v¢pexeoa; oyav be lec 1nv alneetc.
N& vxpanfite Y* avTo Moy xavarte.

(¢) The verb NTPEIIOMAI is a transitive verb; it
is frequently followed by a direct object.
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160 (a) The verb ENITPENR - ENITPEIOMAI (to permit,
to be permitted) consists of two parts, of
the basic verb TPEIRQ - TPENOMAI (to turn
toward, to change) and of the prefix ENI,
The verb ENITPENR is conjugated according
to the standard pattern for its class in the
active voice. In the passive voice, the stem
ENITPEN -(or the basic stem TPEl-) changes in-
to ENIITPAll- (TPAIl-). The principal tenses of
EIIITPAll- are:

[ » 0 2 o o, o 2 P
gntxpgxm,'eﬂetgena,,egexpeva, ?a(va) EMLTPEYW,
EXW~EiXa EMITPE YEL, ENITPEYE ~ EMiTPEYTE

(b) The principal parts of ENIITPENOMAI ,which is
generally used in the third person are:

? V' 4 » 2 P d
EMITOENGTAL, ERLTPENOTAY, EFITPAXNXE,

9a(va) exitpanf], exei-eiyxe emitpant,
ETI TETPAUUEVOL ¥

(c) 1In the two past tenses of the active voice
(imperfect and simple past) the augment is
added in front of the basic verb and not in
front of the prefix as explained in #150 c.
They are emétpema and &nétpeya respectively.

(d) The verb ANOTPEINR - ANOTPEINOMAI (to prevent,
to be prevented) is conjugated like the verb

EIIITPENQ -~ ENITPEIIOMAI,

161 (a) Feminine nouns ending in -O0Y and in -A (plural
. Feminine nouns belonging to these

groups follow the regular declemsion pattern

of feminine nouns in the singular. They add

the endings -AEZ, -AQN, -AEBZto the stem to form

the nominative, possessive, and objective cases

of the plural respectively.

* The form éxltetpappévoc is a left over from the
ancient conjugation of the verb. It is a noun
now meaning a charge d'affaires, a diplomatic
title.
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(b) The nouns T akemod (fox), M paiuod (monkey)
are the most commonly used nouns of the first
group. The nouns N paud (momy, mamma) and
n pava (mother) are the best examples of the
second. They are declined as follows:

Singular
Nom. N gAemod N papd
Poss. Tij¢ aremolc ¢ wapdc
Obj. TNV aAETOVL N papa
Voc. papya
’lural
Nom. ol éK8ﬂ0§58g o1 pauéﬁec
Poss. 1@v giremouduv Tév papadwv
Obje. Ti¢ aAreTolbec Ti¢ papadeg
Voc. papadeg
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162 (a)

LESSON 54

GRAMMAR ANALYSIS
'PAMMATIKH

Verbs in -EYR - EY3A. Not all verbs in -EYR
change their stem ending -EY into -E¥ in the
simple tenses of the active voice. A few
verbs of this class change their stem ending
into -EYZ (or -AYZ if the verb ends in -AY®),
In the simple tenses of the passive voice the
stem ending -EY® (or -AY®) is preferred over -
the alternate stem ending -EYT (or -AYT). The
conjugation of the simple tenses of our model
verb @EPAIIEYR - ®EPANIEYOMAI (to cure - to be
cured) is given below.

Simple Tenses

Simple Past

Active Passive
1. eepanevoa 8epanevonxa
2. Bepamevoeg eepaxegenxec
3. Begpanevoe fepanevomne
1. 6epanedoape Oepanevbinape
2. 8epamevoarte 8epanevenuarte
3. Bepancvocayv SepanevoOmay

Simple Future &
S. Infinitive/Subjunctive
Active Passive

8a (va) 8epanedon 63 (va) eepancvod
ea (va) Bepaxevone 6a (va) 6epancvefic
8a (va) eepamedon 8& (vd) 6epanevef

83 (va) ecpamedouwpe 8a (va) eepanevdobpue
8a (va) Bepaneboere 6a (va) Oepancvofite
8a (va) 8epanedoovy 6@ (va) Oepaxevooly

wur W =
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Present and Past Perfect

”» 7 “ . »
EXW, eixa Bepamevoer exw, e?xa 8epamnevefy
XTA. XTA.

Simple Imperative

8epanevoe - Bepanelote Oepaxeboov - Bepanecv-
efjte
Participles

fepanebovtac fepamevpévoe (Bepamepévog)

(b) The verbs EKIIAIAEYQ - EKIAIAEYOMAI (to train,

163

164 (a)

to be trained) and ANAIAYR - ANAIIAYOMAI (to
rest - trans and intransitive form) are con ju-
gated like the verb @EPAIIEYR - OEPAIIEYOMAI,

The verbs AIIATOPEYR - AIIATOPEYOMAI (to forbid,
to be forbidden) and ZYNOAEYR - ZYNOAEYOMAI

to escort, to accompany -- to be escorted, to
be accompanied) are used either way. But since
the -EYJZ -EY8 stem endings are still preferred
by the Armed Forces, we shall use both variants
of the above verbs here.

The irregular deponent verb ZEBOMAI (to respect)
adds the syllable -AZT to its present tense
stem to form the stem of its simple tenses.

The principal tenses of the verb ZEBOMAI are:

géBougs, ocBouovv, oepiotma, 6a(vé) oepaotd,
exw-eixa oeBaotf], oepacsov - cePaotiite

Masculine nouns in «EAZ -EIZ, There is a
group of masculine nouns ending in -EAZ (like
O KOYPEAZ) that used to end in -EYZ in ancient
Greek. The alternate ancient ending -EYZ is
still preferred by newspaper writers and army
publications and since this involves only two
cases -- all the other cases are identical in
the old and in the modern forms -- the ancient
variant will be given in parenthesis next to
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(b)

(c)

the modern form. The declension of model
noun 0 KOYPEAZ is as follows:

Singular Plural

Nom. o wxovpéag-(o xovpedC) o1 XoLPETE
Poss.«tof xovpea=(tol xovpeux) Tl xovptwy
Obj.tov xovpta Totg xovpe ¢
Voc. AOVPEQ XOVPETC

The words o BaociAéa¢ (king), o sexgvgag (cor-
poral), o ypappatéag (secretary), o tepéag
(priest), o cvyypapEac (author), are conjuga-
ted like o wovptag.

The word o Paciréa¢ has still another variant,
o Baciiiac.

* % % * % *x

NOTE ON THE WORD H TPAIEZA. The word 7 <tpa-

weZa (bank) is declined like any other femi-
nine noun of its class. In the possessive
case of the singular, however, the old form
tfic TpanéZng is still very widely used, espe-
cially by bank personnel.

* % % % % *
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165 (a)

LESSON 55
GRAMMAR ANALYSIS

C'PAMMATIKH

Verbs in -ZR -EA. There is a large family of

verbs ending in -ZQ -ZOMAI which change their
stem ending -Z into «% in the simple tenses of
the active voice and into ~XT (or its variant
-X8) in the simple tenses of the passive voice.
The conjugation of the simple tenses of our mo-

del verb IMEIPAZR - NEIPAZOMAI(to tease, to dis-

turb, to bother -- to be hurt) is given below.

(The continuous tenses follow the standard pat-
tern,)

Simple Tenses

Simple Past

Active Passive
1. meipaZa TE 4 paY THXG
2. neipake TEL PAY TNAEC
3. meipaZe TELPAYTNKE
1. meipagape TE § poX THxauE
2. neLpafate TEL PAY TNATE
3. melpaZav TE L pay TIav

Simple Future &

S. Infinitive/Subjunctive

Active Passive
1. 8a(vd) TE1PAEW 8a(va) me1paxtd
2. 6alva) meipatng 8a(va) meipaxthic
3. 8a(va) metpasn eal{va) mespay
1. 6a(va) meipatwpe 6a(va) mespaytoByue
2. 8a(va) Te1paEETE ealva) mespayfite
3. 8a(va) merpaZovv ealva) neipayxtoly
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166

(b)

(c)

Present & Past Perfect

’ ¥ » ’ K3
Exw, elya TeipaZel exw, eixa mepayTH
WTA, NTA,

Simple Imperative

Tnelpake - meipaETe Te1pakov - meipaychite

Participles

Te1paZovrac (active ne1payuévog, -n, -o

present)
The verbs AAAAZR (to change), APMAZR (to grab),
AIATAZE (to order), KOITAZQ (to look at), NY=
ZTAZR (to be sleepy), NIAIZR (to play), ZTHPI=
Ze (to support, to prop up), TPOMAZ (to be
frightened), 24YPIZQ (to whistle, to blow) and
SRNAZR (to call, to shout) are some commonly
used verbs of this class.

A few of the verbs listed above have a slight-
ly different meaning in the passive voice.

The majority of those keeping the same meaning
in the passive voice tend to be used in the
third person only. Examples:

1. I didn't play this 1. Agv ERatEZa ward abd~
piece well. TO TO Xopati.

2. This piece wasn't 2, Aﬁya 1o xop&f‘ Sev
well played. MALYTINE AN,

The verb KAN® (to do, to make) usually has the
same stem for both the simple and the conti-
nuous tenses. 1In the simple tenses there is

a variant stem KAM- which some people choose
to use. For all practical purposes, however,
the one stem KAN- can take care of all the
simple and the continuous tenses. The princi-
pal tenses of KANR are:

’ »”» I » IV » 7 o
xavw, exgva, 8alva) xavo, EXw-eixa xaves
xave - xavete (xape-xapete), wxapwpévoc, -1, -o
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(b)

The verb EINIMENE, on the other hand, is con-
jugated like the verb MENR and can occur in
both the simple and the continuous tenses,
though the latter are more frequently used,
In the two past tenses the augment g~ is
placed before the main verb, and not before
the prefix. The principal parts of snluevw
are:

» » | ) * 0 » Pl » »,
gnIpEVR, EeTEpeva, emepeiva, Balva) emipeivo,
ENIPEVE = ENMIPEVETE
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168 (a) Verbs in -AINR -ANA. There is a family of

verbs in -ATNY WHich change their basic stem
ending -AIN into -AN in the simple tenses of
the active voice and into -A® in the simple
tenses of the passive voice. The verb ZE-
ZTAINR - ZEZTAINOMAI (to warm -- to warm)
will serve as our model., It will be con ju-
gated only in. the simple tenses since the
continuous tenses follow the standard pattern.

Simple Tenses

Simple Past

Active Passive
1. zécwava zeo¢§enxa
2. Leotaveg Zeotadnueg
3. Zeotave Zeotadnue
1. Zeotgvape Leotabiinape
2. ZeoTavate Zeotadfnate
3. Zéotavay Zeotaenuay

Simple Future &

S. Infinitive/Subjunctive
1. eé georévw eé Zeotadd
2. 6a ZeoTavng 6a Zeotabfic
3. 6a Zeotavy 6a Zeotaodi
1. 6a Zeotavoue 8& XeotaBolpe
2. 6a Zeotaverte 8a Zeotadfite
3. 6a Zeotavouv 6a Zeotabolv

Present & Past Perfect

Exw - eiya Zeotéve: &xo - elxa ZeotaoR

HTA. NTA.
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(b)

(c)

169 (a)

(b)

Simple Imperative

Y€otave - ZeoTaveTe  4eoTacov - Zeotadfite

Participles

Yeotaivovta¢ (contin.)  Zeotapévog, -1, =o

The verbs IIE®AINR (to die), T'AYKAINR - TAY-
KAINOMAI (to sweeten -- to enjoy, to feel
pleasure), IIIKPAINQ - IIIKPAINOMAI (to sadden,
to hurt someone -- to be hurt, to be saddened),
YYXPAINR - YYXPAINOMAI (to turn cool -- to
feel cool toward), ZYMIIEPAINR (to conclude),
etc., are some important verbs belonging to
this class.

The expression xavet xpvo and xaver Zéom
mean it's cold, and it's warm, referring to
the temperature of the air only.

Masculine nouns in -H3, -EIZ and adjectives
in =-H3, -JA, -IKO, There are two masculine
nouns ending in =-HZ which form their plural

in =-EIZrather than in -EZ. They are ZYITE-
NHZ (a relative), and EYT'ENHZ (a nobleman, or
- if used as an adjective -- a polite person).
The declension pattern of model noun O IYITE-
NHZ is given below. In the possessive sin-
gular the old form, given here in parenthesis,
is still occasionally used.

Singular Plural
Nom. o ovyyevic o1 ovyyevele
Poss. toff ouyyevl) (-ofc) <dv ovyyeviw
Obj. <o(v) ocvyyevn Tou¢ oLyyeEVeETC

In the modern language the adjective EYI'ENHZ
becomes EYI'ENIKOZ ~EYTENIKIA - EYTENIKO,
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(c)

(d)

(e)

Adjectives in -HZ, -IA, -IKO, Adjectives be-
longing to this class are declined like the
masculine nouns in -H3 -HAE3Z(See #156b) in

the masculine gender. The feminine and neuter
genders follow the usual declension pattern
for adjectives of the correspondlng type end-
ings. The declension of typical adJectlve
TEMIIEAHZ - TEMIIEAA - TEMIIEAIKO(lazy) is given
below:

Masculine
Singular Plural
Nom. o tepnech ol TEpnelnﬁec
Poss. <To¥ tepneln Ty Tepnelnéwv
Obj. Tév ¢8pnexn TOUE Tepneknﬁec
Voc. Teumahn Tepﬂslnéec
Feminine
Nom. 7 Teunéra o1 TepxdAeg
Poss. *fi¢ wepnelac
Obj. wfiv teunéra Ti¢ 'rep:lehec
Voc. Tepnéia TEPRENEC
Neuter
Nom. 1o TepméAino Ta Tepxéiixa
Poss. Tof mepnex;xou Tady repnelzxmv
Obje. TO Tepnelzxo Ta tsp:ellxa
Voc. TeunEAixo TeuxERIxa

The adjectives APPRITIAPHZ (sickly), I'PINTA-~
PHZ (grumbly), ZHAIAPHZ (jealous), are de-
clined like O TEMIIEAHZ,

The three genders of the adjective fEPOZ (old)

are "EPOZ - TI'PIA - T'EPIKO, This adjective
refers only to living thlngs. For inaminate

things the adjective MAAIOZ - HAAIA - HAAIO
are used.
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The verb IINIT® - IINI'OMAI, The verb IINIIQ -
IINITOMAI (to drown, to choke, to suffocate)
follows the standard conjugation pattern of
verbs of its particular class in the active
voice. In the passive voice, however, both
simple and continuous tenses have the same
stem IINIT~, The conjugation of the simple
tenses of IINIPOMAI is as follows:

Simple Tenses

S. Future &

Simple Past S. Inf. / Subj.
1. wviyma ’ 0a(va) nviyd

2. mviymec - 8a(va) mviyfic
3. Aviynxe ea(va) wviyf

1. 7viyixape ea(va) mviyolpe
2. nvgpnxwte 8a(va) nviyfite
3. Mviymxay éa(va) mviyolyv
Present & Past S. Imperative

Perfect
Exw - eixa mviyf TviEov - wviyfre
Participle

TV Iyp€vos, =N, =0

Verbs with vowel stem endings. Most regular

verbs with vowel stem endings form the simple
tenses of their active voice by adding the con-
sonant -Z to their basic stem. They form the
simple tenses of their passive voice by adding
the letter -@, or the letters -3T to their bas-
ic stem. Their participles follow the rule set
forth in #133b. Examples:
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L4 [ ”
SD(.Ol’JO) 9.)(090’0.

»
axobopat axovoTXa AXOVGLEV O¢
? rd 2 o,
FROXAE LW gneExAeioa , ,
ATMOXAE Lt Oual ATMOXAELOTNXA  QWOXAEIOUEVOC
8
topbw {6pvoa . i
tSpvopal 15puvBTKa t8pvpevog

The present tense of the verb AKOYR conjracts
- » » 1 4 13 », »

into:  axovw, awod¢, axober -- axobue, axolre,
axolve

The verb &YZQ - $YZIEMAI(to blow -- to fan
oneself) is conjugated like the verbs ZKOYNTQ
(to push), TPABE2 (to pull), etc. discussed in
#120 a. The principal parts of $YZ2 -&YSTEMAT
are guoB, guooloa, gbonza, 0a(va) PUoNEW,
Q§on§e - ouofiEte, QuoLEpatl, uOIOLOLY PLOTXTING,
ea(va) opuonytd,

The verbs [HAQ (to jump), ZKOYNTR - ZKOYNTIE-
MAI (to push, to be pushed), TPABR-TPABIEMAI

(to pull, to draw back), are conjugated like
¢YZR - SYIIEMAI,

All the verbs referred to above have a variant
in =A%, Examples: I[THAAQ, ZKOYNTAR, TPABAR,
®YZAR, They all belong to class I.

Verbs with a -P stem ending. Certain Greek
verbs have the same stem ending in both the
simple and the continuous tenses of the active
voice. They are primarily verbs with stem
endings in =P in «IN or in -YN, The verb
[TPOZPEPR - MPOZSEPOMAI (to offer -- to volunteer)
is a typical example of a verb with a P stem
ending. In the active voice it has only one
form for the two past and the two future tenses.
In the passive voice the letter © is added to
the stem ending _p to form the simple tenses.
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The verb IPOZ®EPR - [IPOZEEPCMAI is conjugated
as follows:

Active voice

Continuous &

Present Simple Past
1. MPoooEPw TPOCHEPA
2. MPOCYEPELE TPOOPEPES
3. MpoooEPEL MPOCPEPE
1. mpoogépoue TPooPEPapE
2. TPoCYEPETE TPOoYEPATE
3. mpoopEQOLY TPOC QEPAV
Continuous &
Simple Fut. & S. Present &
Inf. / Subj. Past Perfect
1. 9&(v&) mpoopépw ¥x® - €ixa TPooYEPEL

2. 8&(va) mpoogEpne _ )
3. 8&(vd) mpoogepn Contin. & S. Imperative

TpooPEPE = KPOOPEPETE

1. 93(va) mpoogtpwus o
2. 8a(va) mpooptpete Participle
3. salva) mpooeEpovv RPOGHEPOVTAE

Passive Voice

The princigal tenses of the verb HPOE?EPOMAI
are: mpooQ@EEOUAl, TPOTPEPOYOLV, TPOCPEPOETNG,
a&(vd) mpooefpwual, £xw, etxa Tpooeepdfi --

»

TpoCcpEPoOL = MPOCeEPBNTE, MPOOPEPUEVOL, =T},=0

All derivatives of ®EPR (the original form of
$EPNR) are conjugated like the verb IIPCZEEPR
- IIPOZ$EPOMAI, However, the verbs YNO$EPR (to
suffer), AIASEPQ (to be different, ANASEPQ
(to report) frequently take the augment g-
before the basic verb $EPR in the two past
tenses of the active voice. Some speakers of
Greek, though, prefer to skip the augment,
Consequently, one can hear both forms YNOPEe
PA and Y[IE®EPA, AIADEPA and AIE®EPA, ANAPEPA
and ANEPEPA, etc.
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The deponent verb ENAIASEPOMAI (to be inter-
ested in) is conjugated like the verb [IPOZ$E-
POMAI., It is usually followed by the prepo-
sition yi1@. (In Greek a person is interested
for and not interested in.) The irregular verb
ATAMAPTY - POMAI (to protest) will be taken

up at a later date.
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Verb families having only one stem in the

active voice, Some families of Greek verbs,

in addition to those with a stem ending in
-P, have one and the same stem for both the
simple and the continuous tenses of the ac-
tive voice., They are verbs whose stems end
in -M, in -IN, and in -Y¥N.

Verbs with a stem ending in -M., The most

important verb of this class is TPEMQ (to
shiver, to tremble). 1Its principal parts
are:

Tpépw, ETpepa, 6a(va) tpépw --

TpERE - TPEWETE, TPEROVTAC

Verbs with stem endings in -IN, Verbs of
this class have onIy one stem in the active
voice. In the passive voice, however, the
stem ending -IN changes into I® in the
simple tenses., The basic verb KPINZ - KPI-
NOMAI (to judge, to deem -- to be judged, to
be deemed) will serve as a typical example.
Its pr1nc1pa1 tenses are:

xpive, Expiva, 8a(va) xpive,
exm—etxa xpivet - xpive - upivete,
ivovtag

(1) 1 derivatives of KPINQ - KPINOMAI like
ATAKPIN® - AIAKPINOMAI (to tell apart
to distinguish -- to be distinguisheds,
ANAKPINR - ANAKPINOMAI(to question, to
interrogate - to be interrrogated), to
deponent verb AIIOKPINOMAI (to answer),
etc., are conjugated like KPINQ - KP}-
NOMAI, Some people add the augment e-
before the basic verb in the past tense
of the active voice. Others don't.
Both variants AIEKPINA and AIAKPINA
ANEKPINA and ANAKPINA are heard in
Greece now,
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(d)

(a)

(b)

Verbs with stem endings in -¥YN. These verbs
also have only one stem in the active voice.
In the passive voice the stem ending -YN
changes into -YN® in the simple tenses. The
verb AIEYBYNQ - AIEYBYNOMAI (to manage, to
direct -- to be managed, to be directed) will
serve as a typical example. 1Its principal
parts are:

81ev6pvw, S1c0uva, 8a(vE) Sievedva,

exw-eixa Sievbvvey -- Bievbuve -

61evedvete, S1ev8ivovtag

51evgbvopatr, 51eubpvopopy, &1evedvenxa,
8a(va) 61ev6vveB, Exw-eixa S51evOVVEff -~
S1evBvvoov - §1evOvuvofite

(1) The verbs AMYNOMAI (to defend oneself),

AIIOMAKPYNR -~ AIIOMAKPYNOMAI (to keep away
-- to keep:off, to be getting farther

away from), EYBYNOMAI (to be responsible)
MOAYNR - MOAYNOMAI (to infect, to be in-
fected), OZYNQ - OEYNOMAI (to sharpen,

to aggravate), etc., are conjugated like

AIEYBYNR - AIEYSYNOMAI,

The verb KPEMOMAI (to be hanging, to be sus-
pended) is generally used in the third per-
son and only in the continuous tenses. 1Its

principal parts are:

xpéuopat, xpepdpovv, 8a(vd) xptuwpar -
Va4 XPERETAl = VA XPEUEOTE

The verb KPEMR - KPEMIEMAI (to hang -- to
be hung, to get a hold of, to be hanged) is

conjugated exactly like the verb I'EAQ - T'E-
AIEMAI, 1Its principal parts are:

xpepd, xpepobga, xpépaga, 6a(vd) xpepdoo,
EXW-E1XA XPERACEL -= APEUACE = APEPROTE,
XpEPWVTAL

xpept€pal, Xpeppopovy, xpepdotnxa, 6&(va)

xpepaoTd, exw-eixa xpepaoti| —-
XPERAOOV - upepactiite, xpepacuévo¢, =1, =o
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176 (a) The irregular deponent verb AIAMAPTYPOMAIl
(to protest) is conjugated as follows:

51apapTdpopal, 8iapapTupduovy, 5japaprTuph-
emxa, 6alva) 8 1apapTupned, exw-eixa 51apap-
Topnefi -- S8iapaptuphoov - SiapapTvpneffte

(b) The form AIAMAPTYPOMEN(OZ means a protestant,
a member of the protestant persuasion.
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Verbs with stem endings in =TT or -33,
Among the few verbs still retaining a -TT
(or its variant -33) stem ending in the
Modern Greek language are the verbs KHPYTTQ
(to proclaim, to declare, to preach), IIAHT-
TR (to strike, to hit, to be bored), and
[IPATTR (to do, to act). They change the
stem ending -TT into =8 in the simple tenses
of the active voice and into =XT (or -X8) in
the simple tenses of the passive voice. The
principal tenses of model verb xmpiTtw - x1n-
pvTTtopas are as follows:

xnpoTIw, xNpvrta, xHpvEa, 8a(va) wunpdtw,
EXW-€1Xa XMPLEEL == UMPLEE = XNPLETE,
xnpUTTOVTAL

unpbTTORAL, XMPUTTOROLY, XTPUXTNXGE, 6a(vd)
xNPUXTH, EXW-ElYa XMNPLXTH -- XNPOEOV - XN~
puytiite, xnpvypevoc, -m, -o

Several verbs in -ZQ changing their -Z stem
ending into -8 in the simple tenses of the
active voice used to end in .TT (or -239)
before the verbs AANAZR, AIATAZR (to order,
to command) TAPAZQ (to disturb) are examples
in point. The important thing concerning
these verbs is that even though their stem
ending -TT has changed into .Z_  the old form
is usually retained when a prefix is added
to the verb. Examples:

aM@Zw BUT &vrall@oom (to exchange)
TapaXw BUT 6iatapascw (to disturb)

The retention of the old stem when a prefix
is added to the basic verb (even though the
latter may have changed in the course of
the years) is a very common phenomenon in
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Modern Greek. Many apparent inconsistencies
can be easily understood and explained this

way.

Verbs in -ANQ -HJA, Most verbs in -ANQ
follow the standard pattern of changing
their stem ending -N into -2 in the simple
tenses of the active voice and into -@ or
-2T in the simple tenses of the passive
voice. (Examples: XANQ-EXAZA~XAGHKA, IIIANQ
~-ENNIAZA-IITIAZTHKA), However, the verbs AY-

HANQ-AYZEANOMAI (to increase, to augment --

to be increased, to be augment) and AMAPTA-
NR (to sin) change their stem ending -AN
into -HZ in the simple tenses of the active
voice and into -H® in the simple tenses of
the passive voice. The principal tenses

of AYRANQ-AYSANOMAI are as follows:

» ) J
auEavy, abfava, abEnoa, 8a(va) avEfow,

»
Eyw-eixa avinoei -- avEnoe - avEfiote,
avEavovtag

2 0 ? ’ | A &, »
apEavopas, avZavoupuv, avEfenxg, 6&(vd)
avgneé,,exwze?xa-augneﬂ -- gggnoou - avEn-
efite, avEnuevog¢, ~-n, =-o .

The verb AMAPTANR is conjugated like AYEA-
N2, It does not occur in the passive voice.

Feminine nouns in -THTA (-THZ), The ending
- A (Or 1ts ancient variant -THZ) of fe-
minine nouns is usually -- but not necessa-
rily always -- characteristic of abstract
nouns. The words IOZOTHTA (quantity),
IIOIOTHTA (quality), KA®APIOTHTA (cleanli-
ness), TAYTOTHTA (identity) ENIZHMOTHTA
(official capaéity) (IKANOTHTA) (ability),
etc. are examples in point. Since both

the old ending -THZ and the new ending
-THTA are still in current use, the old
form -~ whenever different -- will be giv-
en next to the modern form. The declension
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NOTE:

of model noun H IIOIOTHTA is as follows:

Nom.
Poss.
Obje.

Nom.
Poss.
Obj.u

Singular

n 101 6TYTa (no101tng)
¢ mo10mTa¢ (mosotnTog)
TNV To10TNTa

Plural
< »
ol TMOLOTNTEC
& TOLOTNTWY
TiI¢ WolLo0TNTES

* % % * %

The noun TO KAGHKON (duty) is declined
like TO MEAAON (See #137a).

The verbs AINIOTYXAINS (to fail) and IIETY-
XAINR, or its variant ENITYXAIN2, (to suc-

ceed) are conjugated like KATAAABAINR, MA-
®AINR, IIETYXAINQ, etc. (See #125a,b),
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Verbs in AINR - YNA. There is a fairly nu-
merous group oI VEerbs in -AINR -- mostly
intransitive, and none of them occurring in
the passive voice -- that change the ending
-AIN of the continuous tenses into -YN in the
simple tenses. The principal parts of model
verb OMOP®AINR (to become beautiful) are as
follows: .

d 4 L4 ld »
9pop¢gtvm,”6pop¢aéva,,Bpopyvva, 8a(va)
QUOPPLV®, EXw - cixa opoppLver --
OLOPPUVE - OUOPPUVETE -~ opopgpaivoviac

The verbs AKPIBAINR (to become more expensive),
BAPAIN® (to become heavy), KONTAINE (to short-
en), MAKPAINR (to lengthen), INAXAINR (to get
fat), ®TRXAINR (to get poor), are conjugated
like OMOP®AINS.

Verbs in -AINR -A3JA, This class contains
only two intransitive verbs occurring in the
Active Voice. They are the verbs IQNAINR
(to stop talking, to be quiet) and the verb
XOPTAINQ (to be satisfied, to have had plenty
to eat, to be filled). The ending -AIN of
the continuous tenses changes into -AZ in

the simple tenses. The principal parts of
model verb XOPTAINR are as follows: .

yopTaiyw, xoptaiva, xdpraca, 6a(va) XopTao®,
EXW -€1XQ XOPTAoEL == XO6PTACE - XOPTAOTE
xopTatlvovtas

Verbs in -AINR -H3A, The most important
verbs of this class are APPRITAINR (which
also has a variant APPRQZITR), IIAPAZTAINR(to
represent, to perform) and ZY3TAINR (to in-

‘troduce, to recommend). The ending -AIN
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of the continuous tenses changes into -HJ
in the simple tenses of the active voice
and into -H® (or a variant in -ap@) in the
simple tenses of the passive voice. The
principal parts of model verb ZYZTAINQ -
ZYZTAINOMAI are as follows:

cuo¢9ivw,"oﬁcxgnva, cbotnoa, 6&(véa)
OLOTNOW, EXw-eixa oVOTACEL —-

obotnge - ovotfioTe - ouotaivovtac
ovotaivopat, ovoTaivéyovv, cuvoTheMXa,
8a(va) ovotned, Exw-cixa ouvotnef] --
GUOTNOOV = GUOTNORTE == cgvotneévog, -n,-o

Verbal Nouns in -IMQO. There is a large
class of verbal nouns in -IMQ corresponding
with the English verbal nouns in -ING.

They are mostly abstract nouns and are never
used as verbs (the way participles in -ING
often are in English). For all practical
purposes, these nouns are formed by adding
the ending -IMO to the stem of the simple
tenses of the active voice of the verb.
Actually, they are formed by adding the
ending -IMO to the singular form of the
simple imperative of the passive verb. Usu-
ally those two stems are the same except in
the case of a few very irregular verbs as
will be seen in the second set of the follow-
ing examples:

Stem of S. Tenses

Verb ~ (Active) Verbal Noun
VITOVe vTuo- 0 viboipo
FpaZw fpgo- To Ppaoipo
TaLZw nai&- T0 Maifipo
YPapw Yoay- TO ypayipo
TPEXW TpeE- To Tpegipo
xXaiw xay- To xayipo
PTALW PTALE- To @TatEspo
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Stem of S. Tenses

Verb (Active)
TAEV® -opal TAVY-
OTEAV® -opal OTEIA~
6ive -ouat 6uo-
QEPVW —-Opal PEP=
S. Imperative

Passive Verbal Noun
TALG ou-TAVOTTE 0 TADo1po
gtaigov~-cTarefite TO OTAACipo
Booov-5obfiTe To 6oocipo
CEP— -~ » ' d
PEPOOL~pE PBTTE TO QPEPOCIRO

The declension pattern of these verbal nouns
is the same as that of neuter nouns in -MA
(t6 obotnpa, To pdenua, o dvopa, etc.).
They are used in sentences as follows:

English Greek

1. I like his play- 1, Mof apgce; o
ing. Taif;po Tou.

2. She is meticu- 2. Npgoéxer mord otd

lous in her dress- YTUo 1o TG,

ing.

3. My shirt wore out 3, T 1oux&gld6 LoV

after so many wash- TAALGO € voTEPQ
- »
ings. ano Tooa TAVOipata.

The Greek equivalent of participles in -ING
used as verbs is the Active (present) par-
ticiple in -ONTAZ (or -QNTAZ), or the phrase

while (OTAN, KA®RZ, ENR) plus the imperfect

tense of the verb. Examples:

English Greek
1. He came running. 1. “Hp®e TpéExovIac.
2. One learns many 2. MaBaive: xaveic
things by asking. ToAAa Tpayuata

puvivag.
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3. I heard the news

” r'd
: : 3. "Axovoa Ta véa &vd
while shaving.

(otav, xadbe) Evpi-

éOEOUV .

Passi ve, deponent, or reflexive verbs (i.e.,
all verbs ending in -OMAI).do not have a
participle form in -ONTAZ,

Verbal Nouns in -MA, Neuter nouns in -MA
were originally verbal nouns but through
constant use in the course of many years,
they have become concrete nouns now. How-
ever, there are still several nouns in -MA
corresponding to the English -ING verbal
nouns. They are formed by adding the end-
ing -A to the stem of the passive partici-

ple (the equivalent of the English past
participle) of the verb.

Verb Passive Verbs Noun
Participile

APLEVE xpowpévoe To wpdwpa
Simhive § 1mwuévoe TO Simhopa
axoby -opat GXOUOPEVOE To axovoua
otok;&m -opat OToAlOuEVOC To otgkcoua
TELPALW = opat Tespaypbvoc 1o melpaypa
TPaBd -sépar Tpapnyuévog TO Tpapnyua
HAYE1PEV® HAYELDEREVOC TO payeipepa
xAasw xlappgvoc Te xAappa
popd POpEREVOS TO popeua
X aA® Xalaouevog TO yaiaoua
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I1.-

1I11.-

Iu-v

II."

& COMPAKATIVE TABLE OF COMMON
URAMMATICAL TEuMS USED IN THIS BUOK

BOUNS - ONOMATA

Gender - Tévoc¢
1.~ Masculine 1.- ’Apoevixd
2.- Feminine 2.=- BMNAvnd
Number - ’Api16ud¢
1.~ Singular 1.~ ‘Evixd¢ i
2.- Plural 2.~ [IANBLVTINOG
Case - Mthon
1.- Nominative 1.- ‘Ovopaoctixh
2.~ Possessive (Genitive) 2.~ Pevixh .
3.- Objective (Accusative) 3.~ Altiatixh
4.~ Vocative 4.- KAntixf
ADJECTIVES - EIIGETA
Degree - BaBude
1.~ Positive 1.- @eTixnd¢
2.~ Comparative 2.~ ZuyHPLTINOG
3.~ Superlative 3.- ‘YrepBeTind¢

Sumerals - ’Api18unTing

1.~ Cardinal 1.~ 'Andrvta
2.~ Ordinal 2.- TaxTixa

PRONOUNS -~ ANTRNYMIAI

Personal - Mpoowminéc¢

1.~ Person 1.- Ipdowno
a. first a. xpdto
b. second B. Bebtepo
c. third Y. TpiTo
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II.-
III.~

Iv.-

Io"

II Chad

III L el

I.-
Il.~
I1l.~
IV~

Relative -

Demonstrative -

*Avagopiné¢

Ae i xtixé¢

Indefinite - ’AbpLOTEC
VERBS -~ PHMATA
Voice - dwvh)
1.~ Active 1.- ’Evepyntindy
2.~ Pussive 2.~ Taéntixn
a, deponent a. anoBeTixa phuata
.- Reflexive 3.- Méom
Mood - "Eyx o7
1l.- Indicative 1.- ‘Opiotixy
2.- Imperative 2.~ Ilpootaxtixi
3.- Subjunctive 3.~ ‘Ymotaxtixf
4.~ Conditional 4.- AvvnTixi
5.~ Participle 5.- MeToyh
6.- Infinitive 6.- ’‘Anapépgpato
Penses (Aspects) - Xpdvoi
1.- Present, Present Progressive 1.- ’Eveothtac
2.- Simple Past 2.- 'AdproToc
3.~ Imperfect (Continuous Past) 3.- [apaTatixde
4.- Simple Future 4.~ ‘AMAS¢ (ZvvomTixdg) M
5.~ Coninucus Puture 5.- "EEaxoloverntixdc/Aovt

60"

Present Perfect

Arapxific MEAdovrac.
6.~ Tapaxeipevog

7 .~ Past Perfect 7.- ‘YrepoovtéAixog
ADVEHBS -~ E[IPPHMATA
Of Time I.- Xpovixa
of Space I11.- Tomua
of Manner I11.- Tpoxixd
of Quality 1Y.- Tlocotixa
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PREPOSITIONS -

[TPOGEZEI 2

CONMJUNCTIONS -

ZYNAEZMO1I

SYNETACTICAL TRRMS -~ PUNCTUATION - ACCRNY & BERATHING
' MABKS

I.- SYNPAX (STRUCTUER) - SYNTASH

1.~ sentence

a. affirmative
b. negative
¢. interrogative

2 .~ parts of sentence

a. subject

b. object
direct
indirect

1I.- PUNCTUATION - 2TIEH

1.~ period

2.~ comma

30" '-1 -c°1°n

& .- colush

5.~ qusstion mark
6.~ exclamation point
7 .~ parenthesis

8.- dash

9.~ quotations

10.~ hyphen

III.- ACCENT (STERSS) MARKS -

1.- acute 1.~
2.~ circumflex 2.~

1.- mpdTaon

Q. XATAPATixi)
B. dpvntinf
Y. épwTnpatixf

2.- pépn 1ic mpotdocwc

a. dxoxs;pevo
B. dv'nus tuevo

1V.- BRRATHING SIGNS -~ IINEYMATA

1.~ smooth 1.-
2.~ rough 2=
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aueoo
tupeoo
1.- <eirefa )
2.~ wdppa (dno8iactorf)) (,)
3.~ émédvw Teketa (*)
4.- B8imAfi teaeta (2)
5.- épwxnpat;xo ()
6.- 6avpacTind (.}
7.- m7apéveean « )
8.- Tadira -
9,- e(cawytm & »
10.- &vutind ()
TONOI
bEela «°)
nE P Lorwpé vn «~)
ViAf )
6aoe ia &)



